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Topic:- Child Development & Pedagogy (CDP)

1) If a child has mental age of 12 years and chronological age of 10 years then his IQ will be

_ ., afe fpeft 9= Y aeiie oMy 12 9 § SR STArse e 3y 10 a¥ § @ IWHT
TRy (gfSwem) __ grm

1, 80
2,120
3.125

4,100

Correct Answer :-
« 120

2) Gray matter of the brain that controls IQ and memory have greater volume in learners who

./ & SR [ia o1 Fefa w1 aren afsrss &1 9 3, Rrenfiay o
3ferep A A gia B

1. get sufficient sleep/ At Hig o ard

2. take healthy diet/ TR STER T aTel

3. avoid stress/ 19 © Fa a1dl

4. exercise regularly/ g =9 9 S &34 ara

Correct Answer :-

« exercise regularly/ FOffd &Y ¥ A H ard

3) The is one who is more open, accommodating, venturesome, outgoing and pretty

conﬁc%ent. /T8 & S iftre gar, fremar, Soasita, S99 i S1wl ey
qrar 81

1. Introvert / &Iﬁﬁ
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2. Intro-extrovert / Hﬂﬂ@- Tq’i%ii{cﬁ
3. Extrovert / a%ii{gﬂ
4. Ambivert / mﬂﬂﬁ

Correct Answer :~-

» Extrovert / El%ﬂ"‘@ﬂ

4) Obsessive-compulsive disorder (OCD) can be successfully treated using: / w—w

faor (3NN &1 awaaryd® s A ©1 SUURT BRP {1 o JadT °:
1. Cognitive behavioral theory/ S3TTH® AR Rgid

2. Massage therapy/ HHISI Rt
3. Antidepressant medication/ U cifende gar
4. Systematic family therapy/ UG UiRaR AR

Correct Answer :-

« Cognitive behavioral theory/ IIMTH® Ad8R Rigid

5) Which is the SECOND step in the problem solving method? / T gaTyT fafer &

GERT )T BI AT gl g2

1. Formulation of hypothesis / uReegrel &1 fHeuu

2. Testing hypothesis / TR& a1l &1 URI&0T

3. Recognition and definition of problem / JHIT &1 SR 3R afeum
4. Conclusion / T8

Correct Answer :-

« Formulation of hypothesis / TR@eIAT3{l BT fAReT0T

6) What part of our memory stores events that happened in our lives? / EHTSI F[ﬁ"f Cak-an|
1 fEw gaR Sitaw # ufed gemrsi o1 UsR 82

1. Episodic memory /W @{ﬁ[

2. Procedural memory / WF{%
3. Semantic memory / E]Fcﬂ?f@{l?r

4., Declarative memory / YIS '\‘Iﬂ%f

Correct Answer :-
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« Episodic memory / URifTe F{ﬁ[

7) What is the first stage in moral development according to Kohlberg? /

PIga & SIAR Al faeTa # ygar @Rur w1 82
1. Preconventional morality / Qﬁ-mﬂﬁ Afaesdr

2, Periconventional morality / T RERTTT Afdwan

3. Conventional morality / OX¥TRITd Afear

4, Postconventional morality / HR<-UXHIRT e

Correct Answer :-

« Preconventional morality / Jd-ORVIRTTd Aferepar

8) What is the term Freud used to describe his theory of the structure of the mind? / s

5 Ue &1 IUTNT 74 B} WA & U+ Rygia &1 aui| $3+ & fore fman?
1. Consciousness laﬂ:ﬂ

2. Iceberg / W
3. Libido / feifaraT

4. Landscape / dehy

Correct Answer :-

« Iceberg/ @m@f

9) What social motive is characterized by a need to control and influence others? /

%ﬁ%ﬂgmﬁﬁﬁw,gﬂﬁaﬁﬁﬁﬁamﬁaﬁvﬁwﬁamﬁaﬁmm

1. Power / I
2. Achievement / G'CIT'I'@[
3. Affiliation / &Y

4, Purpose / G%Qq

Correct Answer :-

« Power / qfad

10) Parents who believe in punishing the child show ./ 3 Aral-fudr of = &1 éfSa
FHARYyE e, axfarsl
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1. Uninvolved Parenting / 31&g (MG ¥ I F TS §3HT) TGRS
2. Permissive Parenting / ﬂﬂjﬂw TRAR

3. Authoritative Parenting / BTN G TR

4. Authoritarian Parenting / S{fPRATE TRaRT

Correct Answer :-

+ Authoritarian Parenting / HfUBRATE] TRaRET

11) At what age does the child start to show an understanding of the language? / ST o

IY H YT & A T e FR a2
1. At birth / ST &

2. At three months / I Tl_sﬁe[ [° 3
3. At six months / 9 n%ﬁ 1°03
4, At nine months / :h ﬂ’eﬁef 1°C3

Correct Answer :-

« At six months / 9: q—@"ﬁ 1°03

12) Which is not the principle of inclusive education? / P-1 FHTasht Rren @1 Risia
TEIR?

1, No discrimination between learners /&f&lTﬁIﬁ[ I Elﬁ".i: ﬂﬂ'ﬂ-ﬂﬁ :|B°f

2. Separate classroom for special children /foRIY sl & forT SrerT Fam

3. Equal educational opportunities /HHI Afdfe AR

4. Catering needs of the all children /At = Bt WHUTH et SReRd! BT T W@l

Correct Answer :-

« Separate classroom for special children /[IRIY Sl & feTT ST H&T

13) Which of the following is not a factor that will protect a child against stress? /

Frafefaa & & &9 91 U6 98 $RS 781 & Sl 9971 & [0og Te 9= $ &1 B2
1. Family / URAR

2. Intelligence / g@‘
3. Authoritarian parenting style / HTTYHRATE! GRARKT it

4. Peer relationships / TgHHI =
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Correct Answer :-

« Authoritarian parenting style / SMTAHRATE TRaf=r el

14) A 12 year old child understands that the weight of a table remains the same whether it is
right side up or upside down. What concept has he grasped? / T 12 HI DT 1 g
mmgﬁsw;aaﬂmaﬁﬁm%,aﬁaaaﬁeﬂ?ﬁmmﬁlwﬁﬁm
R HHATR?

1. Conservation / HR&0T
2. Inductive reasoning / ATHATHSD GEg
3. Object permanence / aﬁwm

4. Hypothetical reasoning / TRefetd ad

Correct Answer :~

« Conservation / G3&U[

15) According to Psychosexual Developmental Theory, fixation to which of the following stages

results in dependency? /ﬂ*ﬂﬁﬁﬂi‘ﬁﬂﬁ—mﬁ@ﬁ* SR, G IGIEER] Srawyre # O s
FrafRor (=) 3 ARar & gur gar ez

1. Anal / T[T (GTa)

2. Oral / T (3Ra)

3. Latency / QYT (Sre)
4, Phallic / diffTe (Wier)

Correct Answer :-

. Oral /HIfES (3R

16) Growth always corresponds to the age of the child. This is because of the principle of Vi

o s = P SU A A @WaT 21 9% P Rigia & PRUT TR
1, Continuity/ﬁl'éﬁ?_cﬂ
2. Uniform Pattern / UHHH e

3. Integration / TP
4, Individual Differences / W forerar

Correct Answer :-

¢ Uniform Pattern / Waﬁ

Page- 5



17) Which of these is the best way to improve problem solving skills in primary school children? /

Wi faemaa & s= ® IuwT FaRu S1Rd & GUR 1 BT 99y 3T adiel :1 8?2
1. Solving mathematical problems. / IO THEE3T T FHIUH ST

2. Find solutions to problems that they face in their daily life. / 3 THET3M &1 JHIYM Wi, o1 d
3T SRS Siae H I HRa B |

3. Talk about their problems to peers in the class and the teacher. / B! TS & TR H BT H Tgurat
3R fRi&fe A 91 AT

4, Apply steps of design thinking process and engage with community around. / 9 Pt ufehar & WR o
6 AR ST AR U & THE B 1Y T BT

Correct Answer :~-

« Apply steps of design thinking process and engage with community around. /BT AT TR d
TR ) AR HRAT 3R SATUTE & TSI b I I BT

18) believed that personality develops through a series of stages and the effects of
childhood are long lasting. / &1 AT AT & Aafdad, TR &1 U §adr &
A1 @ AR 8iaT € SR 9999 & YYT9 99 999 a9 84 &

1. Albert Bandura / 3feac TSIT;'RT
2. Jean Piaget /Gﬂ:f o
3. Sigmund Freud / Rprds wios

4., Lev Vygotsky / INE] aﬁ’ﬂ?\qﬁ

Correct Answer :-

« Sigmund Freud / RITTHE WIS

19) The term normative development indicates: / PGS faHRT reg ioa wear &:
1. Rate / &%

2. Extent / G

3. Direction / TGS

4, Distinctive qualities / fafry 01

Correct Answer :-

« Distinctive qualities / faf2T 701

20) When environmental influences coupled with cognitive factors are responsible for learning, such

a learning is known as: ;aawhwﬁﬂm WW%WWW%%’Q
ﬁlﬁm?ﬁ%%,?ﬁsﬂmamﬁ%mﬁﬁmwﬁmm%.
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1. Operant conditioning / IO PHaI=FT

2. Trial and error learning / U 3R 'a'f?:’ ST
3. Social learning / STHTTG SHfETH

4. Classical conditioning / FARTG A BT

Correct Answer :-

« Social learning / THTID HTATH

21) As a future teacher, you will need to and connect with roomful of diverse
students. / T YTAT R1&/® & U ¥, 3Mueh] P razadar gift 3 At ot
P BT P 1Y ST BRI

1. Deal / Bl

2. Connect / qaﬁ

3. Understand / JHS

4, Collaborate /HE'C?I‘T

Correct Answer :-

« Understand / JHHA

22) Which of the following is not an example of critical thinking skills? / mﬁﬁﬂﬁq—
T T1g i I=Te &7 TP IS8R0 T8l 22

1. Improvising /A Tel TR H]
2. Classifying /ﬂ"‘f@_d DAl

3. Tracking /CI&ATIHROT

4. Describing /UTRHATHD

Correct Answer :-

« Improvising /dcPTe dUR BT

23) When children recognize that each individual is aware of other people’s thoughts and

feelings, then it is called:/Sid = Yg 'CIEEI'FI?I' %ﬁ? Wﬁﬁ'\‘ﬁ' iU ﬁ?ﬂﬁ Gﬁ'\"
HTGTSHT | ST ©, df g PoT o1l &

1. social information role taking/ WW ’ﬁ[ﬁlﬁ Nl
2. social and conventional system role taking/ﬂTFﬂﬁiﬁ 3R TR TuNTe &bt ’i&ﬁﬁl?ﬂT
3. self-reflection/ 31TE WA d (Heth-RURTEaR )
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4. mutual role taking/ 3ot ’-jﬁ-ﬁ'ﬂa:ﬂ

Correct Answer :~

« self-reflection/ 3 ufafds @HF-WH)

24) Why do we have culture-fair tests for intelligence?/ THIX U gfawr & ferg dwpia-
frogar aderor i 32

1. Intelligence tests should free of differences in language and education./ @@qﬁT Utem , HIYT

3R 18 % 3iR F Gad g MR
2. Cultural understanding is a part of intelligence./ Q—Ii%qvfadv Sy gfe& P TS BB
3. Intelligence is culture-dependant./ @@' m@ﬁﬁfﬁ-@ﬂ TR 81
4, Intelligence can evolve/ g@ﬂmaﬁﬁfﬁﬁmﬁm EIRCIE

Correct Answer :-

« Intelligence tests should free of differences in language and education./ g@ﬂ?ﬂ gtem , HIHT
3R e & 3feR ¥ Yo g A1gul

25) Which of the following determines the impact of failure in school performance? /

At & @ F19-31 fauea uex= A srwadar &1 yuTa FAeia sarg?

1. Time allotted is more than what is actually required to finish the task / 3Tdfed THT 3 Cankes
3 & S arad & BT R A & 1T TS & |

2. The pattern and setting of task / BT BT Ui 3R Ta=IT

3. The Challenge - what the children asked to do—which is not engaging or relevant. / Ef-?l_cﬂ -
el I Sl H o [T Bl IT - STy a1 Urifes =18 3|

4. Level of easiness in the task / BT & JTHAT PR

Correct Answer :-

« The Challenge - what the children asked to do—which is not engaging or relevant. / ?J_::HE'H -
el Y Sl B & [T BT 7T - iy a1 Uifes =181 8|

26) A learner is an intuitive learner if / 9f¢; U Rremdf wgwr = gord 2 a1 98 AT

1. They notice the big picture, see how everything connects. / J 931 TR gEd %, 3R NEE 23]
Siie+ &1 UfehdT 1 SEd |

2. They pay attention to concrete facts and details. / q Hﬁ Tt 3R favol IR & ad %I
3. They focus on the reality of how things are. / 3 T1o| PUT &, TP ARAGHAT TR &M < &
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4. They like to describe things in a specific, literal way. / 98 oioll ! fafRTy, RIeaxT: (I RSKCECE |
P BRI B g |

Correct Answer :-

« They notice the big picture, see how everything connects. / a’ﬁlﬁ TR oad %:, 3R qd 9D
SiTeH &1 Ufehal &l GEd 5 |

27) Which famous professor proposed that children move from a position of egocentrism to

sociocentrism because of social interactions? / f& g Flﬁl?si MR 3 ‘Jﬁfqlﬁ?[ o fEra=
HTRTES Tael & HROT, TP 3 (AT & TR B 3R g¢d 82

1, John Dewey / Guﬁﬁ_ic

2. Lev Vygotsky / NEEIEYIREd)
3. Jean Piaget / i< fogrs!

4, Howard Gardner /E'Iﬁé MER

Correct Answer :-

+ Jean Piaget/ i s
28) CANCELLED

Which of the following is an incorrect advantage of problem solving method of teaching?/

frafafaa 3 @ -8 Rieor 3t guw & ga w31 $1 [ &1 7aa Ty 22

1. All disciplines cannot use this method to solve a problem / Tt ﬁﬁw Y U?’s{ﬁl BT STIRT JH=T
1 A B P fore Tel PR @ ol

2. Learners participate actively in the process/%ﬁﬂmﬁm&mﬁ(ﬂﬂri} Tfehg 0§ U od
gl

3. It makes the learner interested in the learning process/qﬁﬁT&ﬂlﬁ(W) P STITH P Ufeha
¥ et fRamar g

4, Evaluation of learning using this method is easy /ﬁmﬁwaﬂe{@ ST BT
e 3 81 S ¢ |

Correct Answer :-

« Evaluation of learning using this method is easy /@U@%aﬂwaﬂﬁ@ S{TRTH BT
i ST 8 ST g |

29) CANCELLED

The diagnosis for children having problem in word finding is iif gl H eg Wi Bt

FrETHIfeE_ garel
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1. Dyslexia / fewifaar

2. Dyscalculia / %‘\%ﬂﬂ*‘%ﬁlﬂ
3. Dysnomia / e

4, Dystopia / fewiftan

Correct Answer :-

» Dysnomia / et

30) CANCELLED

Who described a phenomenon called horizontal decalage? / aﬁﬁéﬁéﬂg WEIE:ITWEU{:[
o= fora?

1. Erikson / 3G
2. Piaget / fOATSl
3, Freud / Th[E

4. Vygotsky / CIEUIRSER]

Correct Answer :-

« Piaget / TUTTSl

Topic:- General English(L1GE)

1) Fillin the blanks with the correct option in the given sentence :

As proof of your citizen-- and ident--, you must enclose your passport.
1, --s..-ical

2. --ism ... -—-ities

3. --hood ... ification

4, -- ship ...--ity

Correct Answer :-

e --ship ...--ity

2) Fillin the blank with the correct option in the given sentence:

An individual who believes that nations should reduce their armaments believes in —armament.
1, dis --

2. non --
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3. pro--

4, un -

Correct Answer :~-

3) Read the following passage and answer the question given below:

Once upon a time there lived a crow couple who had built a nest on the top of a tree. In a burrow, at the bottom of the tree lived a
snake too. Very often the snake used to erawl up the tree and eat all the eggs that the lady crow used to lay. The crows were deeply
grieved and when this happened time after time they decided that the snake was to be got rid of somehow. So the crow approached
his friend, the jackal, and asked for a plan. The jackal then told him to go and fetch a costly thing from the palace of the King and
place the thing at the mouth of the burrow of the snake. The crow went to the palace and stole a necklace of the queen while she was
bathing. The guards of the palace ran after it. The crow then dropped the necklace into the burrow of the snake amid the roots of
the tree. The guards, on reaching the bottom of the tree, found the necklace and it was guarded by the snake. Then they killed the
snake and recovered the necklace. The erow's family was relieved that their eggs were safe.

‘Who built a nest on top of a tree, according to the story?
1. Parrot

2. Mynah

3. Crows

4, Sparrows

Correct Answer :~

4) Read the following passage and answer the question given below:

Once upon a time there lived a crow couple who had built a nest on the top of a tree. In a burrow, at the bottom of the tree lived a
snake too. Very often the snake used to erawl up the tree and eat all the eggs that the lady crow used to lay. The crows were deeply
grieved and when this happened time after time they decided that the snake was to be got rid of somehow. So the crow approached
his friend, the jackal, and asked for a plan. The jackal then told him to go and fetch a costly thing from the palace of the King and
place the thing at the mouth of the burrow of the snake. The crow went to the palace and stole a necklace of the queen while she was
bathing. The guards of the palace ran after it. The crow then dropped the necklace into the burrow of the snake amid the roots of
the tree. The guards, on reaching the bottom of the tree, found the necklace and it was guarded by the snake. Then they killed the
snake and recovered the necklace. The crow's family was relieved that their eggs were safe.

‘Whoa lived at the bottom of the tree?
1. A mongoose

2. A serpent

3. A rabbit

4, A fox

Correct Answer :-

* A serpent

5) Read the following passage and answer the question given below:
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Once upon a time there lived a crow couple who had built a nest on the top of a tree. In a burrow, at the bottom of the tree lived a
snake too. Very often the snake used to erawl up the tree and eat all the eggs that the lady crow used to lay. The crows were deeply
grieved and when this happened time after time they decided that the snake was to be got rid of somehow. So the crow approached
his friend, the jackal, and asked for a plan. The jackal then told him to go and fetch a costly thing from the palace of the King and
place the thing at the mouth of the burrow of the snake. The crow went to the palace and stole a necklace of the queen while she was
bathing. The guards of the palace ran after it. The crow then dropped the necklace into the burrow of the snake amid the roots of
the tree. The guards, on reaching the bottom of the tree, found the necklace and it was guarded by the snake. Then they killed the
snake and recovered the necklace. The crow's family was relieved that their eggs were safe.

Why were the crows often sad?

1. Because they were often thirsty

2. Because they were often hungry

3. Because the snake often ate up all their eggs

4., Because it was hot

Correct Answer :-

* Because the snake often ate up all their eggs

6) Read the following passage and answer the question given below:

Once upon a time there lived a crow couple who had built a nest on the top of a tree. In a burrow, at the bottom of the tree lived a
snake too. Very often the snake used to erawl up the trec and eat all the eggs that the lady crow used to lay. The crows were deeply
grieved and when this happened time after time they decided that the snake was to be got rid of somehow. So the crow approached
his friend, the jackal, and asked for a plan. The jackal then told him to go and fetch a costly thing from the palace of the King and
place the thing at the mouth of the burrow of the snake. The erow went to the palace and stole a necklace of the queen while she was
bathing. The guards of the palace ran after it. The crow then dropped the necklace into the burrow of the snake amid the roots of
the tree. The guards, on reaching the bottom of the tree, found the necklace and it was guarded by the snake. Then they killed the
snake and recovered the necklace. The crow's family was relicved that their eggs were safe.

What did the guards do to the serpent?
1. They hit and burnt it

2. They killed it

3. Threw it out

4, They beat it

Correct Answer :-
o They killed it

7) Read the passage carefully and answer the question given below:

Sir Isaac Newton born in 1642, in Lancashire, a small village in England, was a clever child. He built the water clock and an
instrument to find out time with the help of shadows. Little Newton was also interested in painting, collecting flowers and plants. In
1665, he graduated from Trinity College. His contributions are the following: Differential and integral Calculus and Binomial
Theorem. Newton also proposed the three laws of motion. 1. An object moves only when force is applied. 2. Every action has an
equal and opposite reaction. 3. Every particle in the universe is attracted by all other particles. Newton devoted his life to science.
'Principia Mathematica' and 'optics' are the famous books of Newton. He passed away in 1727 at the age of 85.

Which college did Newton graduate from?
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1. Harvard
2. Oxford
3. Stanford

4, Trinity

Correct Answer :-
*  Trinity

8) Read the passage carcfully and answer the question given below:

Sir Isaac Newton born in 1642, in Lancashire, a small village in England, was a clever child. He built the water clock and an
instrument to find out time with the help of shadows. Little Newton was also interested in painting, colleeting flowers and plants. In
1665, he graduated from Trinity College. His contributions are the following: Differential and integral Calculus and Binomial
Theorem. Newton also proposed the three laws of motion. 1. An object moves only when force is applied. 2. Every action has an
equal and opposite reaction. 3. Every particle in the universe is attracted by all other particles. Newton devoted his life to science.
'Principia Mathematica' and 'optics' are the famous books of Newton. He passed away in 1727 at the age of 85.

‘Which fine art was Newton interested in?
1. Painting

2. Dance

3. Drawing

4. Music

Correct Answer :-
® Painting

9) Read the passage carefully and answer the question given below:

Sir Isaac Newton born in 1642, in Lancashire, a small village in England, was a clever child. He built the water clock and an
instrument to find out time with the help of shadows. Little Newton was also interested in painting, collecting flowers and plants. In
1665, he graduated from Trinity College. His contributions are the following: Differential and integral Calculus and Binomial
Theorem. Newton also proposed the three laws of motion. 1. An object moves only when foree is applied. 2. Every action has an
equal and opposite reaction. 3. Every particle in the universe is attracted by all other particles. Newton devoted his life to science.
'Principia Mathematica' and 'optics’ are the famous books of Newton. He passed away in 1727 at the age of 85.

When was Sir Isaac Newton born?
1. 1642
2. 1640
3. 1650

4. 1648

Correct Answer :-
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10) Read the passage carefully and answer the question given below:

Sir Isaac Newton born in 1642, in Lancashire, a small village in England, was a clever child. He
built the water clock and an instrument to find out time with the help of shadows. Little Newton
was also interested in painting, collecting flowers and plants. In 1665, he graduated from Trinity
College. His contributions are the following: Differential and integral Calculus and Binomial
Theorem. Newton also proposed the three laws of motion. 1. An object moves only when force is
applied. 2. Every action has an equal and opposite reaction. 3. Every particle in the universe is
attracted by all other particles. Newton devoted his life to science. 'Principia Mathematica' and
'optics' are the famous books of Newton. He passed away in 1727 at the age of 85.

How could one find the time of day with the instrument that Newton had invented?
1. By means of a pair of arms.

2, By means of shadaws.

3. By means of sunlight.

4, By means of moonlight.

Correct Answer :-

* By means of shadows.

11) Choose the appropriate determiner for the sentence given.
We were bored because we had to do.

1, little

2. afew

3. alittle

4, some

Correct Answer :-

« little

12) Which of the following options best combines the given sentences?

He is a back bencher. He sits on the last bench.
1. The last bencher is him who sits on the last bench.
2. He being a back bencher, sits on the last bench.

3. He is a back bencher who sit on the last bench.
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4., He is a back bencher, so that is why he sits on the last bench.

Correct Answer :-

¢ He being a back bencher, sits on the last bench.

13) Choose appropriate articles for the given sentence:

____nursewho has ____ right qualifications will have no trouble finding ___job.
1. The ... no article required ... the

2. A..the..an

3.A..the..a

4. No article required ...a ... a

Correct Answer :-

« A..the..a

14) Choose appropriate article for the given sentence:
MLA visited us last year asking for votes.

1. No article

2. A

15) Choose the appropriate option that rewrites the given sentence in its passive voice.
Everyone loves the Mc Queen Restaurant.

1. The Mc Queen Restaurant is love by all.

2. The Mc Queen Restaurant is loved by everyone,

3. The Mc Queen Restaurant was loved by everyone.

4. Mc Queen Restaurant has been loved by everyone.

Correct Answer :-

+ The Mc Queen Restaurant is loved by everyone.
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16) Choose the appropriate synonym for the highlighted word in the given sentence.

Priya adored the doll that she got from her favourite aunty.
1. praised

2. loved

3. abused

4, abhorred

Correct Answer :-

+ loved

17) Choose the appropriate tense to fill in the blank in the given sentence:

The doctors sterilized their hands with soap before they the operation.

1. will start
2. are starting
3. started

4, start

Correct Answer :-
« gstarted

18) Choose the appropriate antonym for the highlighted word in the given sentence.

Animation is not reality because the characters are not real people.
1. fantasy

2, realness

3. certainty

4, presence

Correct Answer :-

+ fantasy

19) Choose the appropriate conjunction for the given sentence.

He may look thin , he is very strong.
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1. as
2. however
3. because

4, and

Correct Answer :-

« however

20) Choose the appropriate prepositions for the given sentence:

Many families are satisfied ____ the results they get____ homeschooling.
1. of ... of

2, from ... in

3. with ... from

4, against ... out

Correct Answer :-
e with ... from

21) Choose an appropriate modal for the given sentence:

I have helped you in hard times if you were loyal to me.
1. may

2. would

3. can

4, will

Co.frect Answer :-

+ would

22) Choose the option that best explains the highlighted expression:
I'd like to get her a gift, but nothing springs to my mind.

1. looks fresh

2. jumps to my mind

3. appeals
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4. no ideas come to my mind

Correct Answer :-

+ no ideas come to my mind

23) Choose the most suitable pronoun for the given sentence:
We finished the work, all by

1. themselves

2. oneself

3. ourselves

4, herself

Correct Answer :-
« ourselves

24) Read the sentence carefully and choose the option that has an error in it:

He has pictures of beautiful sceneries.
1, beautiful sceneries.

2. pictures

3. He has

4, No error

Correct Answer :-
« beautiful sceneries.

25) Change the sentence from direct to indirect speech.
She said, "I will be using the car next week.”

1. She is going to use the car next week.

2. She said she may use the car next week

3. She said she will use the car next week.

4, She said that she would be using the car next week.

Correct Answer :-

» She said that she would be using the car next week.
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26) Choose the appropriate tense to fill in the blanks in the given sentence:

| you not back home this late?

1. Am... telling... coming
2. Aren’t.., telling... to came
3. Haven’t... told... to come

4, Did... tell... came

Correct Answer :-

« Haven’t... told... to come

27) Choose the option that substitutes the given phrase appropriately.
Dictionary of the special terms used in a particular field or job

1. Content

2. Annexure

3. Glossary

4, Index

Correct Answer :-
¢ Glossary

28) Choose the right tag:

He won’t mind if | use his notebook, ?
1. will he not

2. will he

3. haven’t he

4, have he

Correct Answer :~-

* will he

29) Choose the right tag:
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She went to the library yesterday, ?

1.isn't it
2. wasn't she
3. didn't she

4, did she

Correct Answer :-

« didn't she

30) Rewrite the following changing the active sentence to passive.
We had to stop all other works to complete the assignment.

1. All other work has to be stopped by us to complete the assignment.

2. All other work had stopped by us to complete the assignment.

3. All other works was stopped by us to complete the assignment.

4, All other works had to be stopped by us to complete the assignment.

Correct Answer :-

« All other works had to be stopped by us to complete the assignment.

Topic:- General Hindi(L2GH)

1) WEaH Wal$ Tal a7 R 3 o 8 -4 20t 9 39 faer s o =ell 751 919 78 ver at &,
e Yag 364 &1 3y & Rafrar @l il 3 3% @M F e TRaw 2 Ry af= ag o1 aar iz ag &1
o §ER T 99 PI a8 99 36T 411 319 3¢ & {377 gfear & gorh-wadt o # Sur dan1 gfear d-3a
3R T WEA-Tod WTEH & ISk 5T WRge Sferam # WHTH IR & 3R Teft-i IRt off 7y u1?
gfear ERgs 99 o1 qed d oS A, g RR W T @i, RR 91 gel wR @ gY vre-
BHHHT U 6! AT| H TS deT aa T91, ST 98 IR | Higl 999 Tat 5, 519 ¥ ToR-fea 39 ga-
e & g 1 sigre M & R RNoa e v vsia ¥ g @) g | g:dl Jrar @1 ara wee @i
I5 Yid Tt T3 1 9g F 918 QTS U 9% e § I5 T "l 1 3% Use-Use e 91g gE-ai §
ol o STl A 3R HBT 7 o Y ST § 3ifEl A 3T T b T A1 S1-3) STaex gveH RREM 8%
5 U1 FeeH AR W ab &t 9Tt | % WR F @ & A9 39 YA-Xid © Sfad gt 3% A1 e 59 & g
T TR 18] e o) 3 A wew A9 8 9rd &1 I g1 § e SR IS, IE ged’ A Sih) @ren §
ﬁﬂ'c;TTgTW%ﬂl e TET U1 T B39, T 991 F g off agfera oifte ofk gl 89 &1 Wt te eifter
|

IUY TR P UgHR A TR TC IY BT 3R g1z

U- 3 BT gy F g 3 & 1 Wvge I9 SR e 82
1. e

2.3

3. SlaX

4. 98
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Correct Answer :-

2) WA WEld 9al T R A S $© T-2@ 0 | 3H fder o3 | gl 751 919 781 757 9 &,
TSF Jag Iod 81 YW A fafdam @t It A 3% WA & e wraw ¢ R afsm ag & @ 3z ag o
& §ER T dd DI a¥g 99 QT UT1 39 3¢ & o= giear ot gerh-gadt o o9 Iur ¢an giear da-3a
3R TG GITa-Tod WEH & IR §¢ WXgy sferan & s IR &t iR Feft-3fi Iy off 7y u1?
giear TRgS a9 &7 AR FIF oS N, Wy RR W R aue, RR &) gei ® e gu voe-
TEHHR I 81 Bt Bt RrIesT a7 Te 99T, 9 98 IR | HiaT S99 Fat 7, 319 ¥ uRR-a 39 -
ot & g o1 sigren oM & e Red ara o ue # OF 9t 7 | g:&! |t 3t 9 Hies @l
T WY Afeal T3 &1 §og & 918 3eTS 0T 7@ Ueil § I 7 9@t At 3¢ Ung-une e o @r-fia &
@farrrwnt-ﬂzﬂaﬁ?@ﬁwﬁaﬁmﬂw@ﬁmqwmﬁmaawwﬁmﬁ%
T8 1 gveH RR W ath 30 9t A | 2 W & @i F 9 I F-30e @ Sfad 8 39 41 e 79 B g
BT IRT T3] Feran at 99 & FeH A9 8) 9 &1 I ETed & P HUR IS, I Toid) & o1pe @rar &
iﬁﬂgﬁmam?ﬂimm-aﬁaiaﬂ%,mmﬁ%ﬁ‘maﬁﬂgﬁmﬁﬂﬂ%qeﬁ?gzﬁaﬁaﬂmw&m
gHaT 71

Iu T B UgHR I IR T WY BT IR FaIgd:
TH- U e 5w diet o1 wifife Yaie= e mar g2
1. T St g &1

2. A S g ol

3. d¢ &l g &l

4, I DT g BT

Correct Answer :-

. PGB

3) WM WRdl® Far 11471 W A S $© gAT-471 1 <t 6 39 fagr =3 o ool 7| g 7€ ver af 7,
TS YaE I5d & Y@ A Rwfae ot | ot 7 3¢ @M & R s ¢ Rudfpa g e sz ag &1
e TER ¥ 99 B a8 U 38T 411 39 9 & fo=m giear o gorh-uwadt o #19 3urR a1 gfear da-3a
3R 3TE UPd-Tiod HEM & 9ol §U Ty ol # TReH? aeR &t 3R Tei-3iT TR ot Far 41?
gfear TRae a9 &1 e P omg AN, Wy AR W 91er a0, RR 91 ge+l W P v voe-
BHHHS 3 Vol At T THST deT Td 997, 319 98 IR | HieT 99 Jet &, Brcriﬂm'xr e U G-
et & g:@ o1 sigren o & fore fed are o ueh & U7 91 Uy ¥ g:&l |11 31 914 Wiew @l
98 WYid ufear 7 &1 9o & 918 31eTs U 9% UaT § I 7 9@ A I Usg-uss e ag - &
gt o SITet Y SR BT 7 3 B At H ST | S 7 b T A1 Sl-gl STae? giaH RRgM a3
TEd U1 FeH R W b &t 916t A | 6T W F AR & A9 S YA-XND § Sad §f 3¢ A1 9F 7 Bl G
T IT A8) HerdT a) Fa-1 A HeH ao 81 ofid € | AT gTed H AT HUR I1Y, € TeAd| A 31 @rdr
ggﬂaﬁm W 37T A1- 2N F3, T T9H & g oft wglema aifte ok &t 811 &1 1) v st
|

IWTR TR B UGB A1 YD ¢ UY FT IR TA159:
w==- gfa’ &1 fadim e 82

1. F9d

2. ST

3.vls
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4, e

Correct Answer :~

4) WA WREE 96T T R E o $© -3l f 9 33 e s § welt w1 9w 7E e o @,
TSF Jag Iod o1 YW@ ¥ afeas @ g A 3% WH & e wraw ¢ R afs ag & w®ar iz ag @
o R ¥ T4 B a8 99 8T UT1 39 3¢ & e gitar &) gerh-aast o $19 Sur 4T glew e
3R TG TIEd-Tod WHH & 9eik §¢ WGy sforan # Heds aR &t iR geft-3fiX IRt off @ ar?
a1 TRge! I BT ATeH FIb o8 o0, Wy R W 9ey aue, R &) gedi W RH gu voe-
BEHHR I 81 At | Ho FRIepT 2T Te 99T, IS 98 IR § TiaT 99 et 8, 319 ¥ URR-few 39 -
faafieh & g@ &1 sigrem A & e e aT1a o us 8 g @) g § gt J1d1 &1 9T S |l
a5 WYid uied O B Yog & 91G IeTS UM 6P UG & 3o 7 6e! A1 3¢ Use-Use e arg gI-fagn &
7ol 3 ot 2t 3R gt 7 o #Y /e # i@l A 3 7 TP THd A1 Gl-gf STaex gveH RREM 38
e ¥ g¥eH RR W ath & el | 2R WX F @i P A I -3 | Sfad 8§ 39 A1 e 79 B g
BT IR 181 Ferar @t 3 & Fen A9 8) 9 &1 I gTed | AP SR IS, e Tadd! A SIpY @il 7
ggﬁmuﬂ I Y87 UT- 3P &34, T 7 & g oft wglera ofde ok gt e &1 1ff ve st
|

SUYT T BT UGHT AA1d IO T U BT I a1sd:
U TR U e § @ s 82

1, glesia
2, TR

3. 3TH A B el
4, YT

Correct Answer :-

5) WA WRele a1 TR W 55 - 470 o 9 39 faer s § welt 151 9w 7 e |t &,
WS gug Iod & Y@ A Refam a1 ordt 3 3% @R & R @vgs 2 Ruafea sg st qrddz ag o1
T TER 9 94 $I avg a9 61 471 3d 3¢ F fam1 giear & gerit-uadt W 19 IUR dan gfear Ta-a
3R TG WBA-Td W & TN 5T WXge! Sferam # THTH IR B 3R Teft-oi IR o Jar u1?
giear EReE 3T T AR FId o1 A, WY RR W R aue, RR &1 gel R e g vwe-
BHHHT I W6t At | T ST deT ga a1, 3o 98 IR | Hiar 991 =eil 8, 819 ¥ ToR-fea 39 3@-
ﬁu’rﬁr—ﬁﬁf@@aﬂmwﬁ%ﬁmﬁ%ﬁmaﬂ%mﬁgﬂﬁmﬁgﬁmaﬁmﬁﬁW|
g8 WY ufean U7 &1 Y & 918 31eTs U 99 Uel § I 7 9ot At I Usg-uge fFe arg -l &
qgfanmzﬂ&ﬁ?gsfq AT P ST A 3iTEl | TG 7 b b V1 -3) STae? gved M 33
5 1 gReH RR W ath & ot f | 2 WX S @ S A 39 GA-30e § sfad 81 30 &1 e 79 B g
T IR ) Fyeran af 3 & Few A9 8 O 21 I T | AP HUR IS, I Terd! A o1pY @ral 7
;mmgmml e TET 41- XM B34, T 79[ & g off aglerma oifite ofk gl 81 &1 1t ue sifter
|

ST TR P UgHT A IR T Y BT IIW a5
- Y@ | faafaemr &1 o T 2

1. TS Y@ 8T

2. Y@ T AT
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3. Y9s
4, Y& ST

Correct Answer :~-

. IRF Y@ g

6) WA WReie gar 7Tl TR A o $ -3 o 1 39 faer s | welt w1 9w 7 <o @t &,
ﬂﬁ%mﬁﬁwﬁﬁaﬁmﬁaﬂmﬁ%ﬁmﬁ%ﬁmw&mﬁﬁﬂ P T SN? I8
TER & Td B avg a9 g7 4Tl 39 d9¢ & fom gfear ot gorh aa'wﬂmﬁaﬁﬂamamlgﬁmﬁ% !’Iﬂ
eﬁianéﬁtﬁu‘mﬁmﬁﬁ F TR U TS Siedr § AHeHR AR B 3R Te-3iT TRt of FaT 4T?
gfear TRae I &7 WEH @ 315 A, Wy AR W 716w aue, RR &1 el = Ree gy vwe-
BHHEHR I 61 At | o FTesT ST Te 997, 39 98 IR T HiaT 999 Feit 8, 719 ¥ URR-ew 39 3I-
foafiel & g@ o1 sigre @A & e e u1d 3 us & g3 @1 g § g3l J1d1 &1 9T S @)
I8 WYid Afgar G B 4y & 91g QTS U ad Uei | 96 7 9! A 3% Ung-Une e 918 gI-fagir @
ol 3 Wt 2 3R gt 7 3 B R H AT A 3 T TP THd A1 €l-3f Siaex gveH RREM 38
gd ¥ geeH RR W ath &t St ot WY WR & @ & 99 39 [A-Xe 9 gfdd g1 9% 21 59 59 St gy
T T e FrerdT af 3 @ Fen A9 8 91 &1 I gTerd | A1 SR ISI, T Toid] A SIpY @l #
Egﬂfﬂml@awm—%mﬁ,mmﬁﬂimmﬂgﬁlﬂaaﬂ%ﬁmg@ﬁmaﬁwm
|

ST TN B USH A U T WY BT I Taq1gd:
U~ 'qd B G AUAT BT 3 TG ?

1, Sfcfiie T g

2. dd TR A S

3. 99 o1 g

4, Td I ARG BTl BT

Correct Answer :-

. i TH B

7) YTE RS Tal 471 TR ¥ o O TH-43 20 9 3 faer s | el w51 91y T8 e at |,
TSP g o4 81 W@ & Rafram @l gidl A 3% @M ¥ Ry TRaw @ Ry afH ag ot s Sz ag &1
o gER 9 99 B a3g a9 T 471 39 3¢ F far giear & gerht-uadt o 19 Sur dan gfear da-3e
3R 3T TIBA-Td WEH & I 5T WREW Sferan # WHeHR IR 3 SR Teft-3iR IRt of 7y u1?
gfear Was 9 &7 WET S¥d o R, W RR W 71eR aue, RR o1 el R e gu vwe-
THHHT U ot At | Ha Fora®T deT aa 991, ST 98 IR | Higl 999 Teit 5, 519 § TRR-fea 39 ga-
el & g o1 sigren A & R Ao are o vei ¥ g @) gog | g3 Jrar #1 ara wee @i
I§ Wi AfgET O B Y & 91 31918 WY 9% U § 96 7 "l M| I% Uge-uss e a1g ga-fagn d
ol 3 oIt 2t 3k gt 7 o @Y sraw # el A iy 7 v THd A1 Sl-3) STaex gieH RRegM 88
TEd A1 g¥eH RR W ath & ot ff | 28y WX & Gl F 19 S0 -3 | Sfad 81 39 41 o9 5 @ g
1 T e foreren &) 9 | How A9 8 91 81 31 BT W A1 B I, T Tordl A ipe @ 7
E?mml Wi 78T UT- TP B3, T 79 & g oft wglerra @it 8w gt 89 @1 ff wo st
|

IUYad TR P UgHR 1 D T IY 6T 3R ga1zd:
UL~ WGP WP AT 19 g4 & fore oft o S8t |reen 82
1. GHIERT
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PAIGE |
3. WErHfd
4, Ggferad

Correct Answer :-

8) WA WRal® Il Tl TR | ol $© T-3=lt 1 32 fagr 3 A aeit 7181 310 =1t e ot =,
TSF ae Iod ol Y@ ¥ fyafear @l Il A 3¢ WH & e WRaw ¢ 3 afes 9g &1 a1 iz 9g &
o9 §ER & 99 B! A U QT U411 34T 3¢ & = giear ot gorht-aaddt o 19 3ur dan giear da-a
3 ATE Uid-Uivd YITaH & aei¥ §¢ Ty Sforam # THee? awik o S Tei-aiiv =mr +ft @ar ur?
Fiear YaRge! 99 &7 AT e oT% Y, Wy RR W arer aue, RR & gedi w® e gu voe-
PHEHHY I Y61 At A o1 deT a6 991, 319 98 IR § HIgT 99 Ft 5, §1 ¥ uRR-fed 99 ua-
faaifirit & g 1 sigren @ & e Red are sv? ueh & U7 91 7 | g:&l A1a1 31 a1 Wik @l
8 GYTd AfeaT T B g & 16 QTS AR a9 TeT § I3 T To1 N | I8 Usg-uss e a¢ wr-fagr &
Tt o wTet oY 3R gt 71 o & vyt A e | 3Ry 7 Fb Thd A1 €l-gl Siaex geaH RRgM 33
Igd ¥ geeH R W ath &t Sirdt | TR WR & @ & 99 39 UA-2e 9 sfdd 8 9% 1 5 59 St gy
T IR 8] HerdT a) Fa-1 d FeH a1 81 od ¢ | 3! gTad J A1 HUR 31T, I Teid! A 31by @Il A
ggﬁﬂml e 8T AT- XM He4, T 791 & g ff wgicra oifte ok g:&f 89 &1 1 te sifter
|

I TR BT UGHR A1 UD T U P IR TABA:
TH- U T 8 U SHTUSR 1 a1d B S ¢ 98 o-
1. SieH BT R

2. G &7 SHfIBR

3. gl g BT fIBR

4. U1 81 BT SRBR

Correct Answer :-

« G 8H T PR

9) WG AP TaT 74T TR & off $© FA-Yit 0 Ot 3 gy &= & =it 75| a1g =7 we1 @t &,
TSP Yae 964 & Y@ @ Rafeam a1 g6 A 52 @ & Ry wngw & Ry dfba sg st s sz ag o1
o IR § 94 DI avg aU 38T UT1 34F 3¢ & 47 giear &) gerh-aas) off wi= Iur ¢ gfear -3
SR 3T GIEa-Tiod WHH & 9ei §¢ WRgS Sferan § WieHy 99R & iR Teit-3iR IRt off < u12
gfear TR 9 &7 WEH e 3T A, R RR W 91eR aue, RR &1 ye+f ) Ree v vwe-
BHHHT I 3Gt At | T RrawT deT aa a9, 91 98 IR B Hiar 399 et 3, 719 ¥ wR-fea 3w -
et & g o1 sigen @A & e fied are sroe oS ® g @1 7oy 9 gl 91a1 3t ara diae @]
T§ YT AivA OF 1 Y & 916 SfeTs W 9% TaT ¥ Io 7 9! M| 3% Uxe-use e a1g - 9
i o wTet A 3R GBI 7 3 B Srawar A 3@l A SR 7 b Wb A1 Gl-gl Siaex gieH RRgM 38
TEd U1 g¥eH R T ot & oirdt i | 283 ¥R & @Rl % W S0 [A-Xie § sfad 81 3 41 S1E 7 B g
BT IR ATE] e a 91 W FeH A9 81 WId & | I gTed § 6 SR IoI, T Tad! | SIhS Qe §
ngm] I @7 A1- NP A, T F9H & g +ft wgleraa aifRe ik g:&ft 819 &1 ff v sifteR
|

IUYad TR P UgHR A D T UY HT 37X Jd134:
- R | P Wifga ar?
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1,98
2. YId+

3. SigeX
4. gfean

Correct Answer :-

10) WA TREIS go T IR A o $© -3 ot ) 39 e w # =t g 1 9 Y ver @ &,
TS YaE Io6d ¢ Y@ A faafae @it ot 3 3¢ @M & 7y WRew < Ay afe ag st e Sz sg &
3 TR ¥ Td P a¥g a9 TeT 4TI 39 9 F e gfear o gerht-gasht o w9 3ur Tan gfear da-Aa
SR ST UIBa-Tiod WTEH & 9ei¥ §¢ WXgy Sfordn # THeHy IR @t 3R geit-oii I oY 7 ur?
Fiear vavgel 9 &1 A1ed Hed 3% A, Wy R W 9reR aue, R & gedi ® RHe g voe-
BHEHHT I 6t At Fa rawT de1 aa 99T, 31 98 IR B e 59 76l 3, 819 ¥ teR-fea 39 uI-
faaifirt & @ 1 sigren @ & e ed |re srvs ush & U7 91 7 | g:-&l Aial 31 a1d | @ |
g TYid Afear IF &1 Yog & 918 31eTs U a% e § 3o 7 ! At 327 uxe-use fiee a¢ - &
ST T S 2t 3R BT 3T BT AT H AT A 3T FF THd A1 Gl-af SIFex gIaH R d&
Bd U1 e R W i &t 97t | 28¥ R & @RI & A9 39 YE-Xie § Sfad 8 3% 41 5e 7Y B g
T I el HerdT of 391 ¥ $e a9 &1 91d ¢ | I §Tad § 1% S UR I3, I Tad! F Sidy Trar o
Egﬁﬁﬂﬂ Hie 8T AT- XM B34, TH 99 & fog off wgierra aifte ok g:&t g9 &1 1 v sifter
|

IR TR B UGHR A U T Y FT IR T8
WRA-Wgd T ® gF-famhr @ diet - @t o
1. SR GH BT

2. Sg-gf¢a1 HI Bl

3. gfea IR Wi Afgar &1

4. Q) Slac Bl

Correct Answer :-

. gfear 3R Tyid Afgen &1

11) WAN Rl Ta T e § o $© -yl 0 3@ 3= faer s+ & It w1 91y =Y <@ af
TSP Yae 9540 & Y & Refam ot g A 52 @M & Rt mvgw & Ru dfba sg st s s ag o1
o R ¥ 94 DI avg TU 8T Y71 39 3¢ & {97 giear &) geri-aadt «f w19 IR o giear -3
3R 3T NFd-Uied WTaH & deR gU TS Sfear § FHeH? a9 3t 3R Fel-oiv TRy +ft @t 412
gfear TR 99 &1 AE" @ oM A, Ry AR W 91ew aue, RR &1 ge+i W Ree gu vwe-
BHEEHHT I et AT | T ForaH1 de1 aa 991, 311 98 IR | Fiar 994 Tt 8, 319 ¥ ToR-fea 39 -
ﬁu‘rﬁlﬁﬁ?g@'aﬂmW%W%ﬁwmmﬂgﬁwﬁgﬂwﬁwmﬂW|
g HWYid Afear 7 91 Iog & 91 3(3TS U @ e § 36 7 9ot At 3% uxg-use e a¢ y-ar &
qyﬁarrmﬁiﬂﬁ?@fﬂ&ﬁaﬂmﬁmﬁmqwm&laﬁmwﬁnﬁﬁ%
Ted U1 g¥eH R W ath & ordt Y| 26X ¥R & ARl & A 39 -2 § Sfad 81 S U1 e 7 B g
T IR 181 Foree a) 991 A FeH A9 81 9 & | I gTed § 6 SR IS, T T A SIHS e
;mmgwml I 3GT A1- 2P HA, T AH & fog +ft wglera aifge ok g:&ft 819 &1 Wt v sifteR
|
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I T BT UGB A1 IS T U PT IR IA18:
- A HHE H I T 8?2

1. I Y31 &1 % o Ad g1 o1

2.3 ¢e-He A

3. T H IS TSR a1 U

4, I TR BThx @I TGT Ul

Correct Answer :-

o Y G BT IRAT 6] 3 X7 U1

12) WIEH TRai 96 4T IR Y o $© gl-3t ot 9 39 e s # =l 151 91y e ver at &,
TSP Yag 3o ot Y@ A feafam @t g1t A 3% @F & e wvew @ g afes ag &t 7 iz ag &1
3 TR ¥ T4 P aE 99 e 411 349 9 F e gfea &t gerht-gash o w9 3ur Tan1 gfear da-a
3R T iTa-uiod HE %aﬂ%@wgﬁmﬁaﬁmmﬁaﬁ?aﬁ 3T =R ot T ur?
a1 TRYS d & Ae" XF 1% 0, Wy RR I 716y aue, RR &1 gei W eoK 5T vwe-
BHEHHT 3 ! At Fa Ryt de1 aer 791, 3 98 IR § Higr a1 Telt B, m%mﬁwwga—
et & g o1 sigen @A & e Red a1a sva usi ® g 1 gog 9 gt arar 9t ara gies @)
g TYid Afear T &1 44 & 91 31eTS 919 a9 Ua § 36 7 99! A 3% Use-Use e a1¢ -faar &
T o ST 2t 3R BT 7 3T FT SEARITH 1@l F Y T ¥F TP Y| G-l S[dex FIeH RN 66
T8 1 gveH RR W ath & ot | 2y W & |l & A 39 gE-30e | Sfad 8 39 A1 e 79 B g
T T 78] FAreraT o) 39+ ¥ FeH A 81 9 2 | II gTed § 711 W I3, I Tofd! A 3rpy @rar &
ggﬁmml?hﬂmm-ﬁha?aﬂ%,mmﬁ%ﬁmﬂﬁﬂgﬁwmﬁq&ﬁ?@@sﬁmﬁﬂwm
|

S TR B UgHY A I 7T WY $T SR a1z
UH- ‘BhH-BHHHT I USAT 3T Y 82
1. SH-JP P IAT

2. Pe-PeHA U
3. URTS 31l ¥ ST
4, A YT 31 BT e

Correct Answer :-

. HT-HTH TS

13) WAH WRale Ial T e § o $© TH-y3 20 3@ 3R faer s+ A gt w1 9y 7Y <5 af A,
TS e Iod & Y@ A Refem o it AR TR S R s 2 Ru afra g st s ag &
e §ER ¥ 99 DI a9 a9 61 411 39 3¢ F a1 giear & gerit-aadt 1 #19 SR dan gfear Ta-3a
3R TG UIEa-TIod W & 9ok §U WRge sferan # THesd aT9R @ iR geft-3fie arr off a7 u1?
gfear TR 91 &1 WE" e ofs A, Rg R W 9rew aue, RR &1 ge+i W o1t gu vwe-
BEHHER I T At | T ORIBT 92T I 9391, 31T 98 IR | AieT 999 Tell 7, 7 ¥ ueR-fawm 39 1a-
faaifieht & g@ o1 sigrer @A ¥ e e wra o vee d g ot gog & gt | @t ara wiae @l
I8 Wyid Afgar g7 B Yo & q1g QTS 7 9% Ue § 96 7 9l A 3% ugs-une fie 918 gr-fai |
gt o ot A 3T gt 7 3 B rawt # e ¥ 3ATY T 3P THd A1 Sl-3! Siae? gveH RREM 86
Ted A1 gveH R W ath & oirdt | 26X 1R & @Rl & A 39 -2 § Sfad 81 38 U1 e 7 B g
BT IR 161 Foree o) I & FeH A9 81 9Id & | S gTed § 6 SR SO, T gad! I SIBS Qe
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g?mml Hie TET AT- XM B, T 79 & g ff aghra o1fe ok gl g9 &1 Wt te sifter
|

ST T B USHT ) U T UY BT IR ATz
v faghT wreg 1 faei w2

1. A

2. THABE TR

3. HHIGINT

4, S

Correct Answer :-

14) WEM WRel® Tar TR F o oo -yt 0 O 3H faer w33 & Tl 751 91y Y et @ @,
TSP Jag Iod o1 YW 3 fafdam @t gt A 3% wm & R wras @ e afem ag & ®n dfiz ag o
e AR ¥ Gd BI avE qU g1 UT1 34T 3¢ & fomr giear o gord-aadl «ff = Iur o gfear Ta-3a
3R AT GITa-Tod WEH & 92N §¢ EXgy sferdn # sy aeiR @t 3R =eft-3fi Iy of a7 u1?
gfear ERae 991 o1 ATEW FIF o8 A, g AR W 71ex 91U, AR 91 ge-l R fewe gu vwe-
BHHHT 3 ! At Ta PrIeT deT Ta T97, 31 98 IR § Hiar 99 el 8, 71 ¥ uRR-fem 39 ga-
faaifir?t & g o1 sigren @ & e Red ara s veky & g7 9t 7 | & a1ar 3t g g am|
g% HYid ufean U7 &1 §og & 918 31eTS U1 9% Ja7 § 36 7 9ot At 3¢ Une-use e o @-faam &
yof o e 2t 3R ot = o F1 s # sifEl | iy 7 36 Wb A GI-3) Siaex §ieH RREM 38
e 1 e¥eH RR W ot & oIt Y| 26X WX & |l & W I -3 @ Sfad 81 39 41 E 7 B G
BT IR A1 FRreraT a)f F-1 ¥ FeH 99 81 ofd 8 | IHI BTed § 51 SUR ST, I8 Tefd! A 31y @rar &
ggﬁ?ﬂﬁl e T7T AT XM B, TH 79 & fog off wgferaa oifee ofk gt g9 &1 1Y v sifter
|

JRIT TR BT UGH -i1d U T 9 FT IR qaq139:
1. Y%

2,949

3. Ry
4.4

Correct Answer :~-

15) WA WRals 9al T W H o $© grr-a3t o 9t 39 faegr o ® =it g1 9y =gl g1 |t A,
TS YaE I5d B Y@ A faafaa ol | orét 4 3¢ @M & R7g WRaw ¢ foU Afe 9 # s Sz ag &
o §ER ¥ 99 $I a8 a9 ¥61 4TI 349 9¢ F fomr giear & gorht-gadt of 19 IR < giear Ta-3a
SR ST TEa-Tiod WITHH & 9eik §U gy sferan # TieHt aT9R & iR geft-3iiR arT of war u1?
giear TR a9 @1 AE" 3@ oM AR, W RR W TeR aue, RR o1 gedl = Ro 5y vww-
BEHHHR I et At | H RIDT IeT Te 991, 319 98 TR | AieT 994 =il 8, 8 ¥ ueR-few 39 gI-
faaifiet & g9 o1 sigTen @ & e fUed ara o uek ® U3 91 Uy | g:5! HIal 31 919 Wi @l
g8 WY ufgar T &1 g & 918 31eTs U™ 9% Uai § I 7 qat A I Usg-use e aig -l &
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ol o ot 2 iR gt 7 o #Y srawn # ol A i 7 v THd A1 Sl-a) STaex gveH RReEM 988
Ted U1 g¥eH RR W a0 & 91t off | 9ER WR & @l F 9 S0 -2 @ 5fad 81 33 A1 5e 71 S g
T TRT 18] FHerdT d) Ja-1 A $aH AW 81 ofd 2| I gTad § 511 SHWR I3, I Tead] A 31y @Il A
?IFIT%TETQITI e TET YT~ S &, T 7 & o oft wgfera oiffe oiv gt a9 &1 i ve st
g gl

I TR BT UGHR A UD T WY FT ST T8
WRA- G BT Il ey § -

1. W1ee IU

2, SR IR

3. f3@rs & aren IRa

4, ST G AT

Correct Answer :-

. g1 U

16) Ifew ol ¥, 5= orht e

U TR 9 Say, didt, 31y, g

IfeH 4rT 99 @1, T AR1 aee |

e U fpe T o, SR e wdt S|

ITYea TR BT UeH A U T U HT I7R Ja1sd:
- U BT afarh § -

1. 4R

2. Uiy

3. fAfer

4. 9R

Correct Answer :-

. dR

17) few o v, e arf wa g

it T T SR, Jidl, Ty, 1

IR YT U &1, A AR e

e U fhe AT o, SR 7T T S|

ST UL B Ugdh -1 IS T WY HT IR qarsd:
- BT N a1y 8-

1. SIS gt
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2. 9Q1%

3. TS & 1Y ACHIDB

4, 91l

Correct Answer :-

. AN & 1Y ICHIH

18) ew= urt nifEd, fam urit wa g

Ut T T S, Jidl, 7Y,

IR U 9 1, W AR FePp|

e U B AT SR, SR WTe W S|

IR UL B UgHR 1 IS T WY BT IR qa@Igd:
- 3ifo e BT HA §2

1. 3T AP 7o

2. UH 1 Hel

3. 7118 1 Hgdl

4, YT &1 gl

Correct Answer :~

. U9 & Hgal

19) few= urit vifEd, 4= urht wa g

it T T Sa, Jil, 7Y, T

IFRHT 4T O B, A AR Feda|

e U B A1 o, SR 7116 Y S |

I Ui B Ugep 1Y YD T UY BT I Farsd:

U= RO 4N 90 7 & HiY &1 arewd 72
1. 4T 3R O

2. 50 A B TE

3. 0T Ueh YT &1 TRE §

4, YR T YUY

Correct Answer :-

. TS YN P RE§
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20) few Ut v, fos urit wa )

I TR T Say, Jill, AT, T

IRH 4T A B, WA AR ged™|

e U B AT SR, SR TS W S|

IR UL B UgHR A1 U T WY BT IR qarsd:
- U Rreg =T & & 7m B-

21) v ot uf@q, fam urit wa g

it T T S, Fil, 7Y, T

R 4TI 9 B, WA AR) Fed|

e U e AT oY, R 7T W SR |

I UL B UgwhR - U Y WY P ITR qargd:
W=A- U T faed ghm 2

1. @

2,31

3. 5p1Y

4. ¥{on

Correct Answer :-

22) e Ui nf@d, fam ur it wa =)

it T 7 SR, Jidl, 7Y, T

IR 4T A &1, Wd AR TedT|

e U fhe AT o, SR 7T v S|

Iuo UG B UeHR I IS MY UY $T IR qd153:
- e’ BT aaETd e § 2
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L7e
2. 91
3. 918
4. 7fd

Correct Answer :-

. U

23) v urit v, e urt wa g
I TR T Sy, Jiell, AT, T

IR 4T O BT, WA AR FePd|

e U B AT S, SR TS W S/ |

IR UL B UgHR 1 U T WY HT IR qars:
- A I iy 82

1, {19

2. %

3. SHdR

4. &Y

Correct Answer :-

24) eHA Ul AfEd, faq ut s g1 |

R TR T S, Hiell, A, T

T YT U &, A AR Tep|

g U By AT R, 9 7o W S |

IUYe USRI Y USHR A IS T UY BT IR Jarsd:
- 'Y T qargard § -

1. QT

2. ST AT SR

3. U™

4, g3Td

Correct Answer :-

« SRITTSRI
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25) e urit wfed, e uri wa g

it T T S, Jidll, w9, g

AT YN U BT, 7d AR Ied ™|

e AR TR, W 7 TR = |

IUYa Ui B TSR 1 UD T UY BT IR aarsa:
- Hid Weg FrAE A g -

1. Qfeer

2. TlfeiT

3. T BIS ol

4, T4 e

Correct Answer :-

26) Ifew Ul U@, A urt wa |

Tl T T S, A, 7Y, T

AT YT U T, 7 AR e

e U b AT o, SR 7T T S|

IuY e Ui Y USHR 1 UD T UY BT IR adrsd:
- UYH GIg § DIH-91 S0P 82

1. %Y

2. JHd

3. SIJUN

4. IAIET

Correct Answer :~-

27) v ui v, e ureiv wa g
U TR T Sa, A, 7Y, g

RH YT W T, WA AR gedT|

e U fih AT IR, SR 7o T WA | |

IuYad U= P UGH 14 D T WY 6T IR garsd:
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U=H- YR Uil &1 UYH Ul & ofd food aedia sauma & {63 qur ot arda s 3e18°?
1. RTHR

2. fa=rga

3. el

4. SAMERT

Correct Answer :-

28) ¥few= Ut ufed, fomt urt wa g

It T T SR, T, T, 1

RTT oI 9 BT, WA AR FeDd|

e U e A1 oY, SR 7T W S|

ST UL B UgHR S IS T UY $T IR qa133:
WRA- W9 BT YR 3R e T: Joar Wt 2
1. YR HTSd ) ST 8|

2. IH TiTe TS TRl B

3. ITH Ao o STt B

4. 3T TRTIGAT o &I g1

Correct Answer :-
. IGH 16 TS Sl 8 |
29) 3w art wfe, e oht wa g
U TR Say, T, 7, T
RH YT U &, A AR TEp |
e U fpe A1 oY, R 7T v S|
ST UL B Ugdh 1 IS T Uy HT IR qarsd:
TH- AR BT YHE EUE 2
1, dRT
2. AR
3.dR
4. el

Correct Answer :-
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30) Yew= U v, fo et wa =)

it T T Sa, Hiel, WY, I

IRET YT W9 BT, T TR Feb|
AR TR, Rl wd w1

ST UL B UGHR A1 IS MY UY FT IR qa133:
UEH- 'ge ¥ R AT R, IR 7Ifs o 9w ¥ 3o 82
ARG

2. JHD

3. SUHT

4. ST

Correct Answer :-

Topic:- Social Science (SSC)

1) Who were contemporaries of Kanishka? / HiTeh B GHSTAT B A?
1. Asvaghosha, Kamban, Nagarjuna / &m, $a, :ITrﬂﬁ:I

2. Asvaghosha, Nagarjuna, Vasumitra / G{%I'Eﬁ'ﬂ, q'l"'l'lﬁ:l, aﬁ&ﬁ

3. Asvaghosha, Kalidasa, Nagarjuna / 3f Y, HIfera, "'|'|T|'|T{I7'T

4. Kamban, Banabhatta, Asvaghosha / &, §HHE, Yy

Correct Answer :-

« Asvaghosha, Nagarjuna, Vasumitra / 3{95'5!-1'5[, 7'|'|Tf|\_§f'=f, aﬁﬁ-ﬁ

2) Which neighboring country of India was referred to as ‘Serendib” by the Arabs? [ HIRd &

o TSt <=1 & Rl gRT MR & wu # wehia fear are
1. Nepal / =Urd

2. Pakistan / Tfep¥elT=l

3. Myanmar / ®IHR

4. Sri Lanka / dicidT

Correct Answer :-
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« Srilanka / #icipr

3) Evaluation that is used to monitor the learning progress of students during the period of

instruction is called as: /agqﬁm,ﬁﬁ%waﬂ&ﬁfﬁ%ﬁﬂqmﬁaﬁmm
®! TR e & fore sedwTa fpar sirar 8, fer wearmr &

1. Summative evaluation / IRTIH®H Hieh
2. Diagnostic evaluation / %ﬁﬂiw

3. Placement evaluation / TSI HeOTh

4. Formative evaluation / A0S AP

Correct Answer :-

. Formative evaluation / FHTOTE® qwiid

4) What do you mean by BOD (Biochemical Oxygen Demand)? / d5.3f.3I
(TSR sifwiie feuis) A mueht war AR 2

1. Oxygen demand by aquatic plants / S Ut gRT ATt @t A

2. Oxygen demand by aquatic animals / S qﬂ\}ﬁ SR RIS Pt 7T
3. Industrial demand for oxygen / Siferiior o ferg sl am
4. Water pollution by organic waste / Sifd@ 3(UfRIY gRT STd TgHUl

Correct Answer :-

» Water pollution by organic waste / Sifdes 3mafiiy grRI STd Ugyur

5) defined, ‘Social Sciences as those bodies of learning and study which recognize
the simultaneous and mutual action of physical and no-physical stimuli which produce social

relation’. / A gyt forar o, wmrfore fagm, oftnm iR sreoa & a9
el & w0 g o IiRe R miRe Sxome @Y urwRe frar ot Weq
Pd & 3R IS Jae a1 3 1°

1. James High I@IWEEE

2. Macaulay / APpia

3. John Major/Gﬁ:[ﬂ'\?ﬂ

4. Bining & Bining / faf= &e fafT

Correct Answer :-

« James High I@IW E"Ié
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6) The research that is based on observed and measured phenomena and derives knowledge
from actual experience rather than theory or belief is known as: /

Y S Sraere MR R gemei R snunf¥a giar @ ik fygia a1 yRon & Iwi
AP SHA GRITA M HIATS, _ Ppgaai gl

1. Empirical research / 3I'Iﬂ3-lﬁ75 3O

2. Survey research / AT 3T

3. Deductive research / AT S{=90]

4. Quasi-experimental research / 3{&-TANTTEH® 3ATUT

Correct Answer :-

« Empirical research / 3THdd 30T

7) According to Seligman, ‘Ethics and Education’ are included in: / AT F SR

Afeear ok Rrgm so# =mfere g9 §:

1. Semi social science / 318 AT faFT=

2. Social studies / HTHTISTSG &I

3. Pure social science / YLex BIGINCACRIC]

4. Science with social implication / RIEIEED ﬁrl%mﬁawﬁﬁm

Correct Answer :-

« Semi social science / 3¢ graTioTR ﬁ?l'l:f

8) Which one is not a Nataka (Play)? /AR TE Acs (@‘)Hﬁ%‘?
1, Pratigya Yaugandharayanam by Bhasa / U gRT PIRE ?ﬂﬂm

2. Saptasati by Hala / 8Td §RT &9l

3. Uttara Ramacharita by Bhavabhuti / Ha¥fd gRT 3R IHaRd

4, Mricchakatika by Sudraka / J&® gGRI G cdl

Correct Answer :-
« Saptasati by Hala /8Tl TR gl

9) What is the standard sea level pressure in millibars? / ATF® TH%] &R T g4 AfER

AFTEare?

1. 1000 millibars /1000 fHER
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2. 1100 millibars /1100 THIRTER
3, 1013.25 millibars /1013.25 fAfcER

4. 1025.00 millibars /1025.00 FAfeER

Correct Answer :~-

« 1013.25 millibars /1013.25 fAfRER

10) When was the National Human Rights Commission constituted? / ?Tgmﬁ'ﬁmﬁlw
ST BT TS B foam 412

1, 1992
2..1995
3. 1996

4. 1993

Correct Answer :-

» 1993

11) Why should social science be a part of a core curriculum? / mmﬁlaiﬁmqaﬁw

HET UTushH b1 g <l gir =nfeq?

1. Helps to develop critical thinking / T8 TId ! 3 Rid H H Heg w1 8|

2. It deals with human behavior / T8 HId IdgR I I TId g
3. To develop awareness of the world / ﬁ%{ P! SREDdl B fABRId H b ﬁ'TQ [
4. To develop the country / %1 P! f[dp g H & |

Correct Answer :-

« Helps to develop critical thinking / TTg e P! fge g w31 § Heg Hrar gl

12) ‘General Ticket System’ is another name for ./ S Rd fewe gurrett Ca|
TRTAM I

1. Multi-Member Constituency / Sg-ta¥d fyafem &=

2. Triple-Member Constituency / -0 fafea gew
3. Double-Member Constituency / fe-acw fyafem &=

4, Single-Member Constituency / Uh ¢-Hq¥ IBEIEREAES

Correct Answer :-
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« Multi-Member Constituency / dg-Ha¥ ot &=

13) Discussion method is also known as: / GR==IT qaﬁ"f Gal I ¥ Y @1 Sran %:
1. Project method / PIERITEN Tl

2. Holistic method / JUIATATG! U&idl

3. Socratic method / W’cﬂ tl?sd%f

4, Activity method / fohaTeray ugfa

Correct Answer :-

« Socratic method / W'IT‘F[ ggid

14) Observation of one’s own behavior by looking within is M s
ERT Y & Witk SR WU & TagR DI o S cl

1. survey / Tdeur

2. experimentation / T

3. introspection / SRIgAIH
4, rating / e

Correct Answer :-

« introspection / SRIgAIH

15) Who among the following is associated with the perspective of “Education as Social

"[:rs'msfo%mation”? / ﬁ;rl%rliﬁ?r - | aﬁq “HTHTITS uﬁa?h > *q | ﬁT&I’I” EL3l Ef@ﬂﬁ'ﬂT 3

1, Mahatma Gandhi / T&THT el

2. Dr. Radhakrishnan / ST, JUHUH
3. Jacques Rousseau / GG UH Ea3|

4., Paulo Freire / mﬂﬂ%

Correct Answer :-

« Paulo Freire / UT3dI ﬁﬂi’

16) Who among the following issued the founding charter of the English East India

Company? / FFraferfaa # & feram st s $fear st &1 Swumue arde ot feam?
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1. Elizabeth 1/ TlTSIISY I

2. James 1T/ SIRT 11
3, James I/ SR 1
4, Charles I/ TTcH I

Correct Answer :-

« Elizabeth I/ TfeToTeY I

17) Who was the Sultan of Delhi at the time of establishment of Vijayanagra empire? /

TR |rTSg # RITT $ I9Y e &1 Joa™ &1 A1
1. Balban / dcfd-

2. Qurtub ud din Aibak / $IS-3G-a1H Uadh

3. Razia Sultan / ST e

4. Mohammad bin Tughlaq / HIgHe foF Trai®

Correct Answer :-

« Mohammad bin Tughlaq / HIgHE foF TTai®

18) Who was the first President of the Indian National Congress? / YRda TI'ETH FIOT P
TUH HHE DI A2

1. Womesh Chandra Bonnerjee / SR T5 S0l
2. Badruddin Tyabji / SCBEI agesil

3. Bipin Chandra Pal / fafoe =i gra

4. Lala Lajpat Rai / Tefl cIlsiYd <A

Correct Answer :-
» Womesh Chandra Bonnerjee / R I F0I1

19) Who remarked that ‘our secondary education remains the weakest link in our

educational machinery and needs urgent reform.’? / foae feuoft ot fe BTIT\& HrAti®
Rrem, gur) A T &) Tad FUER TS § R 3N THTd GUR D1 TaLgwdl

g1
1. Dr. Rajendra Prasad / EIRISE- AR
2. Dr. S. Radhakrishnan / 1. T, JAYTHUA
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3. Dr. Ambedkar / €. HESH

4. Maulana Abul Kalam Azad / HIGlTT Sl D dH 3Hellq

Correct Answer :-

« Dr. S. Radhakrishnan / €T. Y. YT WA

20) Inquiry-based Learning is based on which philosophy of education? / 3G 3Tt

rfrm, fRren & fory i W enenfya 82
1. Realism / GUTYATG

2. Idealism / 3TGRIATG

3. Existentialism / 3{f&i@dlg

4, Naturalism / E@—ﬁﬁlﬁ
Correct Answer :-

» Naturalism / E@‘ﬁ'ﬁﬂ?

21) India signed a 20 — year ‘Treaty of Peace and Friendship’ in 1971 with L HRA A
1971 ¥ w1y 20 gy <wrifa R R WP W gwamer

1. Sri Lanka / 91 @epT

2. Bangladeshf@'i‘?l'l%ﬂ

3, Soviet Union / Tifadd I9
4. US/ 3MAR®T

Correct Answer :-

« Soviet Union / Tifdad TY

22) is a body of the United Nations composed of all member states. / g

Y T 5HTE & ot 9t e et @ it B

1. Security Council / gR&T IRYE

2. Economic and Social Council / WEWW
3. Trusteeship Council / gt ufRug

4. General Assembly / HETHHT

Correct Answer :-

» General Assembly / HETHHI
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23) The benefits of Green Revolution in India were limited only to ./ HRA A gid

Hifdd AU BIT P Gifdd |
1. Wheat and rice / ﬁﬁ 3R =rad

2. Barley and jowar / ST SR SR

3. Barley and cereals / Si 3R 3T

4. Rice and barley / ITdd 3RS

Correct Answer :~-

« Wheat and rice / ﬂg 3R araa

24) The head of a guild in ancient and early medieval India was called ./ U SR
URTYS T URT O U WY & UgE &I HET STaT YT

1. Adhikari / BRI
2. Adhipati / 3ffergfd

3. Gahapati / Tlﬁ'clﬁ
4, Jethaka / ST

Correct Answer :-

o Jethaka/ @?ﬁﬁ

25) The study of fossils as a way of getting information about the history of life on earth and

structure of rocks is known as: fﬁﬁﬂ“ﬁﬂ%?ﬁ?ﬁl ﬁ?ﬂ?ﬁﬂ’ﬁma’?ﬁ'ﬂﬂﬁ
ISR T T3 $1 TP 91 & U 3§ Saredl o1 ea- 98 Feardl o

1. Ecology / ECAGIS

2. Geography / St

3. Paleontology / BINNIEENISI]
4. Geology / forararsit

Correct Answer :-

« Paleontology / BINEIEE RIS

26) The thickness of the Troposphere is maximum at the Equator during which of the

following seasons? / ?;[FIW-Q'@T TR &HATESH @ﬁﬂﬂ'ﬂ?} @t nﬁaﬁﬁu H 9 fpa dm |
ey 31f Bl 82

Page- 41



1. Winter / SiidepTel=
2. Spring / aId

3. Summer / YTSH@HTAN
4, Autumn / [RG BJ

Correct Answer :-

« Summer / WTSHBTAA

27) The value of final goods and services produced in an economy in a year is known as
./ T ay  fopeft sreforawyt o Sarfea sifaw awgait sz Aarsit & gea &1
& U H S AT gl

1. Per Capital Income / ufd 1ZI‘,‘Trﬁ A

2. Gross Domestic Product / b ¢ H\QC;L\:ICHIG

3. Gross National Income / 9 ?1@?1 3

4. Gross National Product / §bl 1T IUTG

Correct Answer :-

« Gross Domestic Product / Hchd bl\{(j\dd-lld

28) Objective-based teaching is suggested by: ;’G%Q'CI'-GITEH'F\’T'I fRregor WWWW

1. C. Norman /@f. flﬁ?
2. D.W. Allen / 8. 89, TeiH

3. Benjamin S. Bloom / ST T, &TH
4. David Crowder / Sfd8 HISR

Correct Answer :-

» Benjamin S. Bloom / aﬁﬂﬁl:[@ =TH

29) Which one of the following is a disadvantage of Inquiry-based Learning? / fafafaa #
A I SAYUI-TUTRG TRATH BT T 14 52

1. Promotes a deeper understanding of content / RIEDIEIE IEQI% a FFIET:T & %E{ URd ®ar %I

2. Involves a lot of preparation and planning time / I8 EIEHFRFT Oy SR G gAY 2
HRAT g
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3. Builds initiative and self-direction / Ugd 3R STH-[RMT BT YR & & |
4. Warms up the brain for learning / SHTRTH & fore Afkass & ITed Hdl gl

Correct Answer :-

« Involves a lot of preparation and planning time / d6 a@ﬁﬁlﬁ JaRY 3R IieH gHg i
FRATT

30) Which Finance Minister of India initiated the New Economic Policy (NEP)? / YRA &
o fa ol = =18 enf¥fes Hifa (@gth) 3t y=ema

1. Morarji Desai / ARSI aﬂ'lg

2. Manmohan Singh / JF@EFH%B’

3. CD Deshmukh / TS} S¥E

4. TT Krishnamachari / €1 Q’TNJTJ:I'_ﬂlTﬁ

Correct Answer :-

« Manmohan Singh / TTHIg4 &g

31) Which plan discussed in detail the food security in India? / HIRd § WTEl & & forg

g gieAT R R 9 =i g8
1. Fifth plan / Gigdl Qo

2. Eighth plan / 3{T&d] TS

3. Sixth plan / B! Al

4. Ninth plan / F1d1 G

Correct Answer :-

« Ninth plan / 714} TS

32) Which Article of the Constitution of India empowers a citizen the right to move to the
Supreme Court to enforce Fundamental Rights? / HTR® & SfqeT Cakankil Glﬂ%ﬂ Tdh
AR B Aifere eI @1 yafda w3 & R wat= =marea & 9 &1 SifteR 3o
??

1.37
2.39
3,33

4.32
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Correct Answer :-

- 32

33) Which Article of the Indian Constitution provides for an independent Election

Commission? / HRTT AU HT S 4T WWWW WWW%‘?
1. 323
2. 327
3.324

4, 325

Correct Answer :-

« 324

34) Which of the following is not applicable to Micro Teaching? / FraferRaa # & 19 gem

Rrgror @Az AfeiT) W) ang e 82
1. Immediate feedback is not gained. / dchTcl uﬁg@ 1] 1¥5} :lﬁ fﬂ?ﬂ % [

2. Duration of instruction is limited from five to ten minutes. / ﬁéﬁl DI 3fafd T I gy e
& it gt |

3. The size of the learning group is small. / ST HIE b1 MThR B8 gl
4. Teaching is carried out under controlled conditions. / ﬁT&I’UT ! g ukRufaal ® o Srdn %I

Correct Answer :-

« Immediate feedback is not gained. / dehTcl ‘;I":CTE{@ YTt :I'éaf E?l_rﬂ %I

35) Which of the following dynasties had the longest rule? fﬁﬂqﬁ'@ﬁ & fora Iroraw
BT AP TG el UT?

1. The Pratiharas / UI%IE'R

2. The Palas / Ulcl

3. The Senas / ST

4. The Rashtrakutas / XT§p<C

Correct Answer :-

e The Palas /Ul
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36) Which among the following Viceroys was associated with the Ilbert Bill Controversy? /

FraffRa % @ o9 91 aaeRE saad Jd [{are S 91 91
1. Lord Riponf?l%ﬁ'qq

2. Lord Lytton/ T8 fored

3. Lord Curzon /@IS doid

4. Lord Hardinge / ﬂﬁsﬂé_ﬂ

Correct Answer :-

« Lord Ripon,’?lﬁﬁ'qq

37) Which among the following is a major obstacle to economic development in India? /

fFraferfaa & @ o urd # enffe e & R ve wE a1 @2
1. Low productivity / BEERIEED

2. Low level unemployment / 19 TR B SRISFIRT

3. High literacy rate / 3= HI&RAI G

4, Increased GDP rate / b ¢l ‘Eﬁﬁ‘m X ﬂ'@@

Correct Answer :-

« Low productivity / & Saraear

38) Which among the following is a commercial bank? / Frafafaa # 9 o9 e ot
dT 72

1. State Bank of India / HRlIg < i

2. Regional Rural Bank / & ymior S
3. Reserve Bank of India / HRaTT Rord d
4. Cooperative Bank / ﬂ%ﬁb—lﬁ%

Correct Answer :-

« State Bank of India / HRAIT KT §b

39) Which among the following Mughal emperors prohibited the use of tobacco? /

Frafafea # 3 59 gora ure 3 aw@rg & U & ufastia fear ar
1, Jahangirfﬁﬁ'i"'ﬂ?

2. Babur / d[6¥
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3. Shahjahan / QTESTEI
4. Akbar / ShdX

Correct Answer :-

. Jahangiri’\_rlg'l‘“?

40) An effective teacher tries to make the class room environment more ./ Gh

UHTAT &1, H&IT P ITdTaR0T B 3R 3RS CEIGIE
1. democratic / ABdIAPD

2. autocratic / ﬁ?@_ﬂ

3. strict and rigid / 9% 3R TR

4, anarchic / 3RS

Correct Answer :-

« democratic / NIEGIEED

41) The silver coin introduced by Sher Shah and continued by the Mughals was : IQTF{I'IB' 1R

wraferd farar T SR gere gRT SR AT T wid) o1 RiawT o
1. Rupaya / 2Ud]
2. Asharfi / 3=TPT

3. Muhar / 9I8%
4, Dinar / E“'_'|R

Correct Answer :-

« Rupaya / 304l

42) Many of the social problems in modern India could be due to the neglect

of: / MY URd A B3 IS TS BT RO A T IUE 8 THhdl 8
1. Higher Education / 3&aR fR1&f

2. English education / 3ot fRre

3. Value education / 3TERf fRref

4, Technical education / Tep-1eh1 [RI&T

Correct Answer :-

« Value education / 3Te=f fRram
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43) Who has the power to recommend the dismissal of the State Government and suspension
or dissolution of State Assembly? / I5T TRPR $ g@I&H! 3R Is7 g1 &%
frciae a1 fdge= 3t RiwTier o= 31 i fead T 82

1. Prime Minister / T&TTHAT
2. Parliament / §I¢

3. Governor / 4T
4, Cabinet / Bfac

Correct Answer :-

« Governor / YISYUTel

44) Who is considered the father of Green Revolution at the world level? / fa%a WX 'CR'Bﬂ_d

wifd & S 58 AT S 82
1, Thomas Malthus / UTHY HIeAH

2. Norman Borlaug / A FRAM

3. Cecil Salmon / §RTE VTHA

4. William S. Gaud / fafera @9, s

Correct Answer :-

« Norman Borlaug / AT SRAT

45) Which of the following reason is responsible for highest percentage female migration in

India? / HIRA § AledT YaTH &1 I=dH Ufa=Idar & foe Fafafed # ¥ o9 a1 sRo
IR 82

1. Stability / RN
2. Employment / SRR
3. Marriage / f[darg

4. Education / TRT&T

Correct Answer :-

. Marriage / faarg

46) The “Helmand Province” of Afghanistan is famous for cultivating which of the

following? xﬁaﬁr@ﬁﬁﬁﬁmﬁ@?ﬂﬂfﬁmewﬁmﬂm“émw’m%ﬂ
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1. Opium / %19
2. Wheat / ﬁ—g
3. Cotton / hUTH

4, Tobacco / AdTH

Correct Answer :-

o Opium/ 3B

47) Lal Bahadur Shastri's Samadhi is also known as: / TT¢1 dgIgY AT DAY BT 59
A | Wt ST ST B

1, Shakti Sthal / ITeRT FI
2. Shanti Van / Qlidia-

3. Chaitrabhoomi / feIHH(S
4. Vijay Ghat / fawrg are

Correct Answer :-

« Vijay Ghat / fawrg gre

48) Every year the government announces the prices of agricultural goods as a backing for

farmers’ produce is known as ./ UP TY TRPHR fHAT B U & WA & =7
W pfY TSl & BIvdl B Tyon Sl 7, B SIS gl

1. Limit price / g He

2. Base price / S{IYIX He

3. Exchange price / AR &=
4, Support price KWW

Correct Answer :-

« Support price / e HY

49) How many countries of Southern Africa make the Southern African Customs Union

(SACU)? / &fefolt SrpieT & fha ¢ firaev gfémft bl I Jew g (SAcu) &1
fafor e @

1.3

2.5
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3.4

4, 6

Correct Answer :-

50) One species of Coffee called Coffea charrieriana is free of Caffeine. In which of the
following countries Coffea charrieriana is grown? | BIBT BT Udh ueITTe ford

PG IRRINATT g1 AT 7, O A gad gl g1 7o 3 & fovw o ¥ sroradifiamn
YIS et 82

1. Vietnam / faga=ma
2. Yemen / GH1

3, Cameroon / pHE
4, Liberia / A3

Correct Answer :-

« Cameroon / HHE

51) CANCELLED

SEBI stands for AN SEBD FTfaRga w81

1. Securities Exchange Board of India / RIS Taaeis I8 8t gfear

2. Securities and Safeties Exchange Board of India / IR U8 AT UaTeisl q1S 3fTh
e

3. Securities and Stocks Exchange Board of India / ERIRGI] s E'U@Qa"\q%ﬁ S 31H sfgar

4. Stock Exchange Board of India / E’Tﬁimﬁ q18 3T sfgan

Correct Answer :-

« Securities Exchange Board of India / Raafids QEFH%IGT IS 3 Q%HT

52) A variety of pedagogies that involve students in discovery or research and
employ approaches of learning is called ./ fafis yeR & oy s
BT 1 it Tt a1 ST & WG HRat 2, SR eﬁ?afm%ﬁaﬁwaﬁﬁu’lﬁa

PG, pgaargl
1. Problem based learning / THT ST ST

2. Learning from observation / SHAAIH GIRT ST
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3. Inquiry based learning / 3AYUT STTRG SHferTH
4. Pedagogy of learning / 3T BT Rigrur=me

Correct Answer :-

« Pedagogy of learning / 3{fORTH T fRI&UTITT

53) Barak valley in Assam is famous for which among the following? / Frafafea & 9 e

B W urel frws fog w82

1. Bamboo Industry / T SN

2. Petroleum Production / ﬁg’rﬁ‘-mn 3dlgd
3. Cottage Industries / ?(ﬂ? CEI

4. Tea Cultivation / T ] el

Correct Answer :-

« Tea Cultivation / dIg CARERII

54) Which Unit/Scale is used to measure the ‘thicknesses of Stratospheric Ozone layer’? /

‘éa?ﬁmeﬁvﬁqmaﬂﬁm’aﬁnmﬁaiﬁqﬁmw@ﬁwﬁmmﬂﬁm
ST §?

1. Melson units / A9 W’&?ﬁ
2. Beaufort Scale / 3‘155-1% YA

3. Dobson units / SIST 3BTl

4, Sieverts / ?ﬂa'é

Correct Answer :-

« Dobson units / S 159 SHTAl

55) Quit India Movement was launched in the year . HRAT ?9:\3-1 3figra Y
T 3= forar 4T AT

1. 1945
2. 1942
3. 1930

4. 1919

Correct Answer :-
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56) What is the approximate interval between spring tide and neap tides? / §gd SdIR-HTCT
IR Y SAR-HTST & &9 AT SiavTer & 32

1,30 days / 30 f&1
2. 1day/1feT
3.7daysf?ﬁ7'f

4,15 days / 15 f&

Correct Answer :-

. 7days/7Teq

57) The Lion capital at Sarnath belonged to which one of the following Kkings? / ARATY B
Rig Twrurht Frafiea § 1 e e 9 et 0

1. Vikramaditya / faspmTieed
2. Kanishka / B 5H

3. Ashoka / &I'-i’hﬁ

4, Ghatotkacha / Teicp

Correct Answer :-

« Ashoka/ &I'QW

58) In which layer of the atmosphere is Ozone gas concentrated? / ATJHSH B frd IR |

S T Hfoa 2

1. Asthenosphere / TRARD IR
2. Stratosphere / THATUHS A

3. Ionosphere / 3TITHS

4, Exosphere / SIRIHS

Correct Answer :-

« Stratosphere / GHATTHS A

59) Chalcolithic Age is also known as: / ATABITCI U g @t 39 &9 H Wt S S e
1. Neolithic Age / AT g
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2. Copper Age / dT¥ gTT
3. Stone Age / YTHTUT ]
4, Iron Age/?ﬁ'ﬁ"{ﬂ

Correct Answer :~-

» Copper Age / dTH gTT

60) During the reign of which of the following Mughal rulers, did Ahmad Shah Abdali
invade India for the first time? / TR & I f5ud Ie-oa & gira Ama® 3gdq
T 3fegTall 3 Ugell IR HIRT U SATHHUT fohar T2

1. Jahandar Shah / STGIGIR 218
2. Shah Alam II / RITg 3{TeTH 11
3. Bahadur Shah / §61gX X6
4, Ahmad Shah / 3{gH¢ XTg

Correct Answer :-

« Shah Alam II / ®[Te 3ATTH 11
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PROFESSIONAL
b Profecslond EXAMINATION BOARD
@bgmnouom Middle School Teacher
Eligibility Test - 2018
26th Feb 2019 2:30 PM

Topic:- Child Development & Pedagogy (CDP)

1) If a child has mental age of 12 years and chronological age of 10 years then his IQ will be

_ ., afe fpeft 9= Y aeiie oMy 12 9 § SR STArse e 3y 10 a¥ § @ IWHT
TRy (gfSwem) __ grm

1, 80
2. 120
3.125

4,100

Correct Answer :-
« 120

2) Gray matter of the brain that controls IQ and memory have greater volume in learners who

./ & SR [ia o1 Fefa w1 aren afsrss &1 9 3, Rrenfiay o
3ferep A A gia B

1. get sufficient sleep/ A i o= are

2. take healthy diet/ TR STER T aTel

3. avoid stress/ T1d 9 g9 a1dl

4. exercise regularly/ e U 9 saIH HRA ard

Correct Answer :-

« exercise regularly/ Faffd &Y ¥ A H ard

3) The is one who is more open, accommodating, venturesome, outgoing and pretty

conﬁc%ent. /T8 & S iftre gar, fremar, Soasita, S99 i S1wl ey
qrar 81

1. Introvert / &Iﬁﬁ
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2. Intro-extrovert / Hﬂﬂ@- Tq’i%ii{cﬁ
3. Extrovert / a%ii{gﬂ
4. Ambivert / mﬂﬂﬁ

Correct Answer :~-

» Extrovert / El%ﬂ"‘@ﬂ

4) Obsessive-compulsive disorder (OCD) can be successfully treated using: / w—w

faor (3NN &1 awaaryd® s A ©1 SUURT BRP {1 o JadT °:
1. Cognitive behavioral theory/ S3TTH® AR Rgid

2. Massage therapy/ HHISI Rt
3. Antidepressant medication/ U cifende gar
4. Systematic family therapy/ UG UiRaR AR

Correct Answer :-

« Cognitive behavioral theory/ IIMTH® Ad8R Rigid

5) Which is the SECOND step in the problem solving method? / T gaTyT fafer &

GERT )T BI AT gl g2

1. Formulation of hypothesis / uReegrel &1 fHeuu

2. Testing hypothesis / TR& a1l &1 URI&0T

3. Recognition and definition of problem / JHIT &1 SR 3R afeum
4. Conclusion / T8

Correct Answer :-

« Formulation of hypothesis / TR@eIAT3{l BT fAReT0T

6) What part of our memory stores events that happened in our lives? / EHTSI F[ﬁ"f Cak-an|
1 fEw gaR Sitaw # ufed gemrsi o1 UsR 82

1. Episodic memory /W @{ﬁ[

2. Procedural memory / WF{%
3. Semantic memory / E]Fcﬂ?f@{l?r

4., Declarative memory / YIS '\‘Iﬂ%f

Correct Answer :-
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« Episodic memory / URifTe F{ﬁ[

7) What is the first stage in moral development according to Kohlberg? /

PIga & SIAR Al faeTa # ygar @Rur w1 82
1. Preconventional morality / Qﬁ-mﬂﬁ Afaesdr

2, Periconventional morality / T RERTTT Afdwan

3. Conventional morality / OX¥TRITd Afear

4, Postconventional morality / HR<-UXHIRT e

Correct Answer :-

« Preconventional morality / Jd-ORVIRTTd Aferepar

8) What is the term Freud used to describe his theory of the structure of the mind? / s

5 Ue &1 IUTNT 74 B} WA & U+ Rygia &1 aui| $3+ & fore fman?
1. Consciousness laﬂ:ﬂ

2. Iceberg / W
3. Libido / feifaraT

4. Landscape / dehy

Correct Answer :-

« Iceberg/ @m@f

9) What social motive is characterized by a need to control and influence others? /

%ﬁ%ﬂgmﬁﬁﬁw,gﬂﬁaﬁﬁﬁﬁamﬁaﬁvﬁwﬁamﬁaﬁmm

1. Power / I
2. Achievement / G'CIT'I'@[
3. Affiliation / &Y

4, Purpose / G%Qq

Correct Answer :-

« Power / qfad

10) Parents who believe in punishing the child show ./ 3 Aral-fudr of = &1 éfSa
FHARYyE e, axfarsl
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1. Uninvolved Parenting / 31&g (MG ¥ I F TS §3HT) TGRS
2. Permissive Parenting / ﬂﬂjﬂw TRAR

3. Authoritative Parenting / BTN G TR

4. Authoritarian Parenting / S{fPRATE TRaRT

Correct Answer :-

+ Authoritarian Parenting / HfUBRATE] TRaRET

11) At what age does the child start to show an understanding of the language? / ST o

IY H YT & A T e FR a2
1. At birth / ST &

2. At three months / I Tl_sﬁe[ [° 3
3. At six months / 9 n%ﬁ 1°03
4, At nine months / :h ﬂ’eﬁef 1°C3

Correct Answer :-

« At six months / 9: q—@"ﬁ 1°03

12) Which is not the principle of inclusive education? / P-1 FHTasht Rren @1 Risia
TEIR?

1, No discrimination between learners /&f&lTﬁIﬁ[ I Elﬁ".i: ﬂﬂ'ﬂ-ﬂﬁ :|B°f

2. Separate classroom for special children /foRIY sl & forT SrerT Fam

3. Equal educational opportunities /HHI Afdfe AR

4. Catering needs of the all children /At = Bt WHUTH et SReRd! BT T W@l

Correct Answer :-

« Separate classroom for special children /[IRIY Sl & feTT ST H&T

13) Which of the following is not a factor that will protect a child against stress? /

Frafefaa & & &9 91 U6 98 $RS 781 & Sl 9971 & [0og Te 9= $ &1 B2
1. Family / URAR

2. Intelligence / g@‘
3. Authoritarian parenting style / HTTYHRATE! GRARKT it

4. Peer relationships / TgHHI =
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Correct Answer :-

« Authoritarian parenting style / SMTAHRATE TRaf=r el

14) A 12 year old child understands that the weight of a table remains the same whether it is
right side up or upside down. What concept has he grasped? / T 12 HI DT 1 g
mmgﬁsw;aaﬂmaﬁﬁm%,aﬁaaaﬁeﬂ?ﬁmmﬁlwﬁﬁm
R HHATR?

1. Conservation / HR&0T
2. Inductive reasoning / ATHATHSD GEg
3. Object permanence / aﬁwm

4. Hypothetical reasoning / TRefetd ad

Correct Answer :~

« Conservation / G3&U[

15) According to Psychosexual Developmental Theory, fixation to which of the following stages

results in dependency? /ﬂ*ﬂﬁﬁﬂi‘ﬁﬂﬁ—mﬁ@ﬁ* SR, G IGIEER] Srawyre # O s
FrafRor (=) 3 ARar & gur gar ez

1. Anal / T[T (GTa)

2. Oral / T (3Ra)

3. Latency / QYT (Sre)
4, Phallic / diffTe (Wier)

Correct Answer :-

. Oral /HIfES (3R

16) Growth always corresponds to the age of the child. This is because of the principle of Vi

o s = P SU A A @WaT 21 9% P Rigia & PRUT TR
1, Continuity/ﬁl'éﬁ?_cﬂ
2. Uniform Pattern / UHHH e

3. Integration / TP
4, Individual Differences / W forerar

Correct Answer :-

¢ Uniform Pattern / Waﬁ

Page- 5



17) Which of these is the best way to improve problem solving skills in primary school children? /

Wi faemaa & s= ® IuwT FaRu S1Rd & GUR 1 BT 99y 3T adiel :1 8?2
1. Solving mathematical problems. / IO THEE3T T FHIUH ST

2. Find solutions to problems that they face in their daily life. / 3 THET3M &1 JHIYM Wi, o1 d
3T SRS Siae H I HRa B |

3. Talk about their problems to peers in the class and the teacher. / B! TS & TR H BT H Tgurat
3R fRi&fe A 91 AT

4, Apply steps of design thinking process and engage with community around. / 9 Pt ufehar & WR o
6 AR ST AR U & THE B 1Y T BT

Correct Answer :~-

« Apply steps of design thinking process and engage with community around. /BT AT TR d
TR ) AR HRAT 3R SATUTE & TSI b I I BT

18) believed that personality develops through a series of stages and the effects of
childhood are long lasting. / &1 AT AT & Aafdad, TR &1 U §adr &
A1 @ AR 8iaT € SR 9999 & YYT9 99 999 a9 84 &

1. Albert Bandura / 3feac TSIT;'RT
2. Jean Piaget /Gﬂ:f o
3. Sigmund Freud / Rprds wios

4., Lev Vygotsky / INE] aﬁ’ﬂ?\qﬁ

Correct Answer :-

« Sigmund Freud / RITTHE WIS

19) The term normative development indicates: / PGS faHRT reg ioa wear &:
1. Rate / &%

2. Extent / G

3. Direction / TGS

4, Distinctive qualities / fafry 01

Correct Answer :-

« Distinctive qualities / faf2T 701

20) When environmental influences coupled with cognitive factors are responsible for learning, such

a learning is known as: ;aawhwﬁﬂm WW%WWW%%’Q
ﬁlﬁm?ﬁ%%,?ﬁsﬂmamﬁ%mﬁﬁmwﬁmm%.
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1. Operant conditioning / IO PHaI=FT

2. Trial and error learning / U 3R 'a'f?:’ ST
3. Social learning / STHTTG SHfETH

4. Classical conditioning / FARTG A BT

Correct Answer :-

« Social learning / THTID HTATH

21) As a future teacher, you will need to and connect with roomful of diverse
students. / T YTAT R1&/® & U ¥, 3Mueh] P razadar gift 3 At ot
P BT P 1Y ST BRI

1. Deal / Bl

2. Connect / qaﬁ

3. Understand / JHS

4, Collaborate /HE'C?I‘T

Correct Answer :-

« Understand / JHHA

22) Which of the following is not an example of critical thinking skills? / mﬁﬁﬂﬁq—
T T1g i I=Te &7 TP IS8R0 T8l 22

1. Improvising /A Tel TR H]
2. Classifying /ﬂ"‘f@_d DAl

3. Tracking /CI&ATIHROT

4. Describing /UTRHATHD

Correct Answer :-

« Improvising /dcPTe dUR BT

23) When children recognize that each individual is aware of other people’s thoughts and

feelings, then it is called:/Sid = Yg 'CIEEI'FI?I' %ﬁ? Wﬁﬁ'\‘ﬁ' iU ﬁ?ﬂﬁ Gﬁ'\"
HTGTSHT | ST ©, df g PoT o1l &

1. social information role taking/ WW ’ﬁ[ﬁlﬁ Nl
2. social and conventional system role taking/ﬂTFﬂﬁiﬁ 3R TR TuNTe &bt ’i&ﬁﬁl?ﬂT
3. self-reflection/ 31TE WA d (Heth-RURTEaR )
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4. mutual role taking/ 3ot ’-jﬁ-ﬁ'ﬂa:ﬂ

Correct Answer :~

« self-reflection/ 3 ufafds @HF-WH)

24) Why do we have culture-fair tests for intelligence?/ THIX U gfawr & ferg dwpia-
frogar aderor i 32

1. Intelligence tests should free of differences in language and education./ @@qﬁT Utem , HIYT

3R 18 % 3iR F Gad g MR
2. Cultural understanding is a part of intelligence./ Q—Ii%qvfadv Sy gfe& P TS BB
3. Intelligence is culture-dependant./ @@' m@ﬁﬁfﬁ-@ﬂ TR 81
4, Intelligence can evolve/ g@ﬂmaﬁﬁfﬁﬁmﬁm EIRCIE

Correct Answer :-

« Intelligence tests should free of differences in language and education./ g@ﬂ?ﬂ gtem , HIHT
3R e & 3feR ¥ Yo g A1gul

25) Which of the following determines the impact of failure in school performance? /

At & @ F19-31 fauea uex= A srwadar &1 yuTa FAeia sarg?

1. Time allotted is more than what is actually required to finish the task / 3Tdfed THT 3 Cankes
3 & S arad & BT R A & 1T TS & |

2. The pattern and setting of task / BT BT Ui 3R Ta=IT

3. The Challenge - what the children asked to do—which is not engaging or relevant. / Ef-?l_cﬂ -
el I Sl H o [T Bl IT - STy a1 Urifes =18 3|

4. Level of easiness in the task / BT & JTHAT PR

Correct Answer :-

« The Challenge - what the children asked to do—which is not engaging or relevant. / ?J_::HE'H -
el Y Sl B & [T BT 7T - iy a1 Uifes =181 8|

26) A learner is an intuitive learner if / 9f¢; U Rremdf wgwr = gord 2 a1 98 AT

1. They notice the big picture, see how everything connects. / J 931 TR gEd %, 3R NEE 23]
Siie+ &1 UfehdT 1 SEd |

2. They pay attention to concrete facts and details. / q Hﬁ Tt 3R favol IR & ad %I
3. They focus on the reality of how things are. / 3 T1o| PUT &, TP ARAGHAT TR &M < &
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4. They like to describe things in a specific, literal way. / 98 oioll ! fafRTy, RIeaxT: (I RSKCECE |
P BRI B g |

Correct Answer :-

« They notice the big picture, see how everything connects. / a’ﬁlﬁ TR oad %:, 3R qd 9D
SiTeH &1 Ufehal &l GEd 5 |

27) Which famous professor proposed that children move from a position of egocentrism to

sociocentrism because of social interactions? / f& g Flﬁl?si MR 3 ‘Jﬁfqlﬁ?[ o fEra=
HTRTES Tael & HROT, TP 3 (AT & TR B 3R g¢d 82

1, John Dewey / Guﬁﬁ_ic

2. Lev Vygotsky / NEEIEYIREd)
3. Jean Piaget / i< fogrs!

4, Howard Gardner /E'Iﬁé MER

Correct Answer :-

+ Jean Piaget/ i s
28) CANCELLED

Which of the following is an incorrect advantage of problem solving method of teaching?/

frafafaa 3 @ -8 Rieor 3t guw & ga w31 $1 [ &1 7aa Ty 22

1. All disciplines cannot use this method to solve a problem / Tt ﬁﬁw Y U?’s{ﬁl BT STIRT JH=T
1 A B P fore Tel PR @ ol

2. Learners participate actively in the process/%ﬁﬂmﬁm&mﬁ(ﬂﬂri} Tfehg 0§ U od
gl

3. It makes the learner interested in the learning process/qﬁﬁT&ﬂlﬁ(W) P STITH P Ufeha
¥ et fRamar g

4, Evaluation of learning using this method is easy /ﬁmﬁwaﬂe{@ ST BT
e 3 81 S ¢ |

Correct Answer :-

« Evaluation of learning using this method is easy /@U@%aﬂwaﬂﬁ@ S{TRTH BT
i ST 8 ST g |

29) CANCELLED

The diagnosis for children having problem in word finding is iif gl H eg Wi Bt

FrETHIfeE_ garel
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1. Dyslexia / fexafaaar

2. Dyscalculia / %‘\%ﬂm
3. Dysnomia / e

4, Dystopia / f&wiftan

Correct Answer :-

» Dysnomia / feafaan

30) CANCELLED

Who described a phenomenon called horizontal decalage? / aﬁl\_rf %WGITQ WEIET-ITWH'U&-[
o= fora?

1. Erikson / a9
2. Piaget / 0TSl
3, Freud / TP[E

4, Vygotsky / A3V

Correct Answer :-

« Piaget/ IERIE

Topic:- General Hindi (L1GH)

1) 33 PO an, S0 frar aft,
ared fow 3me §

AN W-WR AT &
arft A e §
STHHT WY T 3@ at
TR I@ I, W@t
Pt 9IGd aFP g at
A% won F WA B
AU ACE

Tg TN AP TS
WY AR, Lad grars
¥ forg, arbet R

Page- 10



forg, el A Tawx o

ftpY & oReRiT wigH, g,

GRR:REC I

ST TN HI YSHY A TP oH 9T U= BT I} garse|
TR HRIT BT =TT FT 82

1. THTAR 3R GeR AT

2. TR A PIS e

3. Had R

4, PaA TIER

Correct Answer :-

. JHAER 3R TR gHT

2) 3o fFar e, 35 farT $n,
a1qe fiR Mg §
WR- N AT &

areft 3 e
ITTAT YR 4T 34

SR IW N, SWIW

T Y@ ¢ IHS-YHS B

P ged aP 3@ ot

A TN # R Y
Y A F

Tg TN AR 3§

| AR, e qRarg

& g, arpal ¥

fore, ol @ gawR o

% & Wt wgH, 9,
W e

I TR B UeHR 1Y TS 9H aTd U BT Ik I8¢
W UR BT WTaTdT Weg 9T e 22
1.6

2. 1Y

3. Aoa
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4. fF=mafa

Correct Answer :~

3) 3o [ 3N, 9o fFar o,
STed iR 3y &

WM AT F
arft 3 e §
SITHAT YR 4T &4
W@, JW @ at
T TR € IHS-YS B
PIA gIed P @ at
A% o & R B
AT A E

g =M AP 318

I YR, Mad Rarg

o forg, ardpat Y

forg, el & gawR o
R 9 W&t g, T,
RN w e g

Iue Ui B UgHR A9 IR WA a1 YR BT I« I8¢l
W 1gd frad Ay ¥ 2
1. feum &

2. {9 & URAR

3, &dl

4. TG &

Correct Answer :-

. [PIAF

4) 3 fpam 3N, 3o fa i,
gea RR ey &
WER-MRIEAT S

A A e F
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STHAT U 74T & at

SR @, SIW@

T T € SHS-YAS PY

FTot gIed a-iP @ at

A TN & R BT
AL A E

TF WS AP TS

I YR, MNad [Rars

A forg, srpa AY

firg, el A Taex s

e & el urEH, 9,
Rwamgg

ST U= $I UeHR A7 IR T a1d ¥=H BT I Faqzy|
W QRATS’ BT 31 T gt 82
1. UF3H Pt 3R T arelt gal
2, GlEr BT SR =eq arell gar
3. Jd &1 3R I g7 arelt gal
4. IR B! 3R I arelt gal

5) 33 fHa 3N, 3o far af,
ared iR My ¥

A - A &
i A e §
STAHT HR T 3 At
IWIE I, SWI@ar
T4 7@ § IHS-gHS B
FTA e AP 3@ al
A% ITON H WA B

Y I AN E

TE TSI ADY ST
IR YR, Mad Rars
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& Rrg, erpdt Y

forg, wei A Tawx ors

e & ot U, 4,

W e §

Swad TRl B UeHT A YD S arel UL Bl Ik adgy|
= Ritad RaE’ ¥ SR g ?

1. TH gaT

2.

3. Gslgdl

4, Ul gaT

Correct Answer :-

6) S0 a3, 33 frar= o,
ared iR 3mg §
NN A F

arht A ame §

ST YR T 3 at
W@, W@«

AT 38 § SHS-UHS X

FIA 9Ied af1P ¢ at

A TTon ® 4= B
TR A §

Tg WM AT 3T

T AR, Tfiad Rag

& fr, srdbat v

g, wel @ vaw< ord

e A wadt urgH, g,

GR:EAC I

SUGT TR BT TgTR HHd IR T 9Tt W=A BT SER Iz
U ug o1 3 w82

1. TTH A FE 7

2. Had AgqH
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3, Paq fafdy
4, UBHM 3iR 3ifafy =Y

Correct Answer :-

. BEAF SR ifafy St

7) 3 fpar 3, 3o frar o,
aTee iR 3 &

R RN AT S

It A e §

TR WX 7T 3 Y

TR ¢@ oI, SYR e@ ar

A 3R § IHS-YHS B

FTA ggd aP ¢@ at

A% wToN # 1R B
AT A

Tg T AR 318

I YR, Mad [Rarg

¥ forg, ardbd A¥

o, wei @ gawv ord

T q uaRlt urg, g,

R amee

IuYa T B YgHR 18 U o+ aTdl IR BT I« qaig¢l
W AT B fae e T 82
1. 7ET

2, M

3. fdam

4, 9T

Correct Answer :~

8) 3 fpwr= 3N, Io fFa 3,
qreq R MU §
WER- W AT &

Page- 15



i A e §
STHATT HR 7741 & &t
TR IG, SWIE At
T W ¢ SHS-YHS P
Pt aIed a+iP @ at
A% TN & u=A B
AL Y §

TG S AP 3T

WY AR, fad A
& g, e AR

fRrg, Fei @ TawR og
R & wRe urgH, A,
Rwamgy

IR UIIRT FI UeHR A1 U9 T a1 W=A HT IR qaisu|
T AIGd $ A9 7@ 82
1. JH-IH

2. 3HE-gHS

3, 9999

4. BH-BH

Correct Answer :-

9) 3o fpar 3, 9o fam af,
arew iR ey §
WER- N AET &
arfi 4 ame §
STHAT UR 4T &
SR @A, SWI@ al
T T € SHS-YHS B
P g di+Id ¢4 al
A% o ® 4= B
YA A §

TE M AHT T$
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I YR, Nad Rars

o forg, arber v

forg, el & Ta@x o
fipe 3 Wt wigH, 99,
R MY

ST T DI TePpR A8 IR 54 aTel U= o7 Sk aaisg|
= a1 i T g2
1. fsifa

2, YreTa

3. 9gd

4, 3fferepizr

Correct Answer :-

o YISIAT

10) 3o fHam sit, 33 far on,
e foR Mg €
VWR-WR I &

Tf T ame §
STAHE W’ T 3@ at

SR IW A, SWI@ A

P gIGd aP @ at

A WIon F 4R B

T I 1Y §

Tg TN AT 3TE

I AR, e Rarg

& forg, arper v

fore, el A Taw ord

fipe & TR wEH, T,

R ML

ST U HI UeHR A9 IR A a1 U= BT I} Iaizy|
UL ‘SIge’ B Taiadrdt WS 8?

1.%d
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2. 7Y
3. fearem

4, SARY

Correct Answer :-

. WY

11) 3o fFam 3it, 3o fFrar o,
Ted iR 3y §

R RN AET &

reft 3 3ne @
SR YR 7491 ¢

TR T dl, SWR W Y

T T ¢ SHS-YHS B

P g6 a® §@ ot

A% o # W= B

Y I AT &

Tg WS AP 3§

I YR, XMad Rarg

& forg, srpad AR

Rre, el A TaHx g

fpR & WA g, T,
Rwamg

IWIR U= P UgHR A1 I T aTet U= H1 IR qaqgy|
W SR Ui # fhd we &1 qui 82
1Lq¥

2. ®R

3. WTGl

4, g1a-

Correct Answer :-

12) 3o fram sit, 35 far af,
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Treq R oMU 3

AN W AT F

arf A Mg §
SHTHHATT 4R T ¢ at

SR @ dl, SW @ Y

T4 TE & SHS-YHS HX

P 9Igd ai-1P @ al

A TN F 4= B

YA WY §

g SR AP 1S

I YR, XNad Rarg

¥ forg, arbat Y

R, el A T g

e @ waRtt wig, g,

R amgE

ST U= BT UgHR A4 ID T a1d W= BT IR qais¢|
W qRATS e g e og 82
1. =

2.

3.%1
4, fHa=

Correct Answer :-

13) I fmam 3it, I3 fopam o,
e R oMy 7

N R- WA F

it A e §
THAT U 4T &

SR @A, SWI@ al

T T ¢ SHS-IAS B

P 96 =P 3@ at

&% TN F 4= B
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AL A E

TE M APY ST

T AR, WMad qRarg
A forg, ordat AX

forg, wel | wawv omg
fipe 3 W&t wigT, 9,
AR Y

ST TR B TSP A9 IR W4 aTel U= BT I} aaigy|
EH: QRIS Hul Eid 82
1. Sfida

2. T AP el

3. 31 & 9uH

4,779

Correct Answer :-

14) 3o fHam eit, 33 feam 8n,
aTew R ey §

W - AET &

Tl A amg §
STAAT 4R T 3 at

W IW A, W@ ar

P aGd P g ot

A ITON F W= B

Y IM A §

TE M AHT TS

T AR, 2fae Rag

o forg, arper v

forg, el A Tawx ot

e 9 TReHt ue, I,

R MY

ST T BT UePHR 19 IR T 1 W= BT Ik Iaigy|
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URT: dlgd -
1, 9 § |
2. fRA B
3. Hiad ¢
4, 4Ha B

Correct Answer :-
. R

15) dftraArg | UITe TR 9y 0 # 3RY & O 31 T J=an S 8 | OiTe & ugd o ok iy
DT UIBR T & | I TR Pt AHETS & Wkl 81 THA TaTaR0r W g1 orar g1 Wil & & <m &t o= et
3R 9T TeTey GRMAT A €1 Wra & 37 wR-3i1 &Y et @ 9o 81 TeT-ehe 9t | e eul
UgHd €1 39 39 wa oo 7ur ghar g1 3 A Tl STt g ad= ® uie udn Srar g1 9dq § gest
Wﬁfnmﬂﬁmm%mﬁﬁ?wﬁmﬂwmwmm%lWwwwm%a’r

ST &4 & | T P WY BT g3 U1 a9 & SHUR | SHSH ¢ 3R IRY 3R Raew ofa & cus

%mmaﬁaﬁwﬁﬁﬁﬂ@ﬂ%wm%aﬁ?m%ﬁﬁﬁ% "G Ui’ I v

Bt & o g ot 3ifr A uirer 7 i wHeR 3% R 2

U T Y UGy T IR Y ¥ T IR qargy|
E: Tel-they gt T T uged 87

1, /A HUS UgTd &

2. e $US Ugd B

3. IRATETA G|

4, T HYS TeTA & |

Correct Answer :-

. TUHTS YETd &

16) afyerTg # TS dieR U W # IR & TR o1 T A= oirar § 1 9hTe & ugd foo @ i
P EIBR T &1 I¥ TR 3 AHTs &1 ARl ¢ 1 39 Ta{aRor W g1 5irar g1 uift & &7 = &t =2 e
3R 9T IerTep? GRMET A &1 e F R wR-3T S Tl A e &1 Ter-diew g4 @ T sue
UEd § | S¥ fa U9 $© 70T 5idT 7 | S | ST Farey ¢ ad= | UiTd U/ ordl gl Jd- d gt
T G greY o wrar 81 T & 39§ 9 wHe B 9rae S ST 81 99 99d STah HU 3647 @ at
IH gU ST 3 § 1 g¥ P 1Y IHAT g3 U g & SHUR § IHS ¢ 3R =RY R Raew aifa & cus
%|wwaﬁfahw$§€ﬁm§aﬂﬁqﬁ%ﬁ%aﬁwﬁmﬁﬁﬁrﬁ% “GiTe giTTEY I wEAel
%ﬁ?q&aﬁva@ﬁwmwmﬂﬁmwﬁm%l

I TR B UgH i IR Y U= BT @R qargy|
TR: IS fob WE 1A § AT STl 62

1.0

2. BIfdid

3. BT

Page- 21



4.7

Correct Answer :~

. Uy

17) aftraATg ¥ UiTe TieR 9 3R H Ry & IR AT a@ T ST 81 9T & ugd fo i i
BT UBR A9 & | O TR &1 AWTS & 9l 8 | 399 vafavor wws ) oirar 81 Wit & o7 s &t o= &iar
3R ST TeTeY GRMAT A €1 Wra & 37 wR-3i & el @ 9o §1 Te1-tew 93t | e eul
UgTd 8| 3% 37 W o 71 et g1 i A 3ifidl Sarey A¢ ae § UiiTd UeTan ordT g1 ad | geat
1 Ut ST fear ST g1 T % 3 § T GHa S 979w UhH Wil ¢ | 59 9799 Seae] $UR 3641 §
ITH YU ST &9 &1 Y P WY IHTAT g3 U 91 & SR & SHSA € R IRY 3R Raaw ofa # s
TSl 8| 39 UHY IR 3R 358 T G | 7719 Sod & ok o & feara 8- aie divren’ 3% e
Tt @ o g oz 3if¥r = uivrer &1 Ui Wi 3R R @1

I TR B USHR A1 IR T YR $T SR syl
R U fhad gt oirT 82

1.9 H

2. SiifidT &

3. 9 o

4, g d

Correct Answer :-

. ofifier |

18) dfia-rg # Wi ieR Wy A1 # Y & IR o a weman Sivar 81 9ive & uge fos o iy
PT IR T 81 I¥ IR 3 AHTS &) Wil ¢ 1 399 Tafavor @ g) wirar g1 4ift & & = &t o= et
3R o FeITeRY GRET A9 81 9iTe $ e TR-3i1 B el § Toid €1 TeT-eiew wei /v Y Fue
TgTd &1 39 3 a9 @ a1 et 21 ST A 3fidl Sarey ¢ aei § UiTe UhTaT ot g1 9 | geat
BT U ST T wirat 21 T & 3 W T GHe $1 9raw US S|l g1 59 91dd Saaa] $UR 3641 & A
IH gU ST 39 § 1 g¥ P TIY IFHAT g3 T g+ & SR § ITSdT ¢ SR IR} 3R sy aifa ¥ cus
TSl ¢ | 39 AT IR} 3T 36 ART R | 719 384 & AR oy A Rreard 8- uina wiren’ 3 waaan
Bt & b g @iz Srfr 3 e &7 U1 WeR 3 AT g

IUYa =T B UgH e IR T U= BT IR qargy|
TR TV T 82

1. 799 3R g

2. et SR TemT

3. TER SR o

4, Mo 3R g

Correct Answer :-

. TER IR T
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19) feTg # Ui TR U9 A1 § Y P IR o) T W Siar § 1 9iTe & uge fo s iy
FTEER TN ¢ | ¥ IR $ AHTS B Al ¢ 1 THH TaTaR01 W g1 5ral g1 Wit & &7 5 &1 = et
IR T FeITEY GRAT A9 &1 Wa & T -3 B el & Tora 81 Ter-tie? geft | e sug
Tgd &1 39 o a oo a1 giar 81 S § Sifidt srarey A o< ® 9id udEn orar 81 gd9 3 geet
Wﬁmmﬂﬁmm%mﬁ%wﬂmﬂwaﬂwmm%lmwwwm%a‘r
%uméﬁélga%muw 3T NTTE §e9 & HW F IUSAT @ SR TRY 3R Frase aifa & cus
| 39 T AR 3R 3hg @NT G | A1 I8 § SR Wiy A Riewmd &= "uire wimer 3% wewan
BN 2 o T o 31 Y O 7 i wheR IR R 2

ST TR B UgH< A IR ¢ U BT @) qdrgy|
v 34f T wafEaTEh vreg LY &2

1, 3T

PALCIGES)

3. Uld&

4, 3T

Correct Answer :-

20) dfi¥raaTg ® T TieR Ty A # SRy & TR R a@ v siar 81 uive & usd fo o i

BT UIGR A9 & | ¥ IR P APTE B A1 3 | TN UaTawor ¥ & ofrar 81 Wil & o7 o &) o= dia

IR I FoTH GREAT A &1 Wa & fiT -3 & Tiieh & T 81 Ter-uie? @t | e sus

TgTd 81 39 37 W oo a1 ghar 81 St A 3ifidY Sarey ¢ i A uie yeTar Sian g1 gd # geat

aﬂﬁmmﬂﬁmaﬁn%mﬁ%mﬁmﬁtﬁmaﬂmmm%lwmwwm%eﬁ

4 ST 3d & | GY & 1Y IH-TaT g1 TITe 9 & SHUR o SHST & 3R IRI 3R Rasw oifg & cus

%|wma1ﬁaﬁ?§a?§mtgaﬂﬁ=rmm%aﬁwﬁw@ﬁlﬁrﬁ% “ITe WY’ I8 YIS
B 2 5 g aitv i Y et @1 Wi TR B Rrm 1

Sufad T BT UgHR T IR T Y BT IR Ja15C|

u: 5 Boe &1 Aad Tird § UhH g YA e ST 82
1. U A BIS 7RI

2. T BEA BT

3. QR HYd &7

4, Rt 3R 715 &1 podl &1

Correct Answer :-

. T Bad BT

21) afaaTg § OIS TigR WY A § 3Ry & IR o 9% wemn et 1 9ive & ug fo ai iy
PTUBR T & | G TR T AHTS B Wil 81 I TaTaR01 W g1 el g1 Wit & & = &t o= gt
SR TS TR GREAT 7AW ¢ 1 U & 7 1R o Tl § "o §1 TeT-tey vl | e sus
Ugd ¢ | 89 39 99 oo a1 giar 81 317 | 3Ffidl Sanee ¢ ad= & Wie T Srar g1 ad9 d gect
T TieT STy far wirar 81 T8 & 30 | T4 BHd BT G979 IHEl ST g | 99 979d STad UL 36471 § al
I gU ST 3 &1 gU F 1Y BT g3 T g1 & SHUR § IHSdT ¢ 3R =RY R Rasw aifa # eus
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TSal 81 39 THY RT3 3P @ @RI 4 Iod © 3R o A fewrd 8- uia gt 3% uSwdn
g1 & 5 g 3fiR S1fdr 3 vie &7 Wi WieR == a1

IUY T B UGHT ) IR T YR FT @R qargy|
W= HIT & 7 9= R e 82

1. 3T A IS 7

2. HId I FTd B |

3. $ad el §oId ¢ |

4. G 3R §1S1 &Il Solld 81

Correct Answer :-

o S SR IS I SOl B 1

22) AfEATg # UITd TieR WY AT # 3RY & IR T T W= Siret 8 1 UiTe & uge fés i iy
PT BN A91d § | T TR &1 AHBTS & wrel 8 | 599 gafaror W= ) sirar 1 Wil & o9 s &t a2 e
3R 1o} FoTHR R 791 g 1 9Ta & T wR-3i1 &t Wit & "o 81 7gT-Uiow 9ot @ e sus
TgTd &1 39 o e oo a1 giar 81 ST § 3T s A a1 ® 9 U orar 81 99 § geet
HT U7 S1Y far S 21 T3 & 30§ T G $7 999 UhHAT Wi g1 59 9199 SaaaY $UR 3641 ©
ITH gU ST &0 § 1 gY P FIY IHTaT g8 UhTd e+ & SR & Iusdl 8 SR IR R R oifa & cuw
TSal 8| 9 THY ART 3R 3P A G F 9 Iod § iR o A fRreema 8- uive giten’ 3% wwwar
Tt & o5 g 3 3if¥r = uivrer &7 Wi TR 3 fmr 81

ST T P UgHT 19 ID ¢ U FT Ik Jarsel
WRA: AT =i & ) A god 82

1. Y & A S RO

2. g4 & 3R B & BRUI

3. g4 9 34 & 90 & HRUI

4, g4 g 311 & GIT BT HFT WHR HRA & HROT

Correct Answer :-

- i a f & Ui &1 U WER A & BRI

23) dftrearg # 9ivd ©ieR Y A # 3Ry % IR oY @ W St 81 9itd & ugd fo o iy
BT IBR AFA & | I TR @1 YHTS & Srel 8 1 399 vafaror W= 8 oirar 81 4t & 9 s &t 9= i
3R T TTHR GRMAT 7919 & 1 9Ta & T wR-3i ot Wikt & Tond §1 7eT-eie) weft @ e sus
TETd &1 39 3 W o a1 gtar 81 S A aifidt Srarey AT e # uie geTar oar 81 94§ geat
T T STy far Sirer 81 T3 & 39 & 94 GHd b1 Ga9d IS ST g | 99 gad STaD 35U 38471 @ at
ITH g STA ¢d & | gY b 1Y IB-IdT g3 U o & SHUR | IHSA @ SR ARY 3R Rawv oifa & euw
TSdT 81 9 THY ART SR 3P a G A 4 Iod § iR o A facara 8- w9 uie’ 3 waedn
gt & o5 I 3w Sifdr A vivra &7 i Wier o= fomn 81

U TR P UgH Ad Y U U= HT 3@ garge|
UR: I H 91 94T ST 87

1.@13@3_?!‘5‘:@
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2. T HT YT
3, diud &1 g
4, BTt BT U

Correct Answer :-

. ool BT T

24) afeTg § TS ieR U A # R & IR o1 T A ST § 1 UTe & ugd fo @ i
FTEER T & | ¥ TR T AHTS S Wil ¢ 1 I TaTaR01 WS g1 9ral g1 Wit & &7 = &t =2 g
3R IS TeITeh GIRMAT AT 81 WTa & 37 wR-3i1 &Y el / woma &1 TeT-ee 9ot | e Sul
UEd 8| 39 3 99 @ 707 511 71 S | Sifidt Srarey ¢ ad= | UiTd U Srdl g1 9d d g
Wﬁmmﬂﬁmm‘%mﬁﬁswﬁqﬁwmwmﬂm%lwwwwm%a‘r
Y STd 3d &1 gY & 1Y SHTaT §311 NS Tl & SHUR W IUST & 3R IRI 3R Rase aifa & cus
glwmaﬁmmmq&ﬂﬁmm%aﬁ?mﬁﬁm% ‘O TiTTe’ 3 vl
TR 2 o o ot i 3 O 7 i wheR I R 31

IuYa TR P UgHT A4 IR T U BT Ik agul
w: yafavor 1 it fasde @ e

1. GRI+-3{TaR0T

2. URE+3R01

3. IRT+3{TAROT

4, TR+-3TaRO

Correct Answer :-

o OR+3TaRTr

25) aftrearg # Wi TR Uy AT # oY & TR T T weman Siar 71 9l & uge fo w ki
P UER A4 81 T TR &I YHTS o1 Wil & | 399 vaifaror e 8 oirar g1 4t & o9 s &t o= e
3R IS aWTh] GRAT AT € 1 TTd & {7 wR-3i1T &Y Tiielt § 9o 8 1 TT-ew 9t i e o0
Ugd &1 39 37 9a oo a1 giar 81 i § SrfidY srares A a9 # 9ie U wrar 81 9499 § goet
HT UYT S1Y a1 ST 21 T3 % 30§ T G $T 999 TP 66T 8| 59 999 Saad HUR 3541 § a
A gU ST &0 & 1 GY P A1 IHAT g3 UNTe T & SHUR | TSI § SR aRY iR Raaw offa & euw
TS ¢ | 39 9HY ARI 3R 353 T GRIt | 7 Iod § SR o & frewd 8- vie witten’ 3% weAwan
gt @ b g 3w aifdr 9 viver &1 i Wier o Rar gl

SuYad TN B UgH A1 UD T U BT Sk Gargy|
U U & o e e &1 g 82

1,941

2. G

3. HdlSH

4, FRd®

Correct Answer :-
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26) dftrerg ¥ Oid TieR Ny A9 # 3Ry & TR Y T wHTan St 81 9id & uge o wir uiity
T UIER HATd & | ¥ ¥R P WIS &I 9Tl ¢ 1 §99 Taia0] W3 g1 oiral g | il & o7 2w &) o= gla
3R TS IATHR GRAT AT &1 TTa & 37 wR-3i1 B Tl & Jod &1 TeT-Hie? [ R Y $uS
TBTd 81 39 o Wa o 41 gt 8 1 ST A ST ey T a6 H UITer YT ST 81 99 7 geat
mﬁmﬁﬂﬁmﬁm%mﬁﬂ?wﬁqﬁmmwmm%lwmwmm%a‘r
IOd gU ST 3 § 1 g P AU IWAl T THTA g & SHUT | IUSATl & S °ARY ok Rraew ¢ifa & cus
TSaT 81 9 THY °R[ 3R 3 @l @RI 14 Iod © iR o A feara 8- ol uien’ 3= uesan
g1 & 6 g 3iv <rfdr A v &1 Wi Wer = Rmr i

IR TR B UGHR A1 U T U= FT S@R JaTse|
U GRS & U foT AT S T /g 7974 82

1. Wit &1

2. T ABE TR

3. BIclt T

4, unft &

Correct Answer :-

. HRfi T

27) afrearg # 9 TR 99 AT # oY & IR oY T weman Sivar 71 9T & uge fo o iy
BT R A9 & | ¥ TR @1 THTS & Wil § | 599 Tafaror e 8 oiar 1 4t & o9 s ot o= e
3R T} TSTHR FGRMAT A9 ¢ | 9iTa & &7 TR~ &1 Jiielt A Toird 1 TgT-aias 9t @ e sus
Tgd &1 39 o7 9a T a1 giar 81 3T § i sares AT a4 # Gie U rar 81 99 § goet
HT UYT SiY T ST 21 T3 % I W T GHd ST 999 TSN 66 ¢ | 59 999 Saaa HUR 3541 © A
ITH g STA o & 1 gY B WIY I goi U 99 & SHUR | IASAT @ SR IARY 3R Raww oifa & euw
uam%wmaﬁaﬁ?swgﬁﬂﬂquﬂﬁaﬁm%aﬁwﬂmﬁﬁﬁrﬁ% ‘gl i’ 3 v
gt & o g 3w 3ifdr 7 uitrer &7 Ui TR &= fRmm 81

SULa TR Y UgHY T4 TR T ¥ BT IR qargy|
W RIS e # T el gt 82

1, Fo H Gegt T U7 ST S g |

2. AT ETa-4d T8 § |

3. WR S APTE el ol

4, TR-3{TTH B Tl § Forae g B

Correct Answer :-

. QI gTa-ea el g

28) dfyaTg # NI TigR WY AT ¥ 3Ry & IR o @ weran Sivar 81 9ive & uge fo air i
PTEBR T & | ¥ TR B AHETS ST Wil 81 FHH TATaR01 W g1 9ral g1 Wil & 7 = &t =2 e
3R a1 oY GRMAT A9E §1 WiTa & R -3 &) Tl & o g1 Ter-uie? 93t @ e sul
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Ugd &1 39 37 Wa oo a1 giar 1 S H i) sare AT g # 9iTe IS 9rar 81 999 J geet
HT UYT S7Y fTT 9T g1 T % I W T G ST G99 THHT S ¢ | §d 999 Saaa] HUR 3841 ©
ITH g ST qd & 1 Y B 1Y IB-IaT g3 W 9 & SHUR | IS @ 3R ARY 3R R oifa & cuw
TSal 3| 9 THY ART 3R 3P @ G F A Iod 7 R o A feara 8- o vie’ 39 wawar
gt & o5 3 otz 3if¥r =t wivrer &7 Ui Wit 3 ferr 81

ITe TR BT UGHR A UD Y U= $T S@R gaTge|

U: GITS Sal A1 STaT 282

1. DIADIAT

PAGIEKEIN]

3, faeeit

4, 3qH

Correct Answer :-

29) dftreArg # GiTe WER Uiy 7 # SR & IR 1 9% 79 Sidr g1 9ie & uge i i i
FTEBR T4 & | I TR $ AHTS B Wil 81 I TaTaR01 T3 81 9Ial &1 Wit & &7 2 &1 9= et
SR TS FeTHR GREAT A & 1 WTa & T -3 &Y el & T 81 TgT-aie? et | e sue
Tgd &1 39 e e oo a1 giar 71 S § St sramey AT ad | uite uemEn orar 81 ad9 § geet
DT YT g far e 81 T3 & w9 § T Bd BT 99d UHT 916l ¢ 1 9 9799 Sad U 341 € al
I U ST 3d B 1 gU P ATY IHIaT g3 U gl & SHUX § IUST ¢ 3R =RI iR e aifa & cus
tIG?ITgI S HHY ART AR 3P AT G | AT I5d & SR ST A Freard 7- v wiray 3+ wman
gt & o g 3w &ifdr = i &7 Wi WieR &= o 81

Iua TR P YD A IR Y U BT IR gargul

UL 19 fhad gHTar Sirar 82

1,581 8

2. TAHIH

3. A& A
4. TS

Correct Answer :-

. TS IY

30) I3 fHH 3, 3o fHar o,
ared foR S §

VRN AT F

it 3 3me @
AT YR T & <)
TR A, SR @l
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P TG af-P o dl

TR TN F W= F

YR AGE

IE TN AR IS

TR AR, 2 Rarg

v forg, sravet a¥

forg, el & s omg

e 9 TRt urgH, I,

R M E

IUe TR F1 UGHR ) IR 9 aTa U= BT Ik Id13¢]
W: digd foar & fore o @ g2
1. T

2. fqamrg

3. YT

4, SO

Correct Answer :-

o I

Topic:- General English(L2GE)

1) Read the poem carefully and answer the question given below:
What if you weren't born beautiful?

What if your head was bigger than it had to be?
What if you made weird noises?

And couldn’t speak?

They push you

They pressurize you

But to read never made any sense

What if you got angry over little things?

What if you didn’t have any friends?

What if you imagined things in your head?

They call you stupid.
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They say you're senseless

They say you're “'special”
When you think like a mad man
Does the world feel that you
Also feel?

You see?

You try to believe

Just what if you were special?
What if you meant the world to someone?
What if I tell you,

I care...

What if...?

Why not...?

At the end of the poem the speaker says that she will .............. the reader.
1, fight for

2, go away with

3. ignore

4, care for

Correct Answer :-

« care for

2) Read the poem carefully and answer the question given below:
What if you weren't born beautiful?

What if your head was bigger than it had to be?

What if you made weird noises?

And couldn’t speak?

They push you

They pressurize you

But to read never made any sense

What if you got angry over little things?

What if you didn't have any friends?

What if you imagined things in your head?
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They call you stupid.

They say you're senseless

They say you're “'special”
When you think like a mad man
Does the world feel that you
Also feel?

You see?

You try to believe

Just what if you were special?
What if you meant the world to someone?
What if I tell you,

I care...

What if...?

Why not...?

What could be the title of this poem?
1. A Big Head

2. A Lonely Boy

3. What If

4. An Angry Man

Correct Answer :-

e WhatIf

3) Read the poem carefully and answer the question given below:
What if you weren't born beautiful?

What if your head was bigger than it had to be?

What if you made weird noises?

And couldn’t speak?

They push you

They pressurize you

But to read never made any sense

What if you got angry over little things?

What if you didn't have any friends?
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What if you imagined things in your head?
They call you stupid.

They say you're senseless

They say you're “special”

When you think like a mad man

Does the world feel that you

Also feel?

You see?

You try to believe

Just what if you were special?

What if you meant the world to someone?
What if I tell you,

I care...

What if...?

Why not...?

The speaker in this poem is asking you to ....

1. act
2. create
3. dream

4, reflect

Correct Answer :-

« reflect

4) Read the poem carefully and answer the question given below:
What if you weren‘t born beautiful?

What if your head was bigger than it had to be?

What if you made weird noises?

And couldn't speak?

They push you

They pressurize you

But to read never made any sense

What if you got angry over little things?
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What if you didn‘t have any friends?
What if you imagined things in your head?
They call you stupid.

They say you're senseless

They say you're “special”

When you think like a mad man

Does the world feel that you

Also feel?

You see?

You try to believe

Just what if you were special?

What if you meant the world to someone?
What if I tell you,

I care...

What if...?

Why not...?

The poem depicts the poet’s:
1. unconditional love

2. physical beauty

3. intelligence

4. knowledge about special children

Correct Answer :-

« unconditional love

5) Read the following passage and answer the questions that follow:

When like minds meet, the hormone Oxytocin is believed to be released by the brain and this is
what forms that instant connection between people. Oxytocin has been dubbed as the love
hormone too in popular media adage. Whether the ‘twain doth meet’ thanks to a chemical
reaction or not, where their relationship goes thence is purely determined by this strange
chemical. Imagine if each emotion had a hormone associated with it, maybe emotions would
have their names accredited to their related hormone and new associated diseases may crop up
owing to the deficiencies in these hormones. Who knows then an age where one is prescribed
hormonal replacement therapy to increase a particular feeling may not be too far in the offing.
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What does the word ‘adage’ mean in the context of the above passage?
1. Parlance
2. Listening
3. Demand

4, Threat

Correct Answer :-

+ Parlance

6) Read the following passage and answer the questions that follow:

When like minds meet, the hormone Oxytocin is believed to be released by the brain and this is
what forms that instant connection between people. Oxytocin has been dubbed as the love
hormone too in popular media adage. Whether the ‘twain doth meet’ thanks to a chemical
reaction or not, where their relationship goes thence is purely determined by this strange
chemical. Imagine if each emotion had a hormone associated with it, maybe emotions would
have their names accredited to their related hormone and new associated diseases may crop up
owing to the deficiencies in these hormones. Who knows then an age where one is prescribed
hormonal replacement therapy to increase a particular feeling may not be too far in the offing.

What can you infer from the above passage?

1. That Oxytocin is the causal factor behind all emotions

2, Itis a tongue in cheek comment on a finding regarding hormones
3. That all emotions have an associated hormone

4., None of the above

Correct Answer :-

« Itis atongue in cheek comment on a finding regarding hormones

7) Read the following passage and answer the questions that follow:

When like minds meet, the hormone Oxytocin is believed to be released by the brain and this is
what forms that instant connection between people. Oxytocin has been dubbed as the love
hormone too in popular media adage. Whether the ‘twain doth meet’ thanks to a chemical
reaction or not, where their relationship goes thence is purely determined by this strange
chemical. Imagine if each emotion had a hormone associated with it, maybe emotions would
have their names accredited to their related hormone and new associated diseases may crop up
owing to the deficiencies in these hormones. Who knows then an age where one is prescribed
hormonal replacement therapy to increase a particular feeling may not be too far in the offing.
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What does the phrase “the twain doth meet” mean?
1. Meeting of the twain is caused by Oxytocin

2. Two particular people do meet

3. Itis unlikely that the twain shall meet

4. Mark Twain does meet people’s expectations

Correct Answer :-
« Two particular people do meet

8) Read the following passage and answer the questions that follow:

When like minds meet, the hormone Oxytocin is believed to be released by the brain and this is
what forms that instant connection between people. Oxytocin has been dubbed as the love
hormone too in popular media adage. Whether the ‘twain doth meet’ thanks to a chemical
reaction or not, where their relationship goes thence is purely determined by this strange
chemical. Imagine if each emotion had a hormone associated with it, maybe emotions would
have their names accredited to their related hormone and new associated diseases may crop up
owing to the deficiencies in these hormones. Who knows then an age where one is prescribed
hormonal replacement therapy to increase a particular feeling may not be too far in the offing.

Which of the following statements is true as per the passage?

1. Hormones play a vital role in keeping depression away

2. In collogquial terms, Oxytocin has been christened the love hormone
3. Deficiency of Oxytocin can nudge people to fall in love

4, Like minds meet based on their hormone reports

Correct Answer :-

+ In colloquial terms, Oxytocin has been christened the love hormone

9) Fill in the blank with the correct option in the given sentence:

Changes in climate can result in species
1. diversification

2. diversify

3. diversities

4, diverse

Correct Answer :~
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= diversification

10) Which of the following options best combines the two given sentences?

He met with an accident. He was on his way back to his home.
1. While he was on his way home he met with an accident.

2. Meeting with an accident he was on his way back to his home.

3. Being on the way home he met with an accident.

4, He met with an accident and he was on his way back to his home,

Correct Answer :-

+ While he was on his way home he met with an accident.

11) Choose appropriate articles for the given sentence:

Iwentto_____ Universitytoget ______ admission form.
1, no article required, a

2. a, the

3. the, an

4, a, no article required

Correct Answer :-
« the, an

12) Choose the appropriate option that rewrites the given sentence in its active voice.
Our car hasn't been stopped by the police so far.

1, The police hasn’t stopped our car so far.

2. The police haven’t stopped our car so far.

3. The police are not stopping our car so far.

4, The police didn’t stop our car so far.

Correct Answer :-

« The police haven’t stopped our car so far.
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13) Choose the appropriate synonym for the highlighted word in the given sentence.

Jay is a very exuberant person and everyone loves him.
1. brave

2. handsome

3. cheerful

4, gloomy

Correct Answer :-

« cheerful

14) Choose the appropriate tense to fill in the blank in the given sentence:
If you the dress tonight, 1 it for you.

1. will bring, will have mended

2. are bringing, will have mend

3. brought, mended

4, bring , will mend

Correct Answer :~-
« bring, will mend

15) Choose the appropriate antonym for the highlighted word in the given sentence.

An individual’s speech difficulty may be aggravated by situations that arise from his anxieties or
fears.

1. developed
2, worsened
3. endangered

4, calmed

Correct Answer :-

« calmed

16) Choose the appropriate pronouns for the given sentence:
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When the friends went to Krishna’s house, realized that friend had been abducted.

1. they, their

2. we, theirs

3. we, my

4, he, his

Correct Answer :-

+ they, their

17) Choose the appropriate conjunction for the following sentence:

I had reached home ______ it started raining heavily.
1. hardly, then

2. scarcely, when

3. scarcely, since

4, no sooner, when

Correct Answer :-
« scarcely, when

18) Choose the appropriate prepositions for the given sentence:

It is the greed power combined the thirst fame which constitutes
ambition.

1. with ,of, for
2, for, with, for
3. of, for, with

4, with, for, of

Correct Answer :-

« for, with, for

19) Choose an appropriate modal for the given sentence:

We were very worried. Someone have stolen our luggage.

Page- 37



1. would
2. will
3. might

4, can

Correct Answer :-

20) Choose the option that best explains the highlighted expression:
The language they spoke among themselves was all Greek to me.

1. in its purest form

2. only in Greek

3. meaningless and incomprehensible

4, mysterious

Correct Answer :-
+ meaningless and incomprehensible

21) Choose the option that best explains the highlighted expression:
I cannot stand on ceremony with my friends.

1, avoid being invited

2. dislike ceremonies

3. get personal

4, be formal

Correct Answer :-
« be formal

22) Choose the option that best transforms the sentence into its Indirect form:
‘Please let me go to the cinema,’ she said to her father.

1. Please let’s go to the cinema she said to her father.

2, She said to her father to go to the cinema.

3. She pleaded her father to let her to go to the cinema.

4, She pleaded with her father to let her go to the cinema.
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Correct Answer :-
+ She pleaded with her father to let her go to the cinema.

23) Choose the option that substitutes the given phrase appropriately.

A person who is very talkative
1, speaker

2. orator

3. garrulous

4, voracious

Correct Answer :-
« garrulous

24) Read the sentence carefully and choose the option that has an error in it:

He obtained a lectureship at university.
1. at university.
2. He obtained
3. alectureship

4, No error

Correct Answer :-
» at university.

25) Change the given sentence to its direct speech.
She said that she stays in a hostel.

1. She said, “She stay in a hostel.”

2. She said, “I stay in a hostel.”

3. She said, I stay in a hostel.

4, She said that, “I stay in a hostel.”

Correct Answer :-

« She said, “I stay in a hostel.”
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26) Fill in the blank with the most appropriate preposition from the options given.

The teacher spotted many mistakes in the composition, when she went it.
1, from

2., across

3. into

4, through

Correct Answer :-

« through

27) Fill in the blank with the correct option in the given sentence:

The state or condition of being misplaced in time is called an anachron--.
1. --ism

2, —-ic

3. --icle

4, --ology

Correct Answer :-

28) Fill in the blank with the correct option in the given sentence:

You should not be so --grateful to those who have helped you.
1. un--
2, im--
3. dis--

4, in--

Correct Answer :~-

29) Choose the right tag:
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Aunt Elizabeth walks very fast,
1. isn't she

2. hasn't she

3. does she

4, doesn't she

Correct Answer :-

« doesn't she

30) Choose the most appropriate determiner from the options given below.
I'm peeling carrots and potatoes to make some curry.

1, that

2. these

3. more

4, much

Correct Answer :-

» these

Topic:- Social Science (SSC)

1) Who were contemporaries of Kanishka? / TP S AP Tﬁ:{ Y2
1. Asvaghosha, Kamban, Nagarjuna / 39, &, :I'I"Tﬁj:f

2. Asvaghosha, Nagarjuna, Vasumitra / \?rf%ﬁh'q, q'l"'ﬂﬁq, amﬁﬁsr

3. Asvaghosha, Kalidasa, Nagarjuna / I, e, AT

4, Kamban, Banabhatta, Asvaghosha / Ha, dMHYg, Yy

Correct Answer :-

« Asvaghosha, Nagarjuna, Vasumitra / Gfﬂd‘iﬁ'ﬁf, -II*II\gr-i, dl(j,mal

2) Which neighboring country of India was referred to as ‘Serendib” by the Arabs? [ HIRd &

fra Tl A% Y oRal gRT 'R & w0 # wehla far ar
1, Nepal / aTd
2. Pakistan mr%q
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3. Myanmar / FIHR
4. Sri Lanka / it

Correct Answer :-

o Srilanka / #icienT

3) Evaluation that is used to monitor the learning progress of students during the period of

instruction is called as: / 98 TJcdIPH, ) =T ot srafy & k= ot $ siftrTw ufspan
®1 PR w1 ¥ fore gwaaTa fvan siran 8, e weeman @

1, Summative evaluation / GRTIHE H™ih
2. Diagnostic evaluation / WW

3. Placement evaluation / FITSI EIEQW

4. Formative evaluation / FATOTH® W

Correct Answer :~-

« Formative evaluation / ﬁﬂfw W

4) What do you mean by BOD (Biochemical Oxygen Demand)? / .33t
(SRiITP T sifaite fEais) A smusT | g 22

1. Oxygen demand by aquatic plants / STeira e GRT ST P AR

2. Oxygen demand by aquatic animals / ST UR[3{ GRT S{leRiToi Bt HRT
3. Industrial demand for oxygen / iriteH & ferg 3N T
4. Water pollution by organic waste / Sfde SRy gRI ofd Ugyur

Correct Answer :-

« Water pollution by organic waste / Sfdw SR gRI & UgHul

5) defined, ‘Social Sciences as those bodies of learning and study which recognize
the simultaneous and mutual action of physical and no-physical stimuli which produce social

relation’. / = uRrurie fpar i, armfore fagm, Sftrm ot sreuga & 39
Aol & U ¥ 3 o IRIRT i sRMIR® Sxwe 9 yrwuR® frar & Wiea
P € SR AT Jeay T g 1’

1. James High KWBT%
2. Macaulay / ECA
3. John Major/Gﬁ:Tﬂ\_rR'
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4. Bining & Bining / o ug fafHm
Correct Answer :-

« James High ;’@IIIFE'@

6) The research that is based on observed and measured phenomena and derives knowledge
from actual experience rather than theory or belief is known as: /

Y ) Srae 3R TR geATsn W el giar & 3R Risia a1 yRon & 9y
AP IHAGRITA MG HATS, _ pgarai gl

1, Empirical research / 3ﬂ§‘1-fﬁ$ 3y

2. Survey research / AU S{-ANU]

3. Deductive research / AT S{=80]

4. Quasi-experimental research / 3-SR 30T

Correct Answer :~-

« Empirical research / Gﬂﬂ?-m 3

7) According to Seligman, ‘Ethics and Education’ are included in: / AT & AR

Afcrepar 3R Rram so =mfde 8id &

1. Semi social science / 3ref IraTforen ﬁﬁl’l:f

2. Social studies / HTHTGTD ST

3. Pure social science / Ye& e fasm

4. Science with social implication / RIEIEED ﬁ’%ﬂﬁaﬁﬁﬁﬂ

Correct Answer :-

« Semi social science / 3{‘Ef RIEE G ﬁiﬂq

8) Which one is not a Nataka (Play)? / 9 & &9 T& A1es (@) T8 82

1. Pratigya Yaugandharayanam by Bhasa / WWWW
2. Saptasati by Hala / 8Tel gRT 9wt

3. Uttara Ramacharita by Bhavabhuti / Ha4fd gRT 3R IHaRa

4, Mricchakatika by Sudraka / Y& GRT Je5HicdT

Correct Answer :-

« Saptasati by Hala / 8T8 gRT G
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9) What is the standard sea level pressure in millibars? / AT '\‘Tﬁﬂ TR PIqld fHfereR

o a1 BT 87

1. 1000 millibars /1000 AR

2. 1100 millibars /1100 TAfER

3. 1013.25 millibars /1013.25 fATTER
4.1025.00 millibars /1025.00 fHfIER

Correct Answer :-

« 1013.25 millibars /1013.25 fHfeER

10) When was the National Human Rights Commission constituted? / ?T@TI ARG
ST T TS Hd AT T UT?

1. 1992
2. 1995
3. 1996

4. 1993

Correct Answer :-
« 1993

11) Why should social science be a part of a core curriculum? / ﬂmﬁwﬁaﬁaﬁw

TR UTSashY 1 61 ¥ BT A1iee?

1. Helps to develop critical thinking / TTg I & fa®RId H § Aag ol %I

2. It deals with human behavior / 98 HIHd dglR T gefdd %I
3. To develop awareness of the world / ﬁ’a’ Pl SR D] [dh g B B %K{I
4. To develop the country / T HI BRI HA & fem

Correct Answer :-

- Helps to develop critical thinking / 781 Ud @1 fawRid o3+ H Heg FHRal gl

12) ‘General Ticket System’ is another name for ./ SR d fewe gorret Ca|
TR 81

1. Multi-Member Constituency / dg-Ha¥ IEEIEREE]
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2. Triple-Member Constituency / 3-Hawd Ral=H e
3. Double-Member Constituency / fe-aw Mo &=
4, Single-Member Constituency / b ¢-Hq¥ e &

Correct Answer :~-

» Multi-Member Constituency / dg-Aa¥ ot &=

13) Discussion method is also known as: / I q@ﬁf Ga| g AH A Y ST SITen %:
1. Project method / RIS Ui

2. Holistic method / JUIATATG! Uil

3. Socratic method / ﬁaﬂ'ﬁ'ﬁ UG

4. Activity method / fopaTeramy ugfa

Correct Answer :-

« Socratic method / W?ﬁ gfd

14) Observation of one’s own behavior by looking within is TR afea s
TRT T8 & MR SibHT Wa &b HagR &7 daid PeaErgl
1. survey / &

2. experimentation / TN

3. introspection / SR
4, rating / Hedip

Correct Answer :-

« introspection / SRITATDH

15) Who among the following is associated with the perspective of “Education as Social

T_rz_msfor%mation”? / ﬁ'&lf%l'@?l’ o A oI «qrETfore gadad & ES| E | ﬁl’&l’l” g4 Eﬁﬂﬂm 3

1. Mahatma Gandhi / HgTeT Tt
2. Dr. Radhakrishnan / ST, JUTHWH

3. Jacques Rousseau / SIGpUTH =1
4, Paulo Freire / T3l ﬂﬁi’

Correct Answer :~-
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« Paulo Freire / U3 @I ﬁﬁl\r

16) Who among the following issued the founding charter of the English East India

Company?lmﬁﬁﬂﬁﬁmﬁmgﬁmmwwwﬂmﬁmﬂ
1, Elizabeth I f'@_\_ﬂﬁﬂ I

2. James I1 / ST 11

3. James I/ SR T

4. Charles T/ TG [

Correct Answer :-

« Elizabeth I / TRISIEY I

17) Who was the Sultan of Delhi at the time of establishment of Vijayanagra empire? /

TR AT $ RATT1 F 9T e &1 oar oI A1
1. Balban / dcfd-

2. Qurtub ud din Aibak / FIS-3G-411 Ugh
3. Razia Sultan / IfS/T el

4. Mohammad bin Tughlaq / H\IS“-IQ o SUNED

Correct Answer :-

. Mohammad bin Tughlaq / HIgHe foF Jiid

18) Who was the first President of the Indian National Congress? / HIRAII TI'@'CI PUT D
YT & DI A?

1. Womesh Chandra Bonnerjee / AR T FI
2. Badruddin Tyabji / SGog 1 GEEEI]

3. Bipin Chandra Pal / EEEEFEIN

4, Lala Lajpat Rai / CITeTl SlTo[Ud X

Correct Answer :-

+ Womesh Chandra Bonnerjee / AR <5 g0l

19) Who remarked that ‘our secondary education remains the weakest link in our

educational machinery and needs urgent reform.’? / e feuft @t f sarst areafiies
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RRram, gardt QAfére = ot Ga@ FHSIR $S1 8 3R FUH debd JUR DI ATTIDh Tl

g1
1. Dr. Rajendra Prasad / CIRUS B2
2. Dr. S. Radhakrishnan / ST. T, JAYTHUH

3. Dr. Ambedkar / S1. 3HETSHY

4. Maulana Abul Kalam Azad / FGIHT S{dcf D H 3ol

Correct Answer :-

« Dr. S. Radhakrishnan / SI. U, YR

20) Inquiry-based Learning is based on which philosophy of education? / Sr=yur- 3T

3iferTe, Rign & fore axf= w emutRa 82
1. Realism / TUTATG

2. Idealism / 3MTGRIdTG

3. Existentialism / 3f&IcddIg

4, Naturalism / Uﬁﬁ]ﬁ
Correct Answer :-

« Naturalism / Jicarg

21) India signed a 20 — year ‘Treaty of Peace and Friendship’ in 1971 with L/ HRA A
1971 H & 1Y 20 IUT e oM frar Wie wR gwarer faan

1. Sri Lanka / 91 &ab1

2. Bangladesh / TRATGT

3. Soviet Union / Hifagd ¥4
4.US / 3R

Correct Answer :-

« Soviet Union / @Iﬁtﬁ Y

22) is a body of the United Nations composed of all member states. / Yol

Y B TP 3HTS § 9l 94T Hew I § Fffa g
1. Security Council / gR&T URYG
2. Economic and Social Council / 3T U,HHITI'I'%IH'TW
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3. Trusteeship Council / <JTHl GRYG
4. General Assembly / HeTHHI

Correct Answer :-

« General Assembly / HETHHI

23) The benefits of Green Revolution in India were limited only to ./ HRAH gia

HifdFATHDIT o Gid 9|
1. Wheat and rice / ﬁ?{ 3R T1ad

2. Barley and jowar / ST 3R SR

3. Barley and cereals / S 3R 3T

4, Rice and barley / dldc] 3R S

Correct Answer :-

» Wheat and rice / ﬁﬁ 3R F1ad

24) The head of a guild in ancient and early medieval India was called ./ U SR
URTYS A URd ¥ U6 69 & Y49 I BT STl ATI

1. Adhikari / 3(fYHRY
2. Adhipati / 3AfeAfd

3. Gahapati / TIE'CI'%
4, Jethaka / S

Correct Answer :-

« Jethaka / Siad

25) The study of fossils as a way of getting information about the history of life on earth and

structure of rocks is known as: / q%ﬁﬂ?ﬁﬁﬂqa*%ﬂﬁmﬁﬁ? amaﬁwa?ﬁwﬁ
TSR YT H3 D1 T faft & =0 & SHareui &1 3179+ a8 Hgardl o:

1. Ecology / Eﬁﬁﬁ

2. Geography / SRl

3. Paleontology / Yferaeraron
4. Geology / IERIGIS

Correct Answer :-
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» Paleontology / UferRgetarsit

26) The thickness of the Troposphere is maximum at the Equator during which of the

following seasons? / EFIW}@'I TR &iyavsd (ﬂﬁ'\‘qﬂﬂ?) @t 'FﬁE'Ig'ﬁ'H A 9 foa waw A
Y 3ifY® gl 82

1. Winter / XitqepTen=1
2. Spring / I

3. Summer / YTSH@HTAH
4, Autumn / RRXE BJ

Correct Answer :-

« Summer/ "ZﬂmﬁF’ﬂq

27) The value of final goods and services produced in an economy in a year is known as
./ T qu 1 =it srfoaawn o Seanfea sifam axgaii oz JAarsii & gea &1
& U H ST S g

1. Per Capital Income / Ufd Q\Gﬁ S

2. Gross Domestic Product / i Hzé?t[d(uld

3. Gross National Income / bl ?Tgltl' 3

4. Gross National Product / 9o JP1T IcG

Correct Answer :~

» Gross Domestic Product / P ‘Eﬁ?‘[\d(blld

28) Objective-based teaching is suggested by: / SE=T-TUTR fRI&0T $7P GRT LRI

1. C. Norman /lﬂ. :ﬁﬁ:f

2. D.W. Allen / S, §&cY, TeiH

3. Benjamin S. Bloom / ST TY. sH
4. David Crowder / 33 PIeR

Correct Answer :-

« Benjamin S. Bloom / SiSTITHH TH. sgH



Which one of the following is a disadvantage of Inquiry-based Learning? / Fafafeadd
B SAYUT-TUTRG AR BT TH T §2

1. Promotes a deeper understanding of content / Irft &l TIBQTSF | FFIE'\EIe[ & ﬁ"‘l’[{ U &ar %I

2. Involves a lot of preparation and planning time / trs'agﬁmﬁ TR 3R TS gy 2T
ERGIE]

3. Builds initiative and self-direction / Tgd 3R SMTH-TST T YR TEar 2
4. Warms up the brain for learning / 31fRTH & foTT AT P ITRd HRal g

Correct Answer :-

« Involves a lot of preparation and planning time / Jg dgd IR T SR AT W 2
PRATGI

30) Which Finance Minister of India initiated the New Economic Policy (NEP)? / YR &
e fomr ot 9 18 enf¥fe +Hifar (@Sl o5t yreema 12

1. Morarji Desai / fmﬂﬁﬂ aﬂ'lé

2. Manmohan Singh / q:l'mﬁ:lﬁl—s'

3. CD Deshmukh / §1S1 ¢RE

4. TT Krishnamachari / €1¢1 URIR]

Correct Answer :-

. Manmohan Singh / TFHIg Rig

31) Which plan discussed in detail the food security in India? / mﬁww&n%ﬁﬂ{
g gioAT R fowar | ==l §82

1. Fifth plan / GT=dl Qo1

2. Eighth plan / 3T&dT QT
3. Sixth plan!@ﬁm

4. Ninth plan/:hT:ﬁ'WT

Correct Answer :-

« Ninth plan / EICIKISE

32) Which Article of the Constitution of India empowers a citizen the right to move to the
Supreme Court to enforce Fundamental Rights? / HTR® & AIAYT ST I AT 317:1@7.‘7 P
AN Bt Hifere HRBRI I yafid X P g Haid Arred d 914 ST SRR dar
®
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1.3%
%35
3.3

4,32

Correct Answer :-

« 32

33) Which Article of the Indian Constitution provides for an independent Election

Commission? / mﬂﬁmmaﬁ?m WWWW WWW%‘?
1.323
2,327
3.324

4.325

Correct Answer :-

- 324

34) Which of the following is not applicable to Micro Teaching? / Fafafead a9 q&q

fRraror (AT AR R A e 82
1. Immediate feedback is not gained. / dechTcl cr[?rgf@ e :lé)f f?l_cﬂ %I

2. Duration of instruction is limited from five to ten minutes. / Ieléﬁl DI 3fafd O I gy fime
d® Sifid gil ol

3. The size of the learning group is small. / WW B MHR BT e 7
4, Teaching is carried out under controlled conditions. / ﬁﬂ&fUT, e ofRufaal ® fosar Siran %I

Correct Answer :-

« Immediate feedback is not gained. / dchTcT ﬂﬁlﬁf@ T :IE?[ Epi?ﬂ %l

35) Which of the following dynasties had the longest rule? !ﬁ‘{‘lﬁl’@ﬂ ¥ foa o
BT AMAHTA TG el AUT?

1. The Pratiharas fﬂﬁ%ﬂ

2. The Palas / UTd

3. The Senas / ﬁ‘ﬂ
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4. The Rashtrakutas / XT¥pC

Correct Answer :-

« The Palas / OT]

36) Which among the following Viceroys was associated with the Tlbert Bill Controversy? /

Frafefaa & @ o9 a1 g gaad fod e F ge1 9
1. Lord Ripon}?‘lﬁﬁ'cﬂ

2. Lord Lytton/ TS foreq

3. Lord Curzon /@IS @oid

4. Lord Hardinge / ﬂﬁ_ﬂ%ﬂ

Correct Answer :-

. Lord Ripon/dls U4

37) Which among the following is a major obstacle to economic development in India? /

FrafafEa & @ s ura & snfie e & e e uga e g2
1. Low productivity / A Iargdar
2. Low level unemployment / Y TR & SRS

3. High literacy rate / 3o HIGR &

4, Increased GDP rate / HHh ¢ u}q\d | A T{@

Correct Answer :-
« Low productivity / g SareEarn

38) Which among the following is a commercial bank? / e da aﬁqwmﬁrﬁqﬁ
9% 2

1. State Bank of India / HR<1T WT o

2. Regional Rural Bank / & mior §
3. Reserve Bank of India / HRad ReoTd §
4. Cooperative Bank / TP o

Correct Answer :-

« State Bank of India / HRdg &< §b
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39) Which among the following Mughal emperors prohibited the use of tobacco? /

Frafafea o 3 59 gora gy 3 @ & U &) ufdsiia fear ar
1. Jahangiri\_rlﬁ'i'fﬂ?

2. Babur / dldX

3, Shahjahan / TTESTET
4, Akbar / HDHEX

Correct Answer :-

. Jahangirfﬁ@i‘“?

40) An effective teacher tries to make the class room environment more ./ CP

THTAT FR181F, F&IT P TG0 I 3% 3ifUd CEIGIE
1. democratic / AHANAD
2. autocratic / ﬁ?@‘-‘ﬂ

3. strict and rigid / Hed 3R B3R

4, anarchic / HISIH

Correct Answer :-

« democratic / Abdie

41) The silver coin introduced by Sher Shah and continued by the Mughals was : /!ih*.mg GIRT
waferd far T Sk geral g1RT S 3T T 9idt B gt ur:

1. Rupaya / U4l
2. Asharfi / 37<T%{

3, Muhar / A%
4, Dinar / SFR

Correct Answer :-

« Rupaya / 2497

42) Many of the social problems in modern India could be due to the neglect

of: / SMYFIP HIRd § Ps FTHIP THETSH BT HRUT (4 Pt JUST & TPl &
1. Higher Education / =R fR1&fT

2. English education / 3t fRem
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3, Value education / TG TRT&T
4. Technical education / d&=1eb! TRI&T

Correct Answer :-

« Value education / TG fRr&

43) Who has the power to recommend the dismissal of the State Government and suspension
or dissolution of State Assembly? / IoU GRPR $1 g@ & ¥ 7 fAy=aHT F
foreie a1 fawes ot Ry w1 ot wifea fras o @2

1. Prime Minister / AT
2. Parliament / 990G

3. Governor / IMSYUld
4, Cabinet / Bfaae

Correct Answer :-

« Governor / XISGUTel

44) Who is considered the father of Green Revolution at the world level? / fa%a TR te gRa

ifd & T fHa | ST 82
1, Thomas Malthus / 4T TTH

2. Norman Borlaug / 1T SRarT

3. Cecil Salmon / TRTel YeTdH

4. William S. Gaud / fafera® T8, s

Correct Answer :-

« Norman Borlaug / AT SRANT

45) Which of the following reason is responsible for highest percentage female migration in

India? / YR & AT Uare= 31 S=aH ufazadr & forg fFaferfad # & &9 91 SR
ISR 87

1. Stability / FRR@T
2. Employment / AR

3. Marriage / ﬁﬁﬂ’s’

4, Education / ﬁT&IT
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Correct Answer :-

« Marriage / ﬁfﬂg

46) The “Helmand Province” of Afghanistan is famous for cultivating which of the

following? fﬁ?ﬁ@ﬁﬁﬁﬁ?\qﬂﬁ'@?ﬂ%ﬁﬂmm“mﬂﬁ”m%”
1. Opium / 3{®IH

2. Wheat / ﬁ'é"

3. Cotton / PUNH

4, Tobacco / AdTH

Correct Answer :-

« Opium/ 3BT

47) Lal Bahadur Shastri's Samadhi is also known as: / ATel GgTGR XMRA] P THIY B 5
M | ST S 8

1. Shakti Sthal / eI U
2. Shanti Van / QIidia-
3. Chaitrabhoomi / fREryHfo

4. Vijay Ghat / fasrg gre

Correct Answer :-

« Vijay Ghat / s/ g1e

48) Every year the government announces the prices of agricultural goods as a backing for

farmers’ produce is known as ./ TP 94 WER Sl t U & U & =4
Y ISl & Hwal F 9o Hdl g, FHETaT 8l

1. Limit price / 8T e

2. Base price / TR HeJ

3. Exchange price / AT &=
4. Support price /g HY
Correct Answer :-

« Support price /g HY
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49) How many countries of Southern Africa make the Southern African Customs Union

(SACU)? / &fefoft SnpleT & fha <1 firaev gfémft it I e 3 (sacu) &1
fafor s @

1.3
2,3
3.4

4,6

Correct Answer :-

50) One species of Coffee called Coffea charrieriana is free of Caffeine. In which of the
following countries Coffea charrieriana is grown? / PHIBL DI gh weTTfel ford

PP RTS8l ST 8, $BIF S gad gial g1 79 7 A 5w 3z # sro =R
IS STl 82

1. Vietnam / faga=md
2. Yemen / {1

3, Cameroon / PHE
4. Liberia / AISENAT

Correct Answer :-

« Cameroon / PHREA

51) CANCELLED

SEBI stands for ./ AT (SEBI) &7 favgd &q &

1. Securities Exchange Board of India / wﬁl U.EFH%G[ IS 3 Qﬁ'ﬂT

2. Securities and Safeties Exchange Board of India / ﬁﬁ*ﬂﬁﬂﬁi e @"Rﬁﬁ ua:a%a CIERCIL

3. Securities and Stocks Exchange Board of India / Ryeaifydts TS E'VWQER‘:@W S 3T EﬁqT

4, Stock Exchange Board of India / Tib L{d'{'i‘a'\ﬂ de G{TEI*‘:'{%HT

Correct Answer :-

« Securities Exchange Board of India / Rifedis T are i Sfear
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A variety of pedagogies that involve students in discovery or research and
employ approaches of learning is called / fafirs R & Rrgomme sit
ST ) Rl B a1 AT W B 8, AR ST & e B Frar
eAe,_ peAgl

1. Problem based learning / HT TR ST
2. Learning from observation / JTAIDH GRT SR
3. Inquiry based learning / 3§07 SR SMTH
4, Pedagogy of learning / 3{fORTH T fRI&OTIT

Correct Answer :~-

+ Pedagogy of learning / 3T 1 e

53) Barak valley in Assam is famous for which among the following? / Frrafafea ¥ & s

B aIP Ul frud fog ulrs 82
1. Bamboo Industry / 19 IR
2, Petroleum Production / ﬂgﬁtm Jdlgd
3. Cottage Industries / W RO
4. Tea Cultivation / I & Wl
Correct Answer -
« Tea Cultivation / =T 1 Wil

54) Which Unit/Scale is used to measure the ‘thicknesses of Stratospheric Ozone layer’? /

‘Waﬁqmﬁﬁ?@’ﬁmﬁ%mmw&nﬁmwm
ST 82

1. Melson units / HA9A WIT{QT
2. Beaufort Scale / I U]

3. Dobson units / IS99 31T

4, Sieverts / '\‘:ﬁaé

Correct Answer :-

« Dobson units / ST SHIAT

55) Quit India Movement was launched in the year ./ HRA @:Ié’l 3igia- L
T 31= foa 1T AT
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1. 1945
2. 1942
3. 1930
4. 1919

Correct Answer :-

« 1942

56) What is the approximate interval between spring tide and neap tides? / §gd SAIR-HTICT
3R TY TAR-HTeT $ e AT SiarTa 1 82

1. 30 days / 30 f&1
2. 1day/1feT
3.7 days /7 Ta

4.15 days / 15 f&1

Correct Answer :-

. 7days/7f&A

57) The Lion capital at Sarnath belonged to which one of the following kings? / TRATY DY

Rig e FafaRea § 9 foa o 3 gdfa Ot
1. Vikramaditya / fdsp AT G

2. Kanishka / SH1-sh

3. Ashoka / 3R0IH

4. Ghatotkacha / Ul@ndl

Correct Answer :-

« Ashoka / 32N

58) In which layer of the atmosphere is Ozone gas concentrated? / ATJHS A DI fbd T )

3ol A Fiea 72

1. Asthenosphere / TR IR
2. Stratosphere / THATTHS A

3. Ionosphere / TITHSA

4. Exosphere / CIBEES
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Correct Answer :-

« Stratosphere / GHATTHS A

59) Chalcolithic Age is also known as: EIGEIIGIRED q1 Ga| B ES o WY ST ST %:
1. Neolithic Age / ﬁww

2. Copper Age / dI¥ i1

3. Stone Age / 9THIUT g1

4, Tron Age!?ﬁ'ﬁ'ﬂ'ﬁ

Correct Answer :-

« Copper Age / diF T

60) During the reign of which of the following Mughal rulers, did Ahmad Shah Abdali
invade India for the first time? / FAfRIET ¥ 9 foud IR—HTa § G77d TS 35HG
TMTE SfGTall H Ugdll IR HIRd UR SATSHHUT foar AUT?

1. Jahandar Shah / STgIGR 28
2. Shah Alam 11 / RTg HISTH 11

3. Bahadur Shah / dglgX RTe
4. Ahmad Shah / SgHq =g

Correct Answer :-

o Shah Alam II / RITg 3ATcIH 11
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— PROFESSIONAL EXAMINATION BOARD
@bgé%r;l}notion Middle School Teacher Eligibility Test - 2018
26th Feb 2019 2:30 PM

Topic:- Child Development & Pedagogy (CDP)

1) 1f a child has mental age of 12 years and chronological age of 10 years then his IQ will be of qﬁ fefta=r &t qﬁﬁl"ﬁ g 12 af %

R SraTmRE o1y 10 ad § 9 Iu@ endey (gfFwam) _ g

1. 80
2. 120
3. 125
4. 100

Correct Answer :-

- 120

.1 gf ok w3 @) e s aren

2) Gray matter of the brain that controls IQ and memory have greater volume in learners who

A& 37 ¥ A, Rranfa & siftre wmr 3 g 31
1. get sufficient sleep/ AT g 7 &

2. take healthy dict/ %% HER @ ardl

3. avoid stress/ TG § e A0

4. exercise regularly/ AT =0 3 AW 3 97

Correct Answer :-

« exercise regularly/ PR &0 I o100 B 91

3) The is one who is more open, accommodating, venturesome, outgoing and pretty confident. / GE % it 3iftre o, ﬁlﬂq?lﬂ',

IemRie, ETE SR BIW! STAfIyr arar g
1. Introvert / Sfgl

2. Intro-extrovert / 3w SfgHw

3. Extrovert ﬁl‘lﬁﬁﬁ

4. Ambivert / GWIH@

Correct Answer :-

+ Extrovert / a‘l%@r@‘l

4) Obsessive-compulsive disorder (OCD) can be successfully treated using: [ QTﬂ-aTWHTI'& foor (\'ﬂ’ﬂﬂﬁ )y &1 mw ELEIE) =
IUANT s T o W @:

1. Cognitive behavioral theory/ E3IFTH® dagR Rigia
2. Massage therapy/ HYTS DR}

3. Antidepressant medication/ TéifetRic qa

4, Systematic family therapy/ YTl e gRaR i

Correct Answer :~

. Cognitive behavioral theory/ SHTE® IaeR gl

5) Which is the SECOND step in the problem solving method? / THT THTETH faferd LU I T grar %?
1. Formulation of hypothesis / TR e8] &1 fARsuon
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2. Testing hypothesis / af¥eea-Tali &1 udarm
3. Recognition and definition of problem / FH &1 SR &Ik GRymT
4. Conclusion / sy

Correct Answer :-

+ Formulation of hypothesis / TR eIT3{T T fA&TD

6) What part of our memory stores events that happened in our lives? / AR WY 7 B AT fawam R siia= # ufed ge-mef &1 HsR
?

1. Episodic memary fﬂmﬁ?ﬁ Hﬁ"i

2. Procedural memory / UfcparE® F{FCT
3, Semantic memory / Xsg1Yf ?Hﬁl

4, Declarative memary / BN IIEEE '\‘Hﬁf

Correct Answer :-

+ Episodic memory / W el

7) What is the first stage in moral development according to Kohlberg? /

Bigail & AFAR Afae Aoy & ugar o w@rg?
1. Preconventional morality / qﬁ-qmwmﬁﬁiw

2. Periconventional morality / Y- RAERET A

3. Conventional morality / QRIRIT A

4, Postconventional morality / Ud-ULHRF Afadan

Correct Answer :-

+ Preconventional morality fuj.qm?ﬂmﬁﬁm

8) What is the term Freud used to describe his theory of the structure of the mind? / 158 3 f6W Ug ST IudhT 14 &} W1 & 39 Rygia
BT quiH B & forg famare

1. Consciousness [/ EGG|

2. Iceberg / STSHT
3. Libido / faifsrSt
4, Landscape / Epcae|

Correct Answer :-

+ lceberg / SRR

9) What social motive is characterized by a need to control and influence others? /

BT AT 3R, gORT &1 Rl #39 ofik 38 Wl == 9t Sraxgear gy affa 82
1. Power / Siad

2. Achievement / ST

3, Affiliation / Halt[f

4. Purposc / 3554

Correct Answer :-

. Power / Ifcki

10) Parents who believe in punishing the child show ./ 2 Ao o 9= Y dfea s A Ry w3 e‘, m% |
1. Uninvolved Parenting / 38 (HIGIHP = H 7 ST g3MT) TR
2. Permissive Parenting / G{W aRkw
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3. Authoritative Parenting / Hfeiee qrafew
4. Authoritarian Parenting / SRS Rakw

Correct Answer :-

+ Authoritarian Parenting / SHUPRATE] TRaR

11) At what age does the child start to show an understanding of the language? | e e 3 F 9T 9t g ﬁ@m%aﬂ'a’ﬂ%"
1. At birth / SRIE

2. At three months / T+ Iiﬁﬁ L'rd

3. At six months / ©: TgIH TR

4. At nine months / 1 & TR

Correct Answer :-

+ At six months / 9: rl'Eﬂel W

12) Which is not the principle of inclusive education? / Fi-a1 gaTaRf Rren o1 Risia T 82
1. No discrimination between learners /1&fefl & g aﬂé Neyrd A8l
2. Separate classroom for special children /Aty a=di & foru sre dan

3. Equal educational opportunities /HHIH A sawr
4. Catering nceds of the all children /A S 1 @I Jdel SRE! BT A TE

Correct Answer :-

+ Separate classroom for special children /fI%Y S & foTT ofeT Feq

13) Which of the following is not a factor that will protect a child against stress? /

FrafafEd & & S 91 Te 98 $RE 61 § 5 9919 & 0 U a2 B T8 HM?
1. Family / GRAR

2. Intelligence / fes

3. Authoritarian parenting style / 3{TEBIRATE] UGN 2ef!

4. Peer relationships / GgHT

Correct Answer :-

« Authoritarian parenting style / SHferpRar uRateer et

14) A 12 year old child understands that the weight of a table remains the same whether it is right side up or upside down. What concept has
he grasped? /T 12 TSl T Sl ¢ U & % U T BT Ioi a€) T8l &, T2 98 TTE IR 8 1 Iech €11 I by
|

1. Conservation / H&UT

2. Inductive reasoning / HTTHATHE GED
3. Object permanence / mwﬂﬁa

4, Hypothetical reasoning / Uit ierd ah

Correct Answer :-

« Conservation / T&UT

15) According to Psychosexual Developmental Theory, fixation to which of the following stages results in dependency? / ﬂﬁ'ﬁ'ra?ﬁa?m ﬁl:k"lﬂ’af
gaR, Frafaf@a sewusii & @ frad Frafvor feedem) @ Profva ¥ gur gares

1. Anal / Tal (UH)
2. Oral / HIf& (31Ra)

3. Latency / Gyl (?I?@l}
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4, Phallic / ST (@)

Correct Answer :-

+ Oral / 9@ (3IRe)

16) Growth always corresponds to the age of the child. This is because of the principle of - fawrg 3ﬁ'-‘1'IT TR H I AT E’I’rl'l%l qg F
Rrgia v aru gk g

1. Continuity {ﬁm'l

2. Uniform Pattern / TdrdHTA e

3. Integration / qaﬁm

4. Individual Differences / Jaf e

Correct Answer :-

- Uniform Pattern / THgEH e

17) Which of these is the best way to improve problem solving skills in primary school children? / nrufire faene & a= # ga FEru siea §
YUR HI BT T ST a1 1 27

1. Solving mathematical problems. / TTOTCIT THRETSA FT THIY F11
2. Find solutions to problems that they face in their daily life, / 37 THEINS HT THILN GiomT, R § &9 &R® ofiaq & 9 333 8
3. Talk about their problems to peers in the class and the teacher. / et TEensif & A B wem § Tedme! $iR e § g @

4, Apply steps of design thinking process and engage with community around. / ST9 1 THAT & &R T =01 &1 AR HIAT iR STHUTY & FHEE F QY &
Al

Correct Answer :-

+ Apply steps of design thinking process and engage with community around. / 519 @1 W1 & wR § ==0ff & GINCTS| 3R ST & T & 1Y
Exeil]

18) believed that personality develops through a series ol‘stages and the effects of childhood are long lasting, / T AHEAT T o

T, TRon Wﬂ‘aﬁ@m%mmﬁﬁﬁﬁmﬁm% U & UHG o TRI d@ ed 2|
1. Albert Bandura / 3TaC &gR1

2. Jean Piaget / Sii oS!

3. Sigmund Freud / RITHS A8

4. Lev Vygotsky / fora argmiieaant

Correct Answer :-

* Sigmund Freuda’mm

19) The term normative development indicates: / ﬁ%{'ﬂm fara e ‘qﬁam ﬂ':
1. Rate /TX

2. Extent / ST

3. Direction / f&3T

4. Distinctive qualities fﬁﬁl‘g‘ﬁﬂ'{

Correct Answer i~

» Distinctive qualities / ﬁﬁTE o

20) When environmental influences cauplcd with cognitive factors are responsible for learning, such a learning is known as:/ mwﬁﬁﬂum

TS RS & a1y ey aftnm F e Rrmier g &, i su e ¥ afirm ) fr wu § e e 2:
1. Operant conditioning / H0¥E HEIATT

2. Trial and error leaming / W& S¥ ZfE aiftrm

3. Social learning / SIS Siftmm

4. Classical conditioning / GaIRiEGd darifT

Page- 4



Correct Answer :-

« Social learning / T 3ty

21) As a future teacher, you will need to and connect with roomful of diverse students. / T&F TdT FR1&/F F F9 H, 3MIHT
B sazgear grit ok fafie o=l @Y wen & a1y e g
1. Deal / 1A

2. Connect / GJS_q

3. Understand / THH

4. Collaborate / TEGNT

Correct Answer :=

» Understand / THS

22) Which of the following is not an example of critical thinking skills? / FafafEa A e g+ fee= I BT T JgleXun :I‘a%“’
1. Improvising /TBTel AR FAT

2. Classifying /EFW Rl
3. Tracking /CIEOTTERUT
4, Describing /SHRSITHE

Correct Answer :-

+ Improvising /A@pTd GAR BT

23) When children recognize that each individual is aware of other people’s thoughts and feelings, then it is called:/SId T 9% UgIHd

& 5 vdw wafd gor @il & RaRY ok wrammsi @ s €, & a8 @8l ol &:
1. social information role taking/ TTHIfoTD a1 Yo T1

2. social and conventional system role taking/ TTHTRIE 3R UTEUfves Wumelt &t yffrwt o=

3. seli-reflection/ 3fTa7 Ufafda (@ew-fradiaem )

4. mutual role taking/ SITAT YfFeT AT

Correct Answer :-

« seli-reflection/ 3T WA (Tew-Nueiar )

24) Why do we have culture-fair tests for intelligence?/ wﬁmg@um%ﬁuﬁwﬁr.ﬁw&r Lt Eﬁ%‘?

1. Intelligence tests should free of differences in language and education./ E@ﬂﬁT ORteqor, T TR e & SR | W'E;'ﬁ' aifRul
2. Cultural understanding is a part of intelligence./ §I&p e dle g@ &1 U R g1

3. Intelligence is culture-dependant./ T TG fadb-MUIRG B

4, Intelligence can evolve/ g@tﬁﬂ' B! faw g famar o g 2|

Correct Answer :-
« Intelligence tests should free of differences in language and education./ m Tlegur, WY 3R Ry & AR A e FEEIRY
25) Which of the following determines the impact of failure in school performance? / Frafafea # @ oF-a1 fRaem yes = o sewaa o1

e PrufRa sear e

1, %imc allotted is more than what is actually required to finish the task / Tdfed THE 34 H1d F 31w B < araa # w1 U S F R omagass
I

2. The pattern and setting of task /T4 &I e 3R g

3. The Challenge - what the children asked to do—which is not engaging or relevant. / ﬂzﬁﬁ- Tl 1 B P (10 FgT 741 - Snih e a1 URifTe
T

4. Level of casiness in the task / @I & JTHAT T &R

Correct Answer :-
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+ The Challenge - what the children asked to do—which is not engaging or relevant. / Tﬂ?ﬁ - o @A & fore ST T - o a1 wifie
T

26) A learner is an intuitive learner if / Gf¢ TH ﬁmmmgﬁ%aﬂ'ﬁ%m?

1. They notice the big picture, see how everything connects. / EESiGESiEs a@ﬁ%, 3R ug 3] Se+ @1 ufhal 1 @I
2. They pay attention to concrete facts and details. / J E[Ef it 3R faeRolf IR e 39 7

3. They focus on the reality of how things are. / 3 fior St %‘, @Eﬁ RGO & & %l

4, They like to describe things in a specific, literal way. / 98 il o1 fafre, e EUEEREE T BRI T &l

Correct Answer :-

+ They notice the big picture, sce how everything conncets. / d Ta] TRAIR 4@ g, R us O Sie &1 Uil B §@d 2l

27) Which famous professor proposed that children move from a position of egocentrism to sociocentrism because of social interactions? /

e witis: virdre 3 wivriee v o o Wi Hast & SR, el fRufa < Tremre 3t ok agd 82
1. John Dewey / 51 g8

2. Lev Vygotsky / Od argaited!

3. Jean Piaget / 5 foramat

4. Howard Gardner /8138 &R

Correct Answer i~
« Jean Piaget / SiH foamst

28) CANCELLED

Which of the following is an incorrect advantage of problem solving method of teaching?/ ﬁ'ﬂﬁlﬁﬂ =) ﬂﬁqﬂﬂ ﬁT&WT @I THWT HY Bl
Hv B fafly &1 Terw @y 82

1. All disciplines cannot use this method to solve a problem / TH! [ASIST T Tl &1 STTNT THWT F €61 I & forg 761 BY god gl
2. Learners participate actively in the process fﬁﬂmﬁﬁ&mﬁ(ﬂ#\'} BIE L ESeRS| Waﬁ%l

3. It makes the learner interested in the learning process fﬂ‘s’ﬁl?&ﬂ“ﬁ {@% & 3{feeTH @] ufear # feaeadt ﬁ?ﬂ?ﬂ%l

4. Evaluation of learning using this methad is easy / 58 USRI BT IGGRT S T T P Al AEHE IS8

Correct Answer :-

+ Evaluation of learning using this method is easy / $9 TG Id &1 ST F T S(RATH &1 i1 3TE g1 el 8

29) CANCELLED

The diagnosis for children having problem in word findingis ./ T=! § Meg G B el ﬂﬂﬁ?ﬁ_ﬁm%l
1. Dyslexia /Fé’ﬁﬁ’am

2. Dyscalculia / %ﬁmﬁqﬁm

3. Dysnomia / et

4, Dystopia / i

Correct Answer :-

+ Dysnomia / feufaa

30) CANCELLED

Who described a ph called horizontal decalage? / &Yt SHASNTY AT Te=T1 BT aui fa frar?
1. Erikson / SNGEH

2. Piaget / TS

3. Freud / WTOS

4. Viygotsky / TETITH!
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Correct Answer :-

« Piaget/ fUarat

Topic:- General Hindi (L1GH)

1) 9o e o, 9o farar o,
e fw amg
WE- N TET &
Ry e §
STHE R 41 & 6t
FRIGA, IWRI@R

9 3 § ITe-gUs +

BT F1gd 9l e aE @t
Aot § 4 oY
AT A §

TE WM AP 3ME

Y A, e garg

oA forg, erdat O

R, gl | 9a®e g

To7 & w3 g, 7,
R Mg ¥

IUYT T T UgeY A U W aT) U ®1 3o aarg gl
;TS T AT T 82
1, HHER 3} @& At

L FHIDRE TG
ENCTGRGEn

4. FIA YRR

Correct Answer :-

. THER 3R @R gHT

2) 96 foar o, 9o fvam af,
aee iR ame §

N W F

et & oy &

STEHF W 41 3@ o

FRIE, WA
TR ¥ IS8 W

P AEH P o at

A wIoi H R Y

Erdiuici

Tg WS BT 3

T AR, Wad geaw

o forg, erbd &Y

fire, Tt & waww oms

bz & it wig, 1,
W ¥

I T B USRI YD W T WS $1 I aasgl
WET: WX 1 UATaar e 41 T6H 82
178
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2. ™
3. P
4. Framofy

Correct Answer :-

« Ty

3) 35 e o, T i o,
e AR oMy &
N T s
it d amg #
STHHA 4R T 3
TR @, WAl
9 78 ¥ IF-IS I
T AGH qE
AY v 7 WA Y

T AT A

g W AP ST

W AR, Aa [
A frg, s d

ferg, @i & gaw oré
T 4 WS g, 1,
WMy

I T Y USHT A I W O T $1 I aagy|
WA aed fFas wd§ 2
1. P&

2. oM & oftEr

3, @af

4, QI F

Correct Answer :-

. PUEF

4) I3 far o, 33 ferarT off,
a5 i ame §

N TS

W e F
STEHI HR T &

3R 3@ o, S @ A

9 § IHS-gEs W

PT T15E b o
Aol F 4 Y
AT §

g o AT o

TR AR, Wad R

A g, aFa

g, BE & Taw g

fope & uReHt wigH, |,
WwR e F

IUYad UL FI UgHT A4 Y I T4 U BT I a5yl

Page- 8



W “qRaTs’ T o o ghat §2
1, U &1 3R T 9Tl g4t
2. & St 3R Ie arell g1
3. gd @t 3R 9 e arel gan
4. ITR B R T arelt gar

Correct Answer :-

« gd o SR § g arefl g

5) 3o far off, ¥ fFam s,
area fig omg &
WE-RAEAF
R amg ¥
STHHA HR T4T 3 Y
SRIEA, SWITER
A ¥e § ITS-gHS N
T AgH aF §E dt
& Wt 7 WA

T XA

g T AFT 3T
T YR, Wad R
A g, aha A

forg, w61 & TowR o
T & WS g, 3,
R E

ST Ui Y UgHT AR Y W aret WA $1 S gyl

W e AT’ @ R R 7
1L THgar

2.9

3. Gt gl

4, 9ggigd

Correct Answer :-

-3“\_5:‘33[

6) 96 fam ait, 38 forama &,
e iR ame

W E- T F
wfd e §
SHTEHI HR 74T &
TR W, TR F@ A
4 7E § IUS-IH8 IR
PTd T1ge 9P o 9
A wroit F w @t
AT W §

T I AP 30§
T AR, e qRar
o forg, arFa &

forg, @t & ey oré
1o 4 w3 wigA, 1,

Page- 9



RNwam

IUYH T FI gt R U S 9re W &1 I gl
e g o e @ g2

1. T A DI T

2. Fad HeAM

3. Tad sifafy

4. FIgHM 3R SHfafy S

Correct Answer :-

« Tgar 3R sifafy S

7) 9% f&arm o, 9o foam al,
ared fiw amg @
NN TG F
e ¥ g ¥
STHI R 741 & at
TRIE, IR I|

AN T ¥ IUS-GHG TR

BT T1GE T o at

Eid RSk
A E

T W A

T AR, e waré

A o, orbd &Y

forg, ot & g oré

5 & W& wgA, 9,

AT oY F

IUYR T FT 9T IR I W A1) IR BT I qdggl
WA AT 1 e wreg T @2
1.7

2.3/

3, faamg

4. Sl

Correct Answer :-

- T

8) 9 v off, 9o famr of,
aree R amg §

W F- W AT &
wf A mg ¥
HTEAT R T4 & |
TRIEA, IRITTRA
a7 § 9ns-gEs ™
o1 araE ol e T @t
Ao § 4z Y

Y I Y &

g W AT

X AR, e ward
W g, s N

Page- 10



Trg, el A werwR ord

T & Wi ug, 1,

Nwam

Iufa TR T UgHT A U W aTd WS B 3oy adge|
W ATgd S A9 @ 87

1. gH-gA

2, IHS-UHS

3. 9491

4. BA-BA

Correct Answer :-

. TGS

9) 3% faH o, 9o e af,
e R ame

W AT

wRd amg ¥
STEHET HR 41 3 d
SRIEA, IRITER
AR § I-TIY T
P q1ed P o at
Aol F 4w @
AYIAT T §

g W AFT

T AR, WMae Rar

A fig, e A

fery, et & warwv omé
i & wedRit wrg, 31,
TR Mg ¥

U Ui B UGHT A IR O T W BT I 9argyl
W Al w1 ord w82
1, fFreifa

2. gt

3.9gd

4, i

Correct Answer :-

. disraEr

10) I3 fFr oit, 95 forarT af,
aee iR sme §
N s
wreft i amo &
STEHI U AT &
TR W T, TR T A
A T IAS-YAS T
P Arge af e
A Wl # A By

Y XA

TE I AT

Page- 11



WY AR, Wad warg

A forg, e &

forg, el & g ord

fope @ weHl uigH, w7,

Ry

I T F YSHT A g W A 9N $1 Iel? adgu|
WA ‘S & wiard we #2

1.4

2. 99

3. femmem

4, ST

Correct Answer :-

11) I3 fFwM 3if, I fewr an,
ared fuw amg &

W AEAF

¥ me ¥
STEH W A1 &«
TRIE, IR TG

T 7 § Is-gEs W

FT q1ee afe @ at
Aol F 47 Y

I G

Tg WM BT 3

T AR, e gar

W g, aFa R

forg, et & g oré

o & weaRi wg, 4,

W we e F

ITYH TN P UGHT L IS S G W BT IwR el
W TR Ui # fre T w1 avfa 82
199

2. %R

3. WrEf

4. 9raq

Correct Answer :~

» HET

12) I3 off, Is foram o,
arew R ame §

R F-w T &

wrft & sme ¥
AT R T @ |
FRITA, WA

T 78 € SHS-gHS B
Ejoice i Ee gkl

o vl H W F

Page- 12



I E

T WM I 3§

wEE A, Hiee warg

o forg, erdd o

g, wel @ TawR org

e 3 wedell v, 9,

W Mg

JUdEd Ui 1 Uy A U WA 9rd UNH @1 S} qaigul
WR: TRATE e g wemeny org 87
1. o=

2|

3.%3

4, fum

Correct Answer :-

. foam

13) 33 feam ail, 9o foum af,
ared R omg ¥
VR T F
Ry ¥
STEAI HR 4T &
TR I, TR FW A
A 3@ § IHS-IH8 IR
FT qIed af T @@
A wToi H ww Y
Erdiic)

Tg ST AT A

W AR, e e
A forg, arFad a

fora, Tt & werwv oré
ot & w3 wTg, 3,
RmmF

IuYE T $ ey A YE WH ard ¥EE &1 3@} aasy|
w: qRars it Ee 22
1. Xiaa

2 FHATE TG

3. A TAE

4.7

Correct Answer :-

. dad

14) 33 fbam ail, 9o fowr ai,
e R sme §

N wET &

wrdt & amg §
STH HR 7 & al

TR I M, SR T A

4 3R  IS-gHS IR

Page- 13



PR ATGA qHF S
A IR R
G Y §

g Homm AT
WRE AR, aa Rma
A g, spd

foru, el & @ o
52 A w3 g, 9,
W g ¥

IqYed T F UgHT A UF S 916 W $I I aqrge|
WE: qigH -

1. Sed g1

2. foa gl

ERIERE

4. UPd g

Correct Answer :-

. fiRa®l

15) aftreETg # 9T e Ui AR § MM IR i 9 Tem Wi €1 die % uge fom | i @ e v 1 R W @ 9wrE 3 ol 21 399
TafaRur T ot orar g1 Wil & R o 9= dta R Tt gereT gRmt aem §) o $ R wR-aif e o1 il & wemd §1 Ter-diet gt e e eud
e B1 3 ot e o gar 81 sifme # oifidt sremew g wwd= F e wwran wien § 1 a6 § gedt @ vty iy 3 wrar 81 w3 & v § 54 waw @ waw
T ST § | 979 GTa0 SAadd U 3641 § f SaH gU S0 &3 § 1 gY ¥ 6y IEa1 g1 UITE 9 & SN § Iusal & i grl $iiT Rraw sifa #§ euw ggar
B IW WY AT AR 5 G R & A9 964 ¥ oI W | feme g i direr 3 wewar gt @ o ad o arfir 3 e a5 o e s fmr

U TR HY UgeT I G T YA B Sk aagu|
W TRt Wl Wi T e 82

1, OUF $US U8d g

2. e FUS YgTd o

3, IARA gETd ¢

4, SIS TG €|

Correct Answer :-

. WHYS TEAAR

16) aftreTg # dira wigr diy wre # Smed & TR R aw a-man o #1 diva & ugd 7w il o dier aae # 1 W @ v o ondt 31 g9
TafeRvT W= & a1 #1 4ift ¥ fa i 9= S ofik S aeee @il oA # 1 e & i -3 3wt & we €1 TeT- e @l @ A eng
TETd §1 39 A e oo T g 21 $ifta F it srares ¢ a6 & 1ie geran Wi €| a6 | gegl @1 gt vy o wen 81 T & 7 § 56 wwe @ ga
ST AT € | 579 196 a0y HUT 3547 & ol 90 gl T ad 2| ?$mm§mmaﬂq$mﬂm%aﬁ?mﬁaﬁ?ﬂmﬂaﬁﬂﬁmm
T IY THY TRY AR Fhg O @RI & A 9od © ok Wi A Rieer & i diren 3% wawar gt € o gl ol oy A dimm v = ler e Rmr @i

IUYR TN B UFHT i IR T I BT IR qa13¢|
e Ui e ad ® A s §2

1. O

2. Fifda

3. A

4.9

Correct Answer :-

.

17) afirerrg ¥ divre wigR 9iT 7 # omeH ¥ W R a9 T e §1 it & ge 7 g il o1 oer w1 @ W F vers 7 ol 81 7
yteRr @@= 8w g1 1l & A o o) v G oik T asre) gREl 7 ) 9ire & R aR-oif e o el @ gerd €1 Ter-diet wilt d e e
g § 1 99 & wa g Tan g 81 S # ohfte srare AT ad= A witer uwman v 81 a6 # ged) @ gt oty R o &)1 T & @ f 7 e o aaa
ST ST 8 | 59 UIae STeh] SUT J6dT & ol I6i g ST 3 € ?%mmgmmaﬁq%wﬂm%mmﬁmﬂwﬁaﬂmm
21 39 HY 9T 3R g @ G @ T 9% € A Wi | Riewm g et 3% vt gt ¢ g o aifir 3 die o i witen e R g

Iudad T B Uee? HH U T WS &7 Sl gargg|
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W Ui Reres weTar s §2
R k|

2. ISt o

3.

4. glex

Correct Answer :-

. S A

18) afirerTg & e WieR Uiy 716 § oMW & TR 3 a@ 7701 o1 €1 Ui & Uge o @ HIT 37 Qg AT 81 QY I @ §HTE o T 81 59
TafeR T W0 g Wil ¢ 4l & fa T Y o= S iR T Feneny @il me g1 oie & R wR- i 1 Tt & 9ed €1 Ter-thew @i v A eue
e ¥1 39 3 W9 oo T gtan §1 i # anfidt ey g wd= # i uewran wen €1 9= # gedt 37 gt gt famn o 81 73 F @ # 1 woe a9
UHTAT AT § | W TGS SIadY IR I60T ¢ of SUH g BT 0 | U F WY IGAT T WIS I F HUX | IUST € ofR IRt o e offa # eues ugar
Bl G'ﬂmaﬁeﬂtsﬁiﬂﬂ@ﬁﬂmaa%%aﬁw‘mﬁﬁlﬁlﬁ%—‘mml'ﬁmﬁ%ﬁ?qﬂeﬁaﬁﬂﬁmmmmmméa

IUYER RN B USHT S GO TG WL FT I qansgl
W Ui A a?

1. AR SR g

2. e SR wremT

3. TIBR $iR ae

4. ¥ioF AR Bg

Correct Answer :-

. TieR 3R o

19) aftreeTrg # dive WigrR U 7§ Sy & TR foHl 9% weman wirar 81 i % uge 37 | it 1 dier 7 €1 ) W e 3 et 8
otRr Tes gt o g1 i & R T 3t o i ok ST SereR WiRET A 1 e & o wR-off T ot Sl 3w §1 er-uies wft dv e e
Ea &1 9 e e o 1 gar 81 sifr & oifidt sy T ad= & it yeran s €1 ad= # gedt o gt iy fan o 1 T3 & @ § 54 vhw o1 aaa
UHTYT I ¢ | 57 HIae Jaedy $0% Sod] § ol SuH gY ST &d ¢ g & 9IY IB-AT 5ol UITTe ad & ST § SHgdT § oK U 3 Ruee oifa # eue ggar
| mmaﬁaﬁﬁm%'ﬁhgzzh%qmaaﬂ'?ﬁmﬁﬁmg‘mmr#mﬂ?ﬁ?ﬁfﬁhﬁwﬁimmmﬂmwﬁm%l

U TR FY UgaT 1 I T8 UL H1 I aagel
W Sy 1 vafard e el 82

1. 3Fd

2.9E9

ENCIECH

4, 31T

Correct Answer :-

CRCIGE: |

20) afirerTg ® e wierR Uty w7 oMy & WR 3= 9% AT o €1 i & ugd 3 i inft o1 Sier wena §1 9 W 9wTs o ol 81
ateror @@= g s 81 4inft & 27w #) 7= G ot Tt asireR @Rt a ¥ e & e we-sifr o wielt @ werd €1 wrer-sitey wft /i e el
v §1 3 a1 e o gan 81 it F aifidt sramev e asd= F e weTan wiren @1 ad= # gedt @1 dten ate o oman 1 w3 w0 § w1t wwe w1 5w
wm%mmwwm%zﬁaﬂgum%ﬁ%l?%mm ST T T & SO A SUSHl § R URT 3k Rawx sifa # euw g
B 39 GHY TRT SR 5% o Gl & A1 954 & SR A 4 Riewn g o diren 3% wasar erdl 8 b g ok sl 3 dive o vivr wter e Rar i

IR R FE UG A YD Y R BT IR FE

W T w1 arae e § use g W e wmar @2
1§18 G TE

2. 74 BHA @l

3. QU BHe @l

4. QU SR A5 &1 G b

Correct Answer :-

. T mEd @

21) afterTg ¥ dive witeR uty AR H omed & IR R 9 weTan wrar ¥ e % e 7 d il o dier w1 @ W o 9w o ot 21 3o
afawor s gt wran 81 +ift & 7 o o) a= S ¢l at asirer @Ral o ¥ e & R ee-siir o wiell @ aerd &1 srer-diet wilt /i e e
TEa B1 39 A e oo g #1 sifre 7 it s g wel= # e o Wi € | ad # get @ gt Aty fagn o 81 T & v § 71t e @ e
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BTN AT § | 54 T ITED HUT o1 § o IUH g8 ST & § | U F Y IBAAT g Ui T F FHUR € IHSAr § o) IR oY Fraew aifg § euw ugar
| G‘ﬂmaﬁaﬁﬁﬁmq@ﬁmm%eﬁ?mﬁﬁmﬂ%—'mml'a%mﬂ%ﬁ%ﬁiqﬁaﬁuﬁimmmﬂﬁﬂm?mﬁm%l

IUYR MY F ISP A GO T U BT IR qns g
e it F AR m e

1 FTA A B T

2. FHaa a a9 ¢

3. a9 eI g g

4. B ST AT 1 S €

Correct Answer :-

- B0 3R S I T €

22) aftrerTg ® dire wierR UiT w7 omeH & TR S 9@ A S €1 6t & uge 7 i o1 ©ieR A &1 R W A 9wers Bt ol 81
TafaRur T g ot g1 9 & R T o a= i ok A awre @Rt A €1 Wi % R wR-iiE @t Sileh | |erd €1 Ter-te) wilt | e ey
g &1 39 fa1 e oo T gar 21 aifre F anfidt wrenrse g ad= & dine weTan wrat €1 ad= | ged) &1 e gty fym wmar 31 ma & w0 F ol wwa @ 9raw
T ST § | 579 9Taw SAad} U 3641 § ol S9H g B9 33 ¥ gY F WY IE1 g Ui 94 & HI | Il § N TR ¥ R offa F euw agar
| wman’faﬁum%'a’mgzﬁ%maﬁ?aﬁﬂwﬁmgmmrﬁm&ﬂéﬁrq&maﬁﬂmm i WieR w¥ Rar g1

Iude TR I TR 9 G 1Y U 1 S qagel
WH: T @Rl & o A S 82

1. 3 & T F IR

2. G4 F S T T PR

3. 9 9 oiff & 99 F IR

4. T4 7 3ff & divTer &7 1 WHR T3 & IR

Correct Answer :-

» g q afl & divre @1 W HaR FE & RO

23) afierrg # e wier Uiy w # oy & W R 9% T S €1 Ui & ugd 7 wnr i 1 Sier 7§ Y W 9 9w B ol 81 o
qafeRr W5 g a1 71 il ¥ O o= S ol s aonee @it wAne 1 e & e - 3t St & werd €)1 TeT- ey Wl @ A wug
TET €1 99 3 99 39 T g €)1 it & 3t sreares U e 8 tine uean s @1 96§ gegt @ gty Sy far s g1 % @ § 1t vaw a9
T ST § | T OG0 SAaTR &Y 9607 § of SUH g S0 &d 8| g P A1 IBaT g1 TS a6 & SN Sl & o IR 3R Rawx sifg # euw g
%lﬂmmﬁaﬁgﬁ%ﬂhg&ﬁ%ﬁmm?aﬁ?wﬁﬁwﬂ%ﬂmmr wawa grdt & 6 g oflv afy 3 divrer o iy wier o ferar 81

Iy TR F Ugw? S O Y W H1 I ansy|
W T | T 9 S 82

LA ad
2. A FrRn
3, dfuq ST arRn
4. ged] Br Uty

Correct Answer :-

. Bool Hr Oy

24) aftrerg ¥ die iR gty 7R H o & IR R a wemar wrar &1 dire ¥ ved = dvr il wr ol v &1 w o werd o ol 21 e
yteRur T 81 w1 g1 Hitl & f3F T @) o= i Sik T asiTey @RI A €1 i & 6H 1e-si o Sl @ ge § 1 TET-Uiet @il i e e
e ¥ 39 A e oo T g #1 sifte & ahfidt s g ws= i Teran Wit €| g | gedt @7 gt Aty 3 W 81 T & @ § 7 vew @ e
TS ST € | 579 A9 IT0H FUT IS & ol S gH BT 39 &1 g4 F ATy IB-aT g U 964 & SR | ISl & R TR 3T Rasw aifg # aus ugar
%laﬂmaﬁammaﬂﬂgaﬁﬁqﬁm?aﬁ?mﬁﬁm%-ﬂmmr AT el ¢ o Tl SR orfdy 3 dira &1 ol witer s e 81
IUY MY F UGHT A T MY T FT I aarg g

e "ugtaeur &1 Efi fawe @ gme

1. T+311aRy

2, GG+ 3R

3, TRI+SHIER0

4, TRE+3fTaRo

Correct Answer :-

« Gi-afER
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25) afteETg ® Ui WieR g A F Sy F IR I 9@ T wer §1 e % ugs o o i o1 aieR e ¥ I W @ et 3 9l 21 39
TafaRor Y90 B WAl 71 il % fam w6 9= 9 oflv AT aTee @it e ¥ e & R -l 3wl @ 1 Ter-tite gaft 9 e BT
TgTa & | 39 fomr w9 oo T gtar B1 i F onfidt s e ad & wie v s 1 9ed F gt o vty sty faon e @1 3 ¥ F 76 wae w9y
T I & | O OG0 SAUSR &9Y 96aT § A S9H g ST &4 § | gU ¥ WY SHaT g UITE T6 & SR 3 SHSl § o URT 3R Raww e # oo g
%IG‘ﬂmﬂTﬁaﬂiiﬁiﬁﬂﬁszﬁﬁﬂmaﬁ%‘aﬁrﬁﬁﬂrﬁﬁﬂlﬂ%‘@m@f‘m!'ﬁmﬂﬁﬁ%ﬁ?ﬁﬁéﬁ?ﬂﬁﬂ@miﬂlﬂﬂﬁﬁﬂﬂ?ﬁm%l

JYY T B ISP A YD T U BT IR qqT5G|
W U ¥ 3 AT S a2

1. 94r

2. A

3. Hdals

4, fda

Correct Answer :-

« 41

26) af¥rerTg o divTa wigR UiY 7 # oM ¥ TR = 9% wear o €1 i & 95 7 i i 1 e w1 ) IR 3 wwers ot ot 81
qyteRr w81 w1 g1 Wil & fF T o) a2 G ok O asire) GREl 7 €)1 9 & R ae-oi T o el @ e €1 Ter- 4ot wilt a e e
TER &1 39 7 wa oo Tur dar @1 ot # ahfidl srare A ad & e ueTan e 81 ada # gedl @ gt &ty R e ¥ @ & @ @ T ved @ aad
mm%lmmmmm?ﬁmﬁgumaﬁ%?%mm 2T I a4 & U J INSaT § AR TR 3w Ruee aifa # euss ugar
1 I THY TRT AR g6 A GR @ T 95a ¢ S oy @ e € i direr 3% wawar el § o g ol sl 3 e & v witer w1 Rmr g

U MY B Uew? A IS 1Y W &7 It aargg|
W e & wed f3A b B ar wier A 87

1. M 1

2. FH AP 1

3. Bl I

4, Hitfi &7

Correct Answer :-

« Ui ar

27) aftrerg # dite wigr diy wre # oy & TR T 9% aemn S @1 uire & ugd 7 s il w1 oer g 81 @ W E wwerd 6 ondt 81 5w
otaRer TS g o ¢ it & fF T ) o= S SR AT aweR ERET T ) e & T -3 @t Sl & g €1 Ter-utes wlt /i e el
g 81 99 1 Ha oo Tar ar 81 eif # o sy g e 7 uitrer awran s @1 ade  ged) oot gt ot frar et @1 w3 & v F i v @ wwa
SHTAT ST & | 579 AIaE SAEHT SUR o0 & al o gU ST 34 §1 gU & WY IBTaT 5o Ui a6 & SR § SHedT & v uR i Rwew sifg # euw ugar
21 aamm‘fahﬁargEhmgnﬂﬁmaaﬁ%aﬁtmﬁﬁﬁﬁ%-'mm!'a%mﬂ?ﬁ%ﬁ?waﬁ?aﬁﬂﬁnamtﬁnﬂﬁnwfém%:

I TR P TewT AR U MY WE &7 S izl
W Wi WieR & 4 T g 82

1. 90 7 gedl &1 e SfeT e € 1

2, T TETa-NA T E |

3. R P FBE Gl 8

4. TR 1 el & wedae S €1

Correct Answer :-

« R R TR E |

28) afierTg W WiTe wier diy A # S H & uR R 9% Hean o €1 9iv & usd R wihr divh o1 ©ier A 81 R W T wwrd B o 81 59
TotaRor TS Bt o ¢ it & A o ot w= e ofik TS e} @RI 7§ Oite & R wR-sifr ot dielt & gerd §1 T5T-diew vl /i e e
e €1 99 i wa o T g 71 3ifn F apftet s e aea § vine uwrn e @1 a6 # gt o v gt s 21 w3 & § 1 v o1 9
T ST § | 5T G196 SAaaR HO 9607 ¢ ol S0 g ST 39 €1 g T WY IBAT g1 TiTE a6 & S A IASHI € o URT 3% R 3w ¥ eus g
| wmm‘faﬂzsﬁaﬁng&ﬁ%ﬂmm%’aﬂrmﬁﬁaﬁ?‘mmrﬁmﬂ?ﬁ%f&ﬁﬁmaﬁﬂmﬂaﬁﬂﬂﬂfﬁmﬁm%l

IUY T F USHT A Y T U FT I Fa13e|
WS UHTe gl AT Wi §2

1, HrEBI

2. dfferTg

3. feweht

4, 3{H
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Correct Answer :-

. AP

29) aftrerTg # Wire wigR Uty W oy & IR 2 a9 weT o §)1 9 & ugd 37 e ainht o1 oigr A #
TgiaRur e g W 81 Hivht % R o o= S ofiv 9t Iy @Rt v #1 i & R we-sitm @ it

WP AGTE T 213w
Tl TEr-tes oft 9 e Fud

e €1 39 ot e o v gt 81 @it # onfiSt eremey A wed= # e T e € | a6 | gedt o i 9ty i o 81 T3 & v # 1 o a1

TETT ST § | O U1 e} &Y 96dT § al Sud g BT A §)
21 39 gAY TRY AR 3@y A G & A" 9 § ok Wi § e

I TR B TeDT A I T WS T Iw qarsgl
WA AT (A U e 82

1.SEIA

2 TASF Y

3.

4TS H

Correct Answer :-

» TAHWH

30) 35 fRram o, 35 v o,
aTge iR Mg
WE-W A &

w3 e

ST HR 797 & |t
SRIEA, IWIF
AR § SHS-YHS TN

TS AIGd aiD g qr

o WO F 4R Bt

AYIM AL E

TG HIT ADY 31§

X AR, St gRa

RN, s

fore, wei @ waww o

fipe 3 vt wigH, 9.
Rawame

I T B U 4 @ W I 7 F1 Swi aargl
A ared e & Rig s and §2
1. T

2. faamg

3, HiTT

4. SUHH

Correct Answer :-

. T

B ATy IEAT g1 G g & U A IHsar & o wr o R sife § oo ugar
“TiTe GlTTen 3¢ Wl gt ¢ fob W iR arflr 3 dive @1 i witer o forar 21

Topic:- General Sanskrit(L2GS)

1)
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eelieht Gfscar STelfAfétesa Teeed Yeacal qaad -

arTTdaEgedl arEriufducad|
TR gog TradToRAHLaT |l

T FergdTRER U IT eITE feadl

T A0TMERGUSATUS AR AT RAAUSITHAT|

T SEATCIAIShRIveIfafer: &d: der gistdr
AN AT I TEAAT F9Tacl foleIssTsgaragT

T AT F: ADN: ?

Correct Answer :-

_die

—

2)

9ollehl UTdear reNfaTeSesT U9sTEy %Agagcdi I -

AT fAYAeqd: A ITad |
HSRHsSIRIA HIH: HHAThEIsHERT |
PreTgaid FrAle: TFARTCEAATa: |
THISRIG, TRGATRIT TR JorRAfd |

THIE: HEAT FaTd ?
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Correct Answer :-

~ ohreTd

-

Y afror ot & Ry 2

Correct Answer ;-

4)

URTRE UfSeal WAET YSHcN JaId -

AR Sel: ‘IR, ARdavH ‘fReqeare sfUsar sfa wqfe: arafa:

fag: |

THITd 3T AH ARAH Scdd el Edlhd &A1 3ied | gellsy

FIARTT FeAHAR Thed#d , Heold T IRed Flaega: e |
T 3cacedi Rf FenfeRet: Ao fd| 3 §ER @AY gday
s 3T | 3T UG S 3T ‘gdRrel’ Sfd a1 AenfeRre: sfa ar

FeAcT| Tt TSI, THAT,AAG:, TG faaear scanfea: g d:
uefdfed| SIRAET Ud #67  HEER:OR9H  3REEER:, g o
fergre@eR: fAgad | ARG ToneEl Reeledr f@ead | 3na

NAISUET $ogld HA-IHUSH dad | 3139 USCUIAHRIGIET 87da et
| 3TEAT e HElel 3 | 319 U ANH:, AHsor:, FAgleAT g, foet:

HEAN:, fa¥decay: ddh:, UAAGNE: cdllee: T 30Tl 30T Ig-

o d[Ccl-3HeMeh-[Ash AT - HHAGI - 5Y- 2 RIoT-HATA G- 3Tehe-HiTd -
fRIGTSN-{UTS AT HEWeIdd: Hgled: ATHHR: 3T3de |

m%ﬁmﬁ 373G Aol e, §Irga:, HTY:, WATCIEIGRRT Hgled: JEUT:

3ol ded |

TAY @ ST TGATerN o efafd ?

, oG
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Correct Answer :-

, THeTl

5)
URTae Iidcar uaTg @gagcdi I -

3EAT e I, HRAAYH, ‘Regean siUsar sfa =dqfel: Amafa:
gag: |

HFIT 36T AH HRAA $cdd UodcdRT Fdldhd o 31ed | gellsd
PRARTT FeAGAR Thead |, FTold T Fdied Flaega: eT |
3T Featear R wenferrer: fgHATeRr: HEAl 3T FER HIY Gddy
5 ’ET | 3T T e 3T ‘GaaRrer sfa ar aenfarrer: sfa ar
FegA| TGATORAT, TSI, AL ATG:, Teged el fdeecdl SATehT: e
gofdied| SRAGET U AR SR, Ui 3REEPR:,  GfEr =
fergragr@eR: fdegd | oRGEd ol fGeclisfo’l fdead | 3m3d
ARSI e AleTAvser dad | 37T TSeUfaAeieaed sia= elera
| 3FATh SN Helel Hed | 3 Ta AH:, AFor, HAgleAT g¢:,f5r:
HeEAR:, E-\lbde(gd{i,%iqﬂii, AAAGATT: cledeq: T 37del| 374 TG-
Yegd[ocl-31QTeh-[ash AT e - TG 6Y-G RISl -HATH G- 31eheX-HTd -
TRIaTSi-TUTSaTHeTs]d: Hglod: AT 3ede |

3Meffoieheprel 31T MTeell, Tdllog, garsa:, IV, TTeldgIgied Heled: JET:
S ded |

FrdIHANT HEdT T e ?

Correct Answer :-

_ Gfarorea

-~
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? “faeant” deEd Efagaeuafea-

Correct Answer :=

 fagdr

2

" TEET hfd TURITOT 3Tl ied ?

3
4, T
Correct Answer :-

_ FAGer

eeliehl afdcar srenfAfdsery qeaey eFcc Faad -

8)

EIEBIEEREERICIEIDEIRERIRT
ST dec gradiaAat i
W%ﬁrar%g“lliﬁl{'ilddl qr Qgﬁﬂd{-ﬂlfl?ddl

T AUMGIGUSHTUSAR AT QATIHTHSAT|

T ST aAaghess]fafer: &3 Far gfeidr|
AN AT AT FEICA ATl o RIveirsardeTi|

Feg TR gradrelt ?
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9)

TRTaE Ufocar TeaEd %Agdgcdi Tead -

STITCITe: AASHIAR: Hlely Yolieiear: (olieiear: ) de Teger-

P CATHE STAUG Tl TNId, | T fodr weAsimraa: Riaere:,
AT o LRieie 3R | @sTAER: 3rserficgcdiacardast fhedres
AeeaAacHy AAGAE FeTsaral faelt gaag=erIsAiSragd saaard
| & FeT Tsaeriiissldl dal &g Odr Riavedagidurehrd, srerest ard: |
RATET T Gegiadtdtel Weetlsi Forea sifasaaeieariedr aeal |
dTeished I fdeamargol TRfAed uied dieg a1 diede«ia g

T TEEATATAIA BRATANT | 3HeAUGHT JeheldlUsilc: | dTelnl GfaRd
a¥: gaTd dereT dergenfa f3fgem: smumearesie | sreficy o @aifoy
QMEATISCETeA: PHAR: SHTMGa HIT VTR JedHherde] o daagor
Al Sy | dGHYAT AT T TEITOT Alead-ad | AT

U EHeeTglal AT wAshafQIcH 3Te1eTde], HodTaEdihlol ehie asfed
ST HUBI AT AlecdIeededdeadrsaamdl Il TRAT: Foaraed
SIdN EATTSTA, AHCANIRATES, | TF T ditidearard A
AEIATA RO dEAT, FoaAfacd dedd @fdd deedaedd |
IMTdearaRTd HIRdd HIOALAITA. d&d Ufdameecar afeAaed
AETTTETN: ASHEIETARAAIT | 3Nfeeded TRIvSI s aaered
AT Ed GGHET TRUTAR |

AIShY: 37 SledH YUITAddle] -
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arefr
4,

Correct Answer :-

10)

aiTee gfdcal Qe %:I"&d;l)cdi gIad -

STITCITe: ARISHTATT: ey YolieiedT: (Yuileiedr: ) de faezat
PICCATHD STAIG Tl STHTIA, | ¥ fodr weAsieraa: Riae:,
AT o erereliel e | SsTATE: Sreerficgediacaddd fohedree
AcGoAdctl AN FeTsaeal faut gadg-ersfsagd saaarid
| & FeT T=aerd=iiss{d dar a&g fOdr Rigeedagfaurhrd sreres ard: |
IR T Ycgfadtel Wearsf Gaed stfasaamegearedr aea |
STorehed o faemrget TRiAeRT dred died & afeseea aca

T AT PRITAN | IJUeHd JIFAAIAIT: H FTelehl GfaRa
a¥: gae derd dergentsl Rfdar: swreereeiise | 3reficy =@ Hatio
RMEATTISCET: FAN: SIMMGE FITCOTRRIR e TH T elde HedTaTgo!
Al So-Y | dGhYA AT I dEITST dAleddedd | AT

Th oG 1ol JHIcHT FAghdfelcis] 3T, HraraedIenol e de o
Serge], HABT, dT HecdTeadeddeadIsTHdl IETd. TReTd: Foaraed
GIdN EATTSTA AHGAGIARATTS | T T Iideqrard A1
FETHAHAA ROFHGT TFAN T A AT dedd A9d daledrnedd |
Tfaeararied Hivgd HeHeTde d&T iasierear A
HIETTTIRTIRIT: ASPEITARAAT | HTCRIedel YU TAT
FATTET GHET IRUTAT |

d&IT usET fa<ie: Ud safa -

qET + 319
, 9Fd + T
3?!1'-‘-5r+ﬂ-cr

a8y + Ud
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Correct Answer :-

T + g

11)

Yoliehl afScar sreifafeveey geaed Yeacal Faad -

A fATAeE: FIEAYISad |
SIS le: HIAThrATs eI i
shiTgaid dFAlE: FFAGICEAATdsH: |
TAfAsIeNe iR gigarnd gorafd |

HEAT HH: ST ?

Correct Answer :-

BRETIG

-~ -~

12)

9olleh! UToeaT TNfRiESeEd U9eTEy ansd_gcdi oI -

S favaeyE: HIEdyISad |
SIS dle: HIHATh TSI |l
leTgdid FFAE: FrAREAAlds: |
ERfAsIRIG FRGATRN FhgaAIRMe JorRafd I

TGeAIer: 3719 &: TAN: ?
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Igdife:

4.

Correct Answer :-

dcady:

2

eellehl afcar srenfAfesesy geaedr AgHacaR Faad -

13)

AR fAvIeE: HIRAYISTad |
AT Fl: HHATRIT TSI ||
PIETgdicd TFATE: TFATGTCEH (I [TeTaT: |
TAIAERME, FRGARIT FREATRM JoRATT ||

S HY USRI ?

3 S |
IRNY
4, S }
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Correct Answer :-

) déIHIﬂH“tldv: oTehI: ah: ?

£«
2. =
3. e
oS
4, ™
Correct Answer :-
-
17)
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TRTde Ufdcar UeTy Qgﬁdgcdi gIad -

STITCITE: ARISHTATT: Ay Yolieiedr: (guileiear: ) d¢ ezt
PICICATHD STTIG Tl STAd, | aFd fadr weAsieraa: g,
A = efelier R | SsTArER: srerficdeatacasradd e
Aegedcty SEAN FeTsasal forelt gaagararIsBisiragd sfarard
| & FaT Tsaeriiss(d dal aeg Odr Riaeedagiaurrc] sreres ard: |
IRATEST T YA Rearsf e sifasgaeiearged qeat |
dTeiehed @ facamrgol fafaery ured dieg a1 ditdedd dee

e TAEAEAIATA BRATA | HeAUGHT ITTheldldsilc: F Slelenl GiaRd
a¥f: gaTe derl dargenia FAfder: AT | 37l T waTfor
MEATTISCET: FAN: SIMGE FIT ST eTH el HedTHITgor
Al S9eY | dGHYAT AT I dTEITOT Alegdl-ad | AT &

Serae, HABT, AT TecddeadeddeadIsTHAdl IEId. TRerd: Toaraed
EIdR EATTSTA AHGHAGRATES | TF T Iidearard A
AEATA RO dFAId, T arAfSRTcT dedd dfdd deedaedd |
IMidearaRvd HITd HIAALAIIA. d&T UfdarRear ARAdeEd
AT ASHEATARAHIT | T TRIUS eI aA-Teg
FATTET FGHET TRUTelAT |

A 9 HIacarer: Foard Afd TR -
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Qollhl UfScar reNfAfesesT Ueaey Q‘:I)sﬁdgcdi A -

anETTidaayedl aEreuiauca |
- ge¢ grddaraea’t |
AT FrerGdYRERUTT AT AFTEAT e

o ] o e | 2
T JIUMERGUSHTOS AR AT ™A TTHTHAT|
AT SEATTIFHIIS TS ¢ FeT gfeia|
| AT AT EECAT $9Tacl Tt AT aTIeT

T AT ATVSTRT ?

3
, QmsTr
Correct Answer :-

. grorr

19)
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TRTe gfdaar ueaEy Q;aaicdi qaad -

3TEAT C2l: ‘AT, HRAAVH ‘feoqrare sfUsar sfq =g aafe:
gfag: |

A 36T AH ‘ARAHA $cdd UodedNl Fdihd o1H e | gelsd
FIEHRIA FedFAN Thedd |, Feold ¥ Fsaqded ghacdd: Red |
T 3coRed e FemteRrer: fgATeR: Al 3 HER #dY gday
v BT | 31 TI S 3 ‘Udadrer sfa ar Senferren: sfa ar
FA|  TATORIT, IS, JHAT, G, Tegd@N  [AaEar gcTicedr: Ay
verafed| RGET qd  HE §IEeT:,ufeud  IREERR:,  Gleiel o
BrgAedR: fdegd | oRaET ol fGeellor fdead | 3@
ARAASEET $edld ATTAUSS dad | 31T TSCUaAeIcTsd §7dsi e
| 3TEATH S FAE I | 3T wa AR, AP, FHeleH g, o
AEIAR:, foedecat: A, UAAGR: Gldoe: o 3Hedell 303d Ig-
g3 Ccl- 31MTeh- Fash AT - TG I ool Y -G L R oT-HalTH [ Hg- 3ehel-TelTd-
fRIaTeN-TUTel A ws[car: Heled: ATHeT: 37e7de |

3megfeicheblel 314 IMeell, Tdfleg, 6arsa:, GoMw:, TIGEIged Heled: JOu:
3olled |

L ETEgae 3T 3 & ?
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Correct Answer :-

20

W faetsl o Fdedr WS oid IRcasid’ sfa
Alld: Tddeaed & hAR: Ad-

) AT Taseasheenar
§ THUSY TR T

GRS CTREEIRG EE R

3.

, ATOTSTGATIOTeRIT

Correct Answer :-

. HATOIIGETIOTRH T

2 gfiTee ufsaar 99aea an@cdi gaad -

AR Cel: ‘T, ARdavH, ‘feegear sfusar sfa =g amAfa:
gtag: |

A 36T ATH ARGH Scdd USdcdNl Edipd otH 31ed | Selsy
PIARTT FeATHAR G , Feold T Iied Jaega: e |
3T Scaedi Rfr FenfeeT: Ao 3fd 3 H§ER @AY gday
Ivs: 3BT | 3T T Sl 3 ‘UdaRien’ sfa ar S9nfeRren: sfa ar
HeA | TRHATCRIN TSN, AT, ecAgy:, Togellal fdcoear ScdTicepr: oled:
ustafed| SINGEd qd o1& S9rEren: ufeud  3REERR:,  SfEtor =
fergrer@eR: fdegd | oIRaEd Tl feelleor fdegd | 3ta
SRAUSETT Fegld AleIAUSH dad | 319 USeUladHsIGIET ods eerd
| 37EATh S HElel 3 | 37 Ta A, MHSor, HgleAT g6, ot
AEAR:, fa¥deeay: da:, UAAGRY: cdleleg: T 30Tl 30T G-
o d[Ccl-3HeiTeh-Tash AT IS - HHA G -6 Y- 2RIl HATA G- 3Tehe-HATd -
fRraTe-ToTelafdgwe]dd: Hgled: AMHeT: 3T |

3@%@ 3T AMeel, Wdieg, garsav:, YoIY:, TTCISEIGRRT Hgled: JEUT:
Jollded |

CguefEa: o3 & oTET: ?
. FHUIRY:
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2 gieee ufdScar e Qgﬁdgcdi gaad -

3EATh e 3MMATAd:, HRAAYH ‘Reqgearer sfosar sfa =g amafa:
giag: |

TS 36T A ARGH 5cAd Usdednl F&iba A e | gelsT
FIANI, HeATHAN Thecdd, , HTO] d T398ed GIAEde: e |
3 Seaedi fefar aemfeRren: feATera: Al 3 HER @AY gday
55 AT | AT T St 3 Udadrer: Sfd ar SemfeRren: sfa ar
LA TGATCIAT IS, THAT,ACAG:, Tegellel  fddec Scaricenr: ey
Udled| SRAET Ud T SUMEEIR: UREHA  3REWER:, gt o
ErgmeaeR: fdegd | oIRaET Aol fCeelledr fdegd | 3t@
HRAESUET $odld AfeTAUSS add | 31T Tseufadmgieaey da- oea
| 37TATR o Al 3IRed | 31 Ta AR, éﬁi?ﬂnﬁ, HGTHAT §§§:j§¥ﬂ:
AETAR:, favdecay: e, IAAGARE: Zhdee: I 3IHeTdell 33T Y-
oG 3] Cel- 3 2h-TAeh AT - HHG I Cel-6Y -2 R ol -HATH - 3ehe -l
TRIATSN- TSI g Iad: Heloed: ATHHT: 3787de] |

ﬂ@ﬁmﬁ 3T AT Tlog, 9T5aR:, FoTY:, WATCIeIgRed Hegloc: JIT:
Aol e |

TITERTST: AT &: ?

3
, g
Correct Answer :-

| e
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24) s
eellenl afscar TeNfATESeTT Teaed YGHAH FII -

arTefaaaged! arerdaidycdd|

ST AR dec, TTadaaRax |

ar ?o-ao-%gmwl{mm Qpﬁ"ﬁl‘%:!?—ﬁ

T AUTTRGUSHATUSART AT A TUSITHAT|

T TEATYANSHITS (AT & FeT gfaia
AT AT 1] FXEICAT STl o ATsrs g

& qTd qIEadr ?

Correct Answer :-

HIH

-~

® HT: Alged WG| - T |
 ud A

Correct Answer :-

BEITS

26)
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TRTde Ufdcar UeTy Qgﬁdgcdi gIad -

STITCITE: ARISHTATT: Ay Yolieiedr: (guileiear: ) d¢ ezt
PICICATHD STTIG Tl STAd, | aFd fadr weAsieraa: g,
A = efelier R | SsTArER: srerficdeatacasradd e
Aegedcty SEAN FeTsasal forelt gaagararIsBisiragd sfarard
| & FaT Tsaeriiss(d dal aeg Odr Riaeedagiaurrc] sreres ard: |
IRATEST T YA Rearsf e sifasgaeiearged qeat |
dTeiehed @ facamrgol fafaery ured dieg a1 ditdedd dee

e TAEAEAIATA BRATA | HeAUGHT ITTheldldsilc: F Slelenl GiaRd
a¥f: gaTe derl dargenia FAfder: AT | 37l T waTfor
MEATTISCET: FAN: SIMGE FIT ST eTH el HedTHITgor
Al S9eY | dGHYAT AT I dTEITOT Alegdl-ad | AT &

Serae, HABT, AT TecddeadeddeadIsTHAdl IEId. TRerd: Toaraed
EIdR EATTSTA AHGHAGRATES | TF T Iidearard A
AEATA RO dFAId, T arAfSRTcT dedd dfdd deedaedd |
IMidearaRvd HITd HIAALAIIA. d&T UfdarRear ARAdeEd
AT ASHEATARAHIT | T TRIUS eI aA-Teg
FATTET FGHET TRUTelAT |

ASHTET [EIA_ AR -

Correct Answer :-

MidegemTacyreT:
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eollahl UfScar reNfAESeET yeaAEy aggagcdi g -

Al Y=g a: AeEdyaead |
HSAcH>STdd &IH: RATHETsTARST |
SITgafd TFATE: FFATBIEAAdsE: |
THfAsRIE, eI FRg=Td JorRafd |

HEATT JoTRTTT ?
EARGINIGI

BECCICINICH
gfgetrend

3 2

i CELLG!

Correct Answer :-

CIETINICH

28)

Qellehl fScar eNfATESeEd Ueeaed g Fadd -

Bl EEREERIRCIEID IRl
ST dee grdaaeaad |
T For G TRER LTS AT LeTTEAT (ool
T AUEAIGUSHIUSART AT QA TTHTH=AT|
AT SEATTI ISP AT S FeT It
T AT U TEGCA $19Tacl! o AvrgamTeT i
el aracioe AT’ aeedl ?
CCitiv
TR
I T

3.
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ﬂE&HﬁEﬂFﬂa
4.
Correct Answer :-

TSN ATART

, 37edcer:
Correct Answer :-

. 3RAc:

30)
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TRTde Ufdcar UeTy Qgﬁdgcdi gIad -

STITCITE: ARISHTATT: Ay Yolieiedr: (guileiear: ) d¢ ezt
PICICATHD STTIG Tl STAd, | aFd fadr weAsieraa: g,
AT o AN AT | FSTAR: Jeerfcgecdia@Taeidds fhedred
Aegedcty SEAN FeTsasal forelt gaagararIsBisiragd sfarard
| & FaT Tsaeriiss(d dal aeg Odr Riaeedagiaurrc] sreres ard: |
IRATEST T YA Rearsf e sifasgaeiearged qeat |
dTeiehed @ facamrgol fafaery ured dieg a1 ditdedd dee

e TAEAEAIATA BRATA | HeAUGHT ITTheldldsilc: F Slelenl GiaRd
a¥f: gale] dere dergenia PR aﬂmammﬂnt | 3l @ |aifor
MEATTISCET: FAN: SIMGE FIT ST eTH el HedTHITgor
Al S9eY | dGHYAT AT I dTEITOT Alegdl-ad | AT &

Serae, HABT, AT TecddeadeddeadIsTHAdl IEId. TRerd: Toaraed
EIdR EATTSTA AHGHAGRATES | TF T Iidearard A
AEATA RO dFAId, T arAfSRTcT dedd dfdd deedaedd |
IMidearaRvd HITd HIAALAIIA. d&T UfdarRear ARAdeEd
AT ASHEATARAHIT | T TRIUS eI aA-Teg
AT FEGHET TRITTA |

3T EHARTT ASHET AN Had -

Correct Answer :-

= =2
.

Topic:- Social Science (SSC)

1) Who were contemporaries of Kanishka? | St & TGN S 4?2
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1. Asvaghosha, Kamban, Nagarjuna / S{YETY, Frad, W
2. Asvaghosha, Nagarjuna, Vasumitra / /%19, W, qgaA
3. Asvaghosha, Kalidasa, Nagarjuna / Glm, aﬂﬁam, 71'ITI1\_§i=I
4, Kamban, Banabhatta, Asvaghosha / e, dgHHE, 3YEY

Correct Answer :-

« Asvaghosha, Nagarjuna, Vasumitra / 3%, QFTITQ‘I:L Eﬂ"\g&ﬁ

izﬁ)rq‘:hid. neighboring country of India was referred to as ‘Serendib” by the Arabs? / HRa ¥ e TSRl 331 F1 oraf grn =9 F wu A wefila
1z

1. Nepal / T

2. Pakistan / UIfh&dH
3. Myanmar / FITHR
4. Sri Lanka / Sft@eT

Correct Answer :-

+ Sii Lanka / i1

3) Evaluation that is used to monitor the learning progress of students during the period of instruction is called as: / T8 TP, it frdr &8

3rafy & R ol Bt st wfrar 3t PR w & R gwamre fsar s 8, e seam @
1. Summative evaluation / TTTETe Hedid+

2. Diagnostic evaluation / EMIECD i

3, Placement evaluation / TSI Hedico

4. Formative evaluation / FUTET® Gedic

Correct Answer :-

« Formative evaluation / FHIUTETe Hedich

4) What%;io you mean by BOD (Biochemical Oxygen Demand)? / .38} (sisfied siwileq f3nig) & smuer «n

1. Oxygen demand by aquatic plants / STefta qeif EIRY SiTefier &1 7T

2. Oxygen demand by aquatic animals / SeitT TS RT SHTaiior @ T
3. Industrial demand for oxygen / Sffeitor & fore sieifie g

4. Water pollution by organic waste / Sifae Sufy grTora Heuur

Correct Answer :-

+ Water pollution by organic waste / Sifde iy gRY o W

5) defined, ‘Social Sciences as those bodies of learning and study which recognize the simultaneous and mutual action of physical

and no-physical stimuli which produce social relation’. / 3 uRwnfye foran fos, wrnfore fagme, siftrm SN Srema & 3
e & U H & oY IR® ok sRmiRe SamTei 3t uRuiie frar Bt wiga B 8 ofk wrfore day s g1

1. James High !\_J"IW Y

2. Macaulay / BCar|

3. John Major /S HoR

4. Bining & Bining / fafFT 03 fafw

Correct Answer :-

+ James High lm Eﬂﬁ

6) The research that is based on observed and measured phenomena and derives knowledge from actual experience rather than theory or belief is
known as: [
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shtrr:framﬁaﬁ%aﬁ?whﬁﬂmaﬁwanmﬁa‘@m%&ﬁ?ﬁaiammﬂwmmﬁwmﬁmmmmm%,
Fgan gl

1. Empirical research / Gﬁlm YT

2. Survey research / TA&T] SFATOT

3. Deductive research / TG SAH0T

4, Quasi-experimental research / TR SN

Correct Answer :-

« Empirical research / 3TAHIdE S=90]

7) According to Seligman, ‘Ethics and Education’ are included in: / ST & SER Aforerar ok Rram 3o wfde 9 §:
1. Semi social science / 3fef AT famme

2. Social studies / HTHITE 3T

3. Pure social science / $[& e ﬁiﬂq

4, Science with social implication / g ﬁ%ﬁ'ﬂf drell ﬁﬁﬁ

Correct Answer :-

« Semi social science / 3¢l TSI g

8) Which one is not a Nataka (Play)? / g # &7 ve 1es (&) T8 2
1. Pratigya Yaugandharayanam by Bhasa / HT §RT Wil lﬁ‘HITIEIUTF[

2. Saptasati by Hala / §Te 5107 et

3. Uttara Ramacharita by Bhavabhuti / 4a¥fd gr1 3w wrafia

4. Mricchakatika by Sudraka / J&® gRI JddicHl

Correct Answer :-

+ Saptasati by Hala / 816 GRI 9@

9) What is the standard sea level pressure in millibars? / W'\‘I’ﬂ?ﬁ TR F13E MRER TR garg?
1. 1000 millibars /1000 fARER

2. 1100 millibars /1100 Afer@aR

3. 1013.25 millibars /1013.25 PR

4, 1025.00 millibars /1025.00 FfTER

Correct Answer :-

+ 1013.25 millibars /1013.25 fafeaR

10) When was the National Human Rights Commission constituted? fﬂ@'ﬂﬂﬂmﬁ'ﬂ? ST T T8 Fa foam Tam A2
11992
2. 1995
3. 1996
4.1993

Correct Answer :-

+ 1993

11) Why should social science be a part of a core curriculum? fﬂmmﬁmﬁ@wmm ﬁmaﬁmﬂrﬁq?
1. Helps to develop critical thinking / T8+ 1< 1 [aefd &1 # Aeg a1 |
2. It deals with human behavior / U8 HIFd ddgR T gt % |
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3. To develop awareness of the world / fay ot Sresar & R s & ﬁle
4. To develop the country / &X1 &! fd@Ttd B o fom|

Correct Answer :-

+ Helps to develop critical thinking / 7T&+1 9 Y o R $¢1 7 A5 S g

12) ‘General Ticket System’ is another name for ./ ‘"Rl [P yomrel® &7 GERT A 2l
1. Multi-Member Constituency / Sg-Hgw Frafer &=

2. Triple-Member Constituency / F3-9aed fafe vew

3. Double-Member Constituency / ﬁ-ﬂm A n‘?ﬁ

4. Single-Member Constituency / UDHE-Had foydfer &

Correct Answer :-

+ Multi-Member Constituency / 9g-Ha¥ fafam &=

13) Discussion method is also known as: fﬂﬂﬂﬂfﬂ?&'ﬁﬂ U HATH E: ‘ﬁﬁ'ﬁ'ﬁl’lﬂ'l%:
1. Project method / Gt g

2. Holistic method / wm

3. Socratic method / P TSI

4, Activity method / mmmu@ﬁ‘r

Correct Answer :-

+ Socratic method / w usfa

14) Observation of one’s own behavior by looking within is ./ felt onfay & gRTvad & WWW%WW
Sraared Earar gl

1. survey /qder

2. experimentation /AT

3, introspection / REd I
4. rating / Hedid=

Correct Answer :-

« introspection / H~RTGIH

15) Who among the following is associated with the perspective of “Education as Social Transformation”? | Frafifea & ¥ o9 «amfm
afiadE & w0 & R 39 et 3 wdfia 82

1. Mahatma Gandhi / ﬂ%'l'd:lTTﬂiﬂ

2. Dr, Radhakrishnan / T, UTGWH
3. Jacques Rousseau / STFPUH =1

4. Paulo Freire / OT3 @1 533

Correct Answer :-

+ Paulo Freire / TT3al fﬁ@'

16) Who among the following issued the founding charter of the English East India Company? / frafafea ¥ & ferm s S gfear
b

HUA T ARITIF AR A far
1. Elizabeth I / TRIEY 1

2. James 1T/ SR 1T

3, James [/ SEg [

4, Charles I/ 9Te8 1

Page- 40



Correct Answer :-

+ Elizabeth I / TRIGIEY 1

17) Who was the Sultan of Delhi at the time of establishment of Vijayanagra empire? | TISTO TR 9THT=g St RO & 999 i &1
ﬁﬁlﬁﬂélﬂ U1

1. Balban / Scid

2. Qurtub ud din Aibak / $e-3¢-<H UadH

3. Razia Sultan / M1 Yea™

4. Mohammad bin Tughlaq / TEHg fa e

Correct Answer :-

+ Mohammad bin Tughlaq / A1gHG fa= grrais

18) Who was the first President of the Indian National Congress? / Wﬂ@ﬂm F TYH e B A2
1. Womesh Chandra Bonnerjee / SR T5; ol

2. Badruddin Tyabji / SG9E M caeeit

3. Bipin Chandra Pal / &0 =g ura

4, Lala Lajpat Rai / €ITCIT €Toltd I

Correct Answer :-

- Womesh Chandra Bonnerjee / &0 75 afoll

19) Who remarked that ‘our secondary education remains the weakest link in our educational machinery and needs urgent reform.”? / fo
Rruyoft &t f guRt wreafie Rian, gart Afére wehi=d o1 vad FaeR $31 2 R 59H dopTa GUR $T Arawadar gl

1. Dr. Rajendra Prasad / 81Tl WH1G
2. Dr. S. Radhakrishnan / ST, T, JYTHUH

3. Dr. Ambedkar / ST, arqﬁw
4. Maulana Abul Kalam Azad / HIGT SR B NG

Correct Answer :-

+ Dr. S. Radhakrishnan / 8T. TY, YYURFWH

20) Inquiry-based Learning is based on which philosophy of education? / 3=auul-3mefya sftpmy, Rien & frw e w ST 82
1. Realism / m

2. Idealism / STERIATG

3. Existentialism / 3/&icare

4, Naturalism / Wfﬁﬁﬁ

Correct Answer :-

» Naturalism / IITFL‘H'IH

21) India signed a 20 — year ‘Treaty of Peace and Friendship® in 1971 with S URAA 1971 § ¥ |1y 20 Tdfg Fifq 3
Rorzram wiftr w gwmer famam

1. Sri Lanka / #t a1

2. Bangladesh / ElUSieH|

3. Soviet Union / Tifaad I9
4.US / 3R

Correct Answer :-
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+ Soviet Union / Hifagd g

22) _ s a body of the United Nations composed of all member states./ Wwaﬁwmﬁ%m’r it v et & fAfifa
l

1. Security Council / &1 aRwg

2. Economic and Social Council / 3@ Td AT Titeg

3, Trusteeship Council / R e

4, General Assembly / HEIRTHT

Correct Answer :-

» General Assembly / HETHHT

23) The benefits of Green Revolution in India were limited only to L HRa A i Wﬁ%mm_ﬁﬁﬁlﬁ g
1. Wheat and rice / ﬂfﬁ?ﬁ Hlaa

2. Barley and jowar / St 3R @R

3. Barley and cereals / ST 3R SFTS

4, Rice and barley / ©Idel RS

Correct Answer :-

» Wheat and rice / ﬂ_é" 3R drad

24) The head of a guild in ancient and early medieval India was called ./ TET Gﬁ?ﬂﬂﬁm'ﬂ?ﬂ'ﬂ?ﬂﬂ' mﬁwm%u&wﬂﬁ
Dol ATdl T

1. Adhikari / SIT@TT
2. Adhipati / 3f99fq
3. Gahapati / TEUfT
4. Jethaka / SIS

Correct Answer :-

« Jethaka / &

25) The study of fossils as a way of getting information about the history of life on earth and structure of rocks is known as: !'q"-iﬁﬂ\?ﬂa:l

¥F e SR T2l 9t H=AT & g & THeR iw $3 91 v RAiftr$ 0§ sharedt $1 sivraq 98 Fearr g
1. Ecology / sﬁ?ﬁ%ﬂ

2. Geography / forgramet

3. Paleontology / Yfergieiaron

4. Geology / foTaIGiTSIt

Correct Answer :-

+ Paleontology / e eiarsh

26) The thickness of the Troposphere is maximum at the Equator during which of the following seasons? / ‘{q'iﬂ'mm

gtvmuse (@Iurestar) @t Hiers Fra & A fbw dvam & ad aiftre gidt 82
1. Winter / QiidepTefl

2. Spring / IHd

3. Summer / YIS

4. Autumn / TRG B

Correct Answer ;-

« Summer / YSHBTAR
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27) The value of final goods and services produced in an economy in a year is known as ./ ad H faredt srefeqawur #f ganfea
Sifom aegaf R Jarei F e F FEUATATAER

1, Per Capital Income / Ufdl Gofl 311

2. Gross Domestic Product / & d ﬂﬁmﬁ
3. Gross National Income / {ehel T@E{ )

4. Gross National Product / W'ﬂ@ﬂw

Correct Answer :-

+ Gross Domestic Product / Hhdl Eﬁzqa?m'c:

28) Objective-based teaching is suggested by: / SEIT-ATRTRT 18101 399 gRT LEIRIRIE] 1

1. C. Norman / I, e

2. D.W. Allen / S, 86, TalH

3. Benjamin S. Bloom / SSTIf2H T, sgd

4. David Crowder / S8 #IeX

Correct Answer :-

- Benjamin S. Bloom / §STIH T, &0

29) Which one of the following is a disadvantage of Inquiry-based Learning? / Fraff@a &9 o sraur.smeia sftrm o1 oo @t 82
1. Promotes a deeper understanding of content / I Tlfﬂﬁ T ﬂ'ﬂ?ﬁ‘[ﬂf ﬁ"JI'Q PEGETGI % |

2. Involves a lot of preparation and planning time / Ug dgd R} R IR e THg M S g
3, Builds initiative and self-direction / Jg¢1 AR Gﬂ?l'-mﬂ Eal GﬂEﬂTT@ﬂT%I

4. Warms up the brain for learning / 3T F forw ks o Iafed S gl

Correct Answer :-

« Involves a lot of preparation and planning time / 8 a—g-'ﬂw TR 3R TS 99 M Hear gl

30) Which Finance Minister of India initiated the New Economic Policy (NEP)? / HIRH & 9 o w0t 7 =18 enfdfer =iife (wadddh 9t
3T B2

1. Morarji Desai / HRRSH M

2. Manmohan Singh / ﬁﬂﬁsﬂ ﬁlﬁ’

3. CD Deshmukh / Eﬂ%&a’&rﬂ@

4, TT Krishnamachari / ﬂaw

Correct Answer :-

» Manmohan Singh / 'FFF:IE_"I mﬁ

31) Which plan discussed in detail the food security in India? rmﬁmm&nﬂ?ﬁt{ﬁmmw fearR | 'iﬁﬁ'ﬁé"
1. Fifth plan / =l e

2. Eighth plan / TG4l T

3. Sixth plan / 3! GIGHT

4. Ninth plan / =1dY tS1

Correct Answer :-

+ Ninth plan / 1) g1

32) Which Article of the Constitution of India empowers a citizen the right to move to the Supreme Court to enforce Fundamental Rights? /

YRGS HRYH T P4 A1 3D TP ARG & Gitie sfteR) &1 yafda o1 & Rrg di= =g & oh &1 saftieR Tar g2
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1.37
2.39
3.35
4.32

Correct Answer :-

« 32

33) Which Article of the Indian Constitution provides for an independent Election Commission? / YR AT &7 B |1 ATDETF
el TG STENT e HRdl 82

1,323
2.327
3.324
4, 325

Correct Answer :-

» 324

34) Which of the following is not applicable to Micro Teaching? / frafefa B Ear gea Rreror (gt A ﬂ??ﬂil:lﬁ%?
1. Immediate feedback is not gained. / TehTel ‘Jﬁg@ ured :lﬁa?ﬁ %I

2. Duration of instruction is limited from five to ten minutes. fﬁﬁmaﬁ \?rlaﬁl, tna%a?l e a% difta B“\?ﬁ%l

3. The size of the learning group is small. / Jferm HHg &I IR BETEa gl

4. Teaching is carried out under controlled conditions. / ﬁzT&d"JL e offRufadr § foar s %l

Correct Answer :-

+ Immediate feedback is not gained. / TP Iel Hﬁﬁ@ T qﬁffﬂ?ﬁ %I

35) Which of the following dynasties had the longest rule? / ﬁmﬁr@aﬁ%mmaﬂmmw Ur?
1. The Pratiharas / WfdgR

2. The Palas / UIeT

3. The Senas / &

4. The Rashtrakutas / TEHT

Correct Answer :-

+ The Palas / QTef

36) Which among the following Viceroys was associated with the Ilbert Bill Controversy? / Prafufes & @ 919 91 araeRm Faad fad
faarg | g1 U1

1. Lord Ripon/ T R

2. Lord Lytton/ e fered

3. Lord Curzon / Tl o
4, Lord Hardinge / ?ﬂ% ET%TI

Correct Answer :-

+ Lord Ripon /ars g

37) Which among the following is a major obstacle to economic development in India? | Fafafaa ¥ 3= yed ® snfdfe fawma & fog
TS W qTeT ?

1. Low productivity / 8 Saredpal
2. Low level unemployment / 0 W & SRS
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3. High literacy rate / 3 HI&RdI aX
4. Increased GDP rate / W&l U 3G &2 7 3fg

Correct Answer :-

+ Low productivity / o Sered

38) Which among the following is a commercial bank? / fFaAfaf@a & & B TP aifriRre do 82
1. State Bank of India / YRl ¢ &

2. Regional Rural Bank / & T §

3. Reserve Bank of India / HRTHI ReTd 4@

4. Cooperative Bank / TP S

Correct Answer :-

. State Bank of India / WRET ®e &5

39) Which among the following Mughal emperors prohibited the use of tobacco? 1 Frafafea ¥ | e | "y ef?lﬁl'lT & IUANT St
witafera fam ure

1 Jahangir!@ﬁi'"?
2. Babur / ddX

3. Shahjahan / W\_TIE'T
4, Akbar / HmaT

Correct Answer :-

+ Jahangir / STEITIR

40) An effective teacher tries to make the class room environment more 2t WMQT&W, W& & qTATaul B1 3R it
AT 81

1. democratic / Tl AT

2. autocratic / ﬁ'@?—-‘ﬂ

3. strict and rigid / T 3R HIR
4, anarchic / 3N

Correct Answer :-

+ democratic / TIPS

41) The silver coin introduced by Sher Shah and continued by the Mughals was : / =T TIRT e foea Trn aﬁvwﬁmwﬁww
=7t 1 Ryt o

1. Rupaya / %441
2. Asharfi / 37151
3. Muhar / A1ER
4. Dinar / §FIR

Correct Answer :=

» Rupaya / ¥9491

42) Many of the social problems in modern India could be due to the neglect of: / 3TYf® URd A H§ ARG TS
P HROT 19 BT & & Fhat 8

1. Higher Education / TR e
2. English education / ot R
3. Value education / 32 &
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4, Technical education / TE-11eh! FRI&T

Correct Answer :-

+ Value education / 3EH {2181

43) Who has the power to recommend the dismissal of the State Government and suspension or dissolution of State Assembly? / YT TSN

FI F@tERit 3R oa faerayT F fees ar fges o6t Rref v 9t wifew fews ma @2
1, Prime Minister / UHTTHT

2. Parliament / T9g

3. Governor / TSI

4. Cabinct / $fa e

Correct Answer :-

+ Governor / ¥ YTe]

44) Who is considered the father of Green Revolution at the world level? !ﬁ"ﬁ RO Fﬁ'd iﬂﬁ'f FoTF Y AT S %‘?
1. Thomas Malthus / 4TI AU

2. Norman Borlaug /AT ERaET

3. Cecil Salmon / AR JaoH

4, William S. Gaud / faRRTo™ 9. i

Correct Answer :-

« Norman Borlaug / FTH SiRelIT

45) Which of the following reason is responsible for highest percentage female migration in India? / HRd o Afgen v 9t SwaH
H | P WSRO

1. Stability / FRR@T
2. Employment / ¥ToRTR
3. Marriage / ﬁfﬂg

4. Education / 2181

Correct Answer :-

» Marriage / ﬁ?ﬂ?

46) The “Helmand Province” of Afghanistan is famous for cultivating which of the following? / Frafafea % & feaet @@t & foe
1 “FaHg Wia” URis 32

1. Opium/ S
2. Wheat / ﬂg

3. Cotton / SYTYH
4. Tobacco / ASTE

Correct Answer :-

+ Opium/ Kllsse

47) Lal Bahadur Shastri's Samadhi is also known as: / meaﬁmﬂ%ﬁ 1 59 1 § o ST S @
1. Shakti Sthal / ifa U@
2. Shanti Van / QidId

3. Chaitrabhoomi / ﬁ‘ﬁﬂﬂ:lf\

4. Vijay Ghat / farg are
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Correct Answer :-

- Vijay Ghat / g gre

48) Every year the government announces the prices of agricultural goods as a backing for farmers’ produce is known as WA CaL

WEPR AT A I F TR FFU AP IO F I S dwm s e, R sereman gl
1. Limit price / S8 Hed

2. Base price / SR G

3. Exchange price / AT &%

4. Support price / THIT Te

Correct Answer :-

» Support price fmhq\?q

49) How many countries of Southern Africa make the Southern African Customs Union (SACU)? / Eféfnﬂ 3BIRT %ﬁﬁ‘ﬁ%ﬁﬁ?ﬁﬂ'
aféroft srtadt W e Iw (sacu) o1 FHafor s &2

1.3
2.5
3.4
4.6
Correct Answer :-

+ 5

50) One species of Coffee called Coffea charrieriana is free of Caffeine. In which of the following countries Coffea charrieriana is grown? /

PO B T yonta PR 1o RARAET FT 9 S, FE | ga et 8 | P & | fra 3w & sredfar s erdt 22
1. Vietnam / faga=d

2. Yemen / TH

3. Cameroon / SFE

4. Liberia / TZ3aRAT

Correct Answer -

« Cameroon / SFRE

51) CANCELLED

SEBI stands for JAM sEBpBIRATAFET_ B

1. Securities Exchange Board of India / mﬁiﬁfﬂ Wﬁqﬁﬁg 3fp Eﬁ'ﬂﬂ

2. Securities and Safeties Exchange Board of India / ﬁlﬁﬁm@mmﬂa IS e 3%’111
3. Securities and Stocks Exchange Board of India / ﬁﬂﬂﬂﬁﬂ%w U,Tﬂ:lﬁﬁ Eﬂ:‘f i sﬁ'ﬂT

4. Stock Exchange Board of India ki Wﬁﬁl S i E’ﬁ':'m

Correct Answer :-

» Securities Exchange Board of India / ﬁ?ﬁﬁﬁﬁmﬁﬁfﬁﬂé &f@"ﬁ'ﬁim

52) A variety of pedagogies that involve students in discovery or research and employ approaches of learning is called
—3 ./ ﬁﬁamﬂ%ﬁr&mﬁmﬁaﬁﬁﬂﬂ@wmaﬁwﬁﬂﬁhﬁamﬁ% 3R siftrma ¥ =i &t P
,___ eddigl

1. Problem based learning / THET MM ST
2. Learning from observation / Sfqaid gRIT HfrmE
3. Inquiry based learning / =380 3(1eTRd STy
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4. Pedagogy of learning / ITOTTH 1 fRreforame

Correct Answer :-

« Pedagogy of lecarning / S{ERTH <51 fR&form«

53) Barak valley in Assam is famous for which among the following? / Fraffaa & ) srw ot avre wrdt fRead g alRrs 82
1. Bamboo Industry / &9 R

2. Petroleum Production / UEIRIAT I

3. Cottage Industries / WG@"T

4. Tea Cultivation / 91T 1 Tl

Correct Answer :-

+ Tea Cultivation / 1 &1 Wl

54) Which Unit/Scale is used to measure the ‘thicknesses of Stratospheric Ozone layer’? / "\%ﬂ'\‘a?ﬁﬂ? ST TXd 3 Alesal & 7 &
fore for gt /At &1 ST frar S @2

1. Melson units / HE¥ sﬁlg?ﬁ
2. Beaufort Scale / SWIE YA
3. Dobson units / S1&E E_CFI?{EI‘TJ
4. Sieverts / e

Correct Answer :-

+ Dobson units / S99 SRR

55) Quit India Movement was launched in the year_____. / HIR<l SIS! 8fiarad aﬁ_ﬁ%ﬁ‘mw Tl
1. 1945
2. 1942
3. 1930
4, 1919

Correct Answer :-

« 1942

56) What is the approximate interval between spring tide and neap tides? / TG SaTR-HTET 3R TY TIR-HTET & St SAT=T SieiRTer 1

>

1.30 days / 30 &1
2. 1day /1A
3. 7days/7 faa
4.15 days/ 15 &
Correct Answer :-

« Tdays /7T

57) The Lion capital at Sarnath belonged to which one of the following kings? / R-TY &t Rig Teruri fFafafeaa ¥4 fFawerd
wafta i

1. Vikramaditya / fammea
2. Kanishka / P15h

3. Ashoka / &

4. Ghatotkacha / T I&hT
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Correct Answer :-

. Ashoka / EN&F

58) In which layer of the atmosphere is Ozone gas concentrated? / mﬂ‘ﬁ e wa # o= T Fixa 22
1. Asthenosphere / Q@W

2. Stratosphere / YHATUHS

3. Ionosphere / STIAHET

4. Exosphere / STEIHSA

Correct Answer :-

« Stratosphere / AU S

59) Chalcolithic Age is also known as: famaﬁﬁ-lﬁa?grraﬂ gETH off ST ST R:
1. Neolithic Age / ﬁﬁlﬁ]ﬂﬁfﬂﬂ

2. Copper Age / dIH 11

3. Stone Age / YTHTUT I

4, [ron Age/ Ehf:' Ul

Correct Answer :-

» Copper Age / I g1l

60) During the reign of which of the following Mughal rulers, did Ahmad Shah Abdali invade India for the first time? / Frafaf@a &
frad ST W T TS AT TS Sre3Tel - Uge aR HIRd R ATHHUT {41 U2

1. Jahandar Shah / STBIGR T8
2. Shah Alam I1/ 28 3TeH 11
3. Bahadur Shah / §gIg¥ g
4, Ahmad Shah / 3gHq M5
Correct Answer :-

+ Shah Alam [1/ 20§ HIEH 11
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PROFESSIONAL
b Profecslond EXAMINATION BOARD
@bgmnouom Middle School Teacher
Eligibility Test - 2018
26th Feb 2019 2:30 PM

Topic:- Child Development & Pedagogy (CDP)

1) If a child has mental age of 12 years and chronological age of 10 years then his IQ will be

_ ., afe fpeft 9= Y aeiie oMy 12 9 § SR STArse e 3y 10 a¥ § @ IWHT
TRy (gfSwem) __ grm

1, 80
2. 120
3.125

4,100

Correct Answer :-
« 120

2) Gray matter of the brain that controls IQ and memory have greater volume in learners who

./ & SR [ia o1 Fefa w1 aren afsrss &1 9 3, Rrenfiay o
3ferep A A gia B

1. get sufficient sleep/ A i o= are

2. take healthy diet/ TR STER T aTel

3. avoid stress/ T1d 9 g9 a1dl

4. exercise regularly/ e U 9 saIH HRA ard

Correct Answer :-

« exercise regularly/ Faffd &Y ¥ A H ard

3) The is one who is more open, accommodating, venturesome, outgoing and pretty

conﬁc%ent. /T8 & S iftre gar, fremar, Soasita, S99 i S1wl ey
qrar 81

1. Introvert / &Iﬁﬁ
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2. Intro-extrovert / Hﬂﬂ@- Tq’i%ii{cﬁ
3. Extrovert / a%ii{gﬂ
4. Ambivert / mﬂﬂﬁ

Correct Answer :~-

» Extrovert / El%ﬂ"‘@ﬂ

4) Obsessive-compulsive disorder (OCD) can be successfully treated using: / w—w

faor (3NN &1 awaaryd® s A ©1 SUURT BRP {1 o JadT °:
1. Cognitive behavioral theory/ S3TTH® AR Rgid

2. Massage therapy/ HHISI Rt
3. Antidepressant medication/ U cifende gar
4. Systematic family therapy/ UG UiRaR AR

Correct Answer :-

« Cognitive behavioral theory/ IIMTH® Ad8R Rigid

5) Which is the SECOND step in the problem solving method? / T gaTyT fafer &

GERT )T BI AT gl g2

1. Formulation of hypothesis / uReegrel &1 fHeuu

2. Testing hypothesis / TR& a1l &1 URI&0T

3. Recognition and definition of problem / JHIT &1 SR 3R afeum
4. Conclusion / T8

Correct Answer :-

« Formulation of hypothesis / TR@eIAT3{l BT fAReT0T

6) What part of our memory stores events that happened in our lives? / EHTSI F[ﬁ"f Cak-an|
1 fEw gaR Sitaw # ufed gemrsi o1 UsR 82

1. Episodic memory /W @{ﬁ[

2. Procedural memory / WF{%
3. Semantic memory / E]Fcﬂ?f@{l?r

4., Declarative memory / YIS '\‘Iﬂ%f

Correct Answer :-
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« Episodic memory / URifTe F{ﬁ[

7) What is the first stage in moral development according to Kohlberg? /

PIga & SIAR Al faeTa # ygar @Rur w1 82
1. Preconventional morality / Qﬁ-mﬂﬁ Afaesdr

2, Periconventional morality / T RERTTT Afdwan

3. Conventional morality / OX¥TRITd Afear

4, Postconventional morality / HR<-UXHIRT e

Correct Answer :-

« Preconventional morality / Jd-ORVIRTTd Aferepar

8) What is the term Freud used to describe his theory of the structure of the mind? / s

5 Ue &1 IUTNT 74 B} WA & U+ Rygia &1 aui| $3+ & fore fman?
1. Consciousness laﬂ:ﬂ

2. Iceberg / W
3. Libido / feifaraT

4. Landscape / dehy

Correct Answer :-

« Iceberg/ @m@f

9) What social motive is characterized by a need to control and influence others? /

%ﬁ%ﬂgmﬁﬁﬁw,gﬂﬁaﬁﬁﬁﬁamﬁaﬁvﬁwﬁamﬁaﬁmm

1. Power / I
2. Achievement / G'CIT'I'@[
3. Affiliation / &Y

4, Purpose / G%Qq

Correct Answer :-

« Power / qfad

10) Parents who believe in punishing the child show ./ 3 Aral-fudr of = &1 éfSa
FHARYyE e, axfarsl
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1. Uninvolved Parenting / 31&g (MG ¥ I F TS §3HT) TGRS
2. Permissive Parenting / ﬂﬂjﬂw TRAR

3. Authoritative Parenting / BTN G TR

4. Authoritarian Parenting / S{fPRATE TRaRT

Correct Answer :-

+ Authoritarian Parenting / HfUBRATE] TRaRET

11) At what age does the child start to show an understanding of the language? / ST o

IY H YT & A T e FR a2
1. At birth / ST &

2. At three months / I Tl_sﬁe[ [° 3
3. At six months / 9 n%ﬁ 1°03
4, At nine months / :h ﬂ’eﬁef 1°C3

Correct Answer :-

« At six months / 9: q—@"ﬁ 1°03

12) Which is not the principle of inclusive education? / P-1 FHTasht Rren @1 Risia
TEIR?

1, No discrimination between learners /&f&lTﬁIﬁ[ I Elﬁ".i: ﬂﬂ'ﬂ-ﬂﬁ :|B°f

2. Separate classroom for special children /foRIY sl & forT SrerT Fam

3. Equal educational opportunities /HHI Afdfe AR

4. Catering needs of the all children /At = Bt WHUTH et SReRd! BT T W@l

Correct Answer :-

« Separate classroom for special children /[IRIY Sl & feTT ST H&T

13) Which of the following is not a factor that will protect a child against stress? /

Frafefaa & & &9 91 U6 98 $RS 781 & Sl 9971 & [0og Te 9= $ &1 B2
1. Family / URAR

2. Intelligence / g@‘
3. Authoritarian parenting style / HTTYHRATE! GRARKT it

4. Peer relationships / TgHHI =
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Correct Answer :-

« Authoritarian parenting style / SMTAHRATE TRaf=r el

14) A 12 year old child understands that the weight of a table remains the same whether it is
right side up or upside down. What concept has he grasped? / T 12 HI DT 1 g
mmgﬁsw;aaﬂmaﬁﬁm%,aﬁaaaﬁeﬂ?ﬁmmﬁlwﬁﬁm
R HHATR?

1. Conservation / HR&0T
2. Inductive reasoning / ATHATHSD GEg
3. Object permanence / aﬁwm

4. Hypothetical reasoning / TRefetd ad

Correct Answer :~

« Conservation / G3&U[

15) According to Psychosexual Developmental Theory, fixation to which of the following stages

results in dependency? /ﬂ*ﬂﬁﬁﬂi‘ﬁﬂﬁ—mﬁ@ﬁ* SR, G IGIEER] Srawyre # O s
FrafRor (=) 3 ARar & gur gar ez

1. Anal / T[T (GTa)

2. Oral / T (3Ra)

3. Latency / QYT (Sre)
4, Phallic / diffTe (Wier)

Correct Answer :-

. Oral /HIfES (3R

16) Growth always corresponds to the age of the child. This is because of the principle of Vi

o s = P SU A A @WaT 21 9% P Rigia & PRUT TR
1, Continuity/ﬁl'éﬁ?_cﬂ
2. Uniform Pattern / UHHH e

3. Integration / TP
4, Individual Differences / W forerar

Correct Answer :-

¢ Uniform Pattern / Waﬁ
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17) Which of these is the best way to improve problem solving skills in primary school children? /

Wi faemaa & s= ® IuwT FaRu S1Rd & GUR 1 BT 99y 3T adiel :1 8?2
1. Solving mathematical problems. / IO THEE3T T FHIUH ST

2. Find solutions to problems that they face in their daily life. / 3 THET3M &1 JHIYM Wi, o1 d
3T SRS Siae H I HRa B |

3. Talk about their problems to peers in the class and the teacher. / B! TS & TR H BT H Tgurat
3R fRi&fe A 91 AT

4, Apply steps of design thinking process and engage with community around. / 9 Pt ufehar & WR o
6 AR ST AR U & THE B 1Y T BT

Correct Answer :~-

« Apply steps of design thinking process and engage with community around. /BT AT TR d
TR ) AR HRAT 3R SATUTE & TSI b I I BT

18) believed that personality develops through a series of stages and the effects of
childhood are long lasting. / &1 AT AT & Aafdad, TR &1 U §adr &
A1 @ AR 8iaT € SR 9999 & YYT9 99 999 a9 84 &

1. Albert Bandura / 3feac TSIT;'RT
2. Jean Piaget /Gﬂ:f o
3. Sigmund Freud / Rprds wios

4., Lev Vygotsky / INE] aﬁ’ﬂ?\qﬁ

Correct Answer :-

« Sigmund Freud / RITTHE WIS

19) The term normative development indicates: / PGS faHRT reg ioa wear &:
1. Rate / &%

2. Extent / G

3. Direction / TGS

4, Distinctive qualities / fafry 01

Correct Answer :-

« Distinctive qualities / faf2T 701

20) When environmental influences coupled with cognitive factors are responsible for learning, such

a learning is known as: ;aawhwﬁﬂm WW%WWW%%’Q
ﬁlﬁm?ﬁ%%,?ﬁsﬂmamﬁ%mﬁﬁmwﬁmm%.
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1. Operant conditioning / IO PHaI=FT

2. Trial and error learning / U 3R 'a'f?:’ ST
3. Social learning / STHTTG SHfETH

4. Classical conditioning / FARTG A BT

Correct Answer :-

« Social learning / THTID HTATH

21) As a future teacher, you will need to and connect with roomful of diverse
students. / T YTAT R1&/® & U ¥, 3Mueh] P razadar gift 3 At ot
P BT P 1Y ST BRI

1. Deal / Bl

2. Connect / qaﬁ

3. Understand / JHS

4, Collaborate /HE'C?I‘T

Correct Answer :-

« Understand / JHHA

22) Which of the following is not an example of critical thinking skills? / mﬁﬁﬂﬁq—
T T1g i I=Te &7 TP IS8R0 T8l 22

1. Improvising /A Tel TR H]
2. Classifying /ﬂ"‘f@_d DAl

3. Tracking /CI&ATIHROT

4. Describing /UTRHATHD

Correct Answer :-

« Improvising /dcPTe dUR BT

23) When children recognize that each individual is aware of other people’s thoughts and

feelings, then it is called:/Sid = Yg 'CIEEI'FI?I' %ﬁ? Wﬁﬁ'\‘ﬁ' iU ﬁ?ﬂﬁ Gﬁ'\"
HTGTSHT | ST ©, df g PoT o1l &

1. social information role taking/ WW ’ﬁ[ﬁlﬁ Nl
2. social and conventional system role taking/ﬂTFﬂﬁiﬁ 3R TR TuNTe &bt ’i&ﬁﬁl?ﬂT
3. self-reflection/ 31TE WA d (Heth-RURTEaR )
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4. mutual role taking/ 3ot ’-jﬁ-ﬁ'ﬂa:ﬂ

Correct Answer :~

« self-reflection/ 3 ufafds @HF-WH)

24) Why do we have culture-fair tests for intelligence?/ THIX U gfawr & ferg dwpia-
frogar aderor i 32

1. Intelligence tests should free of differences in language and education./ @@qﬁT Utem , HIYT

3R 18 % 3iR F Gad g MR
2. Cultural understanding is a part of intelligence./ Q—Ii%qvfadv Sy gfe& P TS BB
3. Intelligence is culture-dependant./ @@' m@ﬁﬁfﬁ-@ﬂ TR 81
4, Intelligence can evolve/ g@ﬂmaﬁﬁfﬁﬁmﬁm EIRCIE

Correct Answer :-

« Intelligence tests should free of differences in language and education./ g@ﬂ?ﬂ gtem , HIHT
3R e & 3feR ¥ Yo g A1gul

25) Which of the following determines the impact of failure in school performance? /

At & @ F19-31 fauea uex= A srwadar &1 yuTa FAeia sarg?

1. Time allotted is more than what is actually required to finish the task / 3Tdfed THT 3 Cankes
3 & S arad & BT R A & 1T TS & |

2. The pattern and setting of task / BT BT Ui 3R Ta=IT

3. The Challenge - what the children asked to do—which is not engaging or relevant. / Ef-?l_cﬂ -
el I Sl H o [T Bl IT - STy a1 Urifes =18 3|

4. Level of easiness in the task / BT & JTHAT PR

Correct Answer :-

« The Challenge - what the children asked to do—which is not engaging or relevant. / ?J_::HE'H -
el Y Sl B & [T BT 7T - iy a1 Uifes =181 8|

26) A learner is an intuitive learner if / 9f¢; U Rremdf wgwr = gord 2 a1 98 AT

1. They notice the big picture, see how everything connects. / J 931 TR gEd %, 3R NEE 23]
Siie+ &1 UfehdT 1 SEd |

2. They pay attention to concrete facts and details. / q Hﬁ Tt 3R favol IR & ad %I
3. They focus on the reality of how things are. / 3 T1o| PUT &, TP ARAGHAT TR &M < &
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4. They like to describe things in a specific, literal way. / 98 oioll ! fafRTy, RIeaxT: (I RSKCECE |
P BRI B g |

Correct Answer :-

« They notice the big picture, see how everything connects. / a’ﬁlﬁ TR oad %:, 3R qd 9D
SiTeH &1 Ufehal &l GEd 5 |

27) Which famous professor proposed that children move from a position of egocentrism to

sociocentrism because of social interactions? / f& g Flﬁl?si MR 3 ‘Jﬁfqlﬁ?[ o fEra=
HTRTES Tael & HROT, TP 3 (AT & TR B 3R g¢d 82

1, John Dewey / Guﬁﬁ_ic

2. Lev Vygotsky / NEEIEYIREd)
3. Jean Piaget / i< fogrs!

4, Howard Gardner /E'Iﬁé MER

Correct Answer :-

+ Jean Piaget/ i s
28) CANCELLED

Which of the following is an incorrect advantage of problem solving method of teaching?/

frafafaa 3 @ -8 Rieor 3t guw & ga w31 $1 [ &1 7aa Ty 22

1. All disciplines cannot use this method to solve a problem / Tt ﬁﬁw Y U?’s{ﬁl BT STIRT JH=T
1 A B P fore Tel PR @ ol

2. Learners participate actively in the process/%ﬁﬂmﬁm&mﬁ(ﬂﬂri} Tfehg 0§ U od
gl

3. It makes the learner interested in the learning process/qﬁﬁT&ﬂlﬁ(W) P STITH P Ufeha
¥ et fRamar g

4, Evaluation of learning using this method is easy /ﬁmﬁwaﬂe{@ ST BT
e 3 81 S ¢ |

Correct Answer :-

« Evaluation of learning using this method is easy /@U@%aﬂwaﬂﬁ@ S{TRTH BT
i ST 8 ST g |

29) CANCELLED

The diagnosis for children having problem in word finding is iif gl H eg Wi Bt

FrETHIfeE_ garel
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1. Dyslexia / fewifaar

2. Dyscalculia / %‘\%ﬂﬂ*‘%ﬁlﬂ
3. Dysnomia / e

4, Dystopia / fewiftan

Correct Answer :-

» Dysnomia / et

30) CANCELLED

Who described a phenomenon called horizontal decalage? / aﬁﬁéﬁéﬂg WEIE:ITWEU{:[
o= fora?

1. Erikson / 3G
2. Piaget / fOATSl
3, Freud / Th[E

4, Vygotsky / A3

Correct Answer :-

« Piaget / TUTTSl

Topic:- General Sanskrit(L1GS)

Yo STe 1 T ST 2

Correct Answer :~

Page- 10



) . [ . L
i q: G G’ | A TR 2T TR ?

1. h|

, UHE AH: |

, UHE TH: |

Correct Answer :-

4) P P Ay
M BH Toaed AL: e ?

. AHAAHE: ST | |

, RlpdalHl: Hidl |
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AT I |

, TG G |

Correct Answer :-

| R[GHeATET: TG |

5)

PR O¢ Fd -
. Hict: |
, A |
, T |
T |

Correct Answer :-

6)

3¢ YARNRAH Sedld -
TR |
d

. GATNCRITHRH |

Correct Answer :-
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7)),

@&’ Zld SHN: HH Flcs T ?

TTSIRTS |

1

IS |

AAHTEES |

3.

, ST |

Correct Answer :-

TS |

8) = [

T fI T S T+ & ?
| |
2, E { |

, HEMRTH |

, T |

Correct Answer :-

e |
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‘IR T [R: &1 2
el

_ RIS |

, T

, 9T |

Correct Answer :-
=~
RIS |

" e TUT Al - ST /e T ik (o ?
. SI9IGTH |

G|

, & |

,, AR |

Correct Answer :-

_ SIEEY. |

11

) - [
FHET — ST el e ?
| FHO A |

_ FHMTE |
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| FHOT O |

| FHOT A |
Correct AnsWer :-
AT A |

12)

Fileed:" AT ST9X A R ?

1l : |
A |
. ARISH |
, TR |

Correct Answer :-

.?ITW:I

Correct Answer :-

_ HTH: |
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) ITaEdr S TR Sid ST T T & ?
Faad: |

1.
EN M

2

| T
. QL

Correct Answer :-

Fadd: |

ieeh Geadl |
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ARIST |

TR G |

, EH GraL: |

Correct Answer :-

e gl |

STETHT i FHIOET Tivd ?
9
, 8
5
.7

18)

‘39 Idli: RIS &4 6 ?
1. =

et

, RIS |

R rt

Correct Answer :-
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T3 |
Y S TS 2
 ETieaR |
 TTelcs |
_ Al |
, &l |

* Fd - SAHaERaY 3 -

, EUSHTH |

) HETRIEH |

, EHH |

o VTR |

Correct Answer :-

 AEE |

21)

qIUTH: AT Fld ST Gied ?
,
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B\ [
. ATHEIERAH |
 HeRdH |
NRCCELY

[ = 0
cEzcEzEy

Correct Answer :-
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) i o -
NI =i 2Meq U <he ?

Id: |

2,

. |
, The |

Correct Answer :-

o |

25

' ol W 3 e il F 2
BECTE

| & |

_ Q&SI |

, T

congnowar -

e |
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, HR |
, HIAHEH |
. F |

Correct Answer :-

AR |

28) ; ~ ¢ ks
GRIPHEARTH d -

. TR
VTR |

2

, HETRAH |

, ST |
Correct Answer :-

. VTRIRTAH |
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29)

RGN’ i TR 250 T Je -
| AT |

2. ‘\ i I
" éa:lr_d:

4,

Correct Answer :~

T

LR

30) CANCELLED

JHHER A TR &t ?
1 Alga: |

, VR

Correct Answer :-

Topic:- General Hindi(L2GH)

1) WG Wale a1 T R A o 58 TH-43 0 @ 33 faer &3 & 9t 751 aru 78 e |,
TSP Yae 954 & Y@ & ReaRe™ a1 T Ase o1 & e svaw S Ru A sg st s e ag o
& TER ¥ 99 BI a6 a9 61 471 349 9¢ F fam giear & gerit-aadt +f 19 SR dan giear Ta-3a
SR TG TiEa-Tiod WTHH & 9ei §U ¥avge sfern # e aT9R @ iR geft-ofiR IRt off @ 412
gfear ERas 91 &1 UE" H¥d oM N, g RR W 9rew aue, RR o1 ye+i = ot gu vwe-
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BHHHR I et At | F RIehT JeT Te 99, 31 98 IR | Hier 9 Tl §, 8 ¥ teR-fewm 39 g-
ot & 3@ 1 sl oA & fae e ara orva usia & g @1 §og | gl O1d1 3t 91d i ol
g WYId Afed T3 & Ycg & a1g 31eTS URI % UeT A I8 7 qo! M1 37 Usg-use e arg wr-faahr 3
gt o STet Y 3% GBI 7 3 B St H 3@ | S 7 b Thd A1 Gl-gl Siaex giaH Rg™ 38
5 ¥ gveH RR W ath 3&i ot | e WX & Rl & 14 39 TA-30e § sfad 8 39 &1 e 79 B g
BT I 81 Freran @t 99 F Few A9 §) 9 21 I gTed H TP HWR IS, e Tad) A B1pY @ral
ggﬂra?m I @7 A1- XN H, T 791 & e oft wglema wifte ok 3@l 811 &1 10 v sifterR
|
IuYad TR B UgHR A TR T UY BT IR ga1sd:

- 98 BT g F g 37 € $I TRaw 99 IR ST 82
1. gfean

2. 94
3, BlgeX

4. 98

Correct Answer :-

2) WA WRele Tt @71 R A o oo -yl 8 9t 5w figr s | Te w1 9 7 ey |,
WS e Iod &1 Y@ A Refyam a1 rdt 3 3% @R & Rig @es 2 Ruafra sg st s ddr ag o1
o TR | 99 B A 99 38T 411 3F 9 & fo=m gfear &t gorh-wadt o #19 Sur dani gfear dd-3a
IR T WEA-TTd WTEH & IS 5T WeS sforan # WHeH IR ' 3R Teft-3iR IRt of 7y u1?
e TS 99 BT TEY X s A, g R W e wue, R & gl &R e v voe-
BHHHR I 61 At Fo RIHT deT Te 99T, 9 98 IR § HigT 999 Feit 7, 719 ¥ IRR-d 39 -
fraifirt & g @1 sigen @A & fore fied e srve usha & gz @t 4oy 9 gt 9rar &t ara e @)
Tg TYid Afear g3 Bt gog & a1¢ 3ASTS U 99 UeiT § I8 7 9ot N1 I% Ung-uge e ae wI-Rgv @
ot 3m St 2 SR g3t 7 Y ey A AT W 3T 7 TP TP A1 §1-3) Siaex gvad e 9
T8 &1 g¥eH RR W Tt &0 et @ | 2 WX F AN F A 39 TH-R0e @ sfad 81 39 A1 e 79 B g
BT IR 781 freran @t 339 | FeH A 8 9 21 I g | AP HUR IS, I Toid! | B1pY @il 7
Egﬁﬁﬂﬂ e 8T YUI- WM B, TH 79[ & g oft wgfera =it o ¢t 811 &1 ot ve siftere
|

ITYT TR P UEHR A D T UY HT IR Ja134:
- U el A 6 dist o1 wifife Yaie fear mar g2
1. fUaT &1 g &1

2. Al B GG BT

3. 9¢ 1 gg Bl

4, S PG PI

Correct Answer :-

. RHHI DI

3) WG Wals 9dT 71 R A ) $S FA-1380 W 39 g1 F o welt w1 919 786 ver 9 4,
TSP ag Iod a1 Y@ ¥ fyafdam @t Il A 3% wm & e wraw ¢ Qv afes ag & wr iz ag &t

Page- 23



e TR ¥ 94 DI avE a7 38T UT1 349 3¢ & =7 giear &) gerh-aas) o w19 3ur T giear -3
3R Y GIEd-Tod WHH & Iei U WXge Sfern # THeHy 9T9R & SR geit-3fiR Iy off .y u1?
Fiear TS I BT ATE FIF 313 A, g AR W a1er @i, RR 91 ye-f wR fewe gu wwe-
BHHDHY ¥ 5t At Tt ForIwT de1 ga T4, 319 9% IR § Higr 99 et g, 7 ¥ uRR-fe 39 ua-
et & g o1 sigen @A & e e aTa 8= usia # g @1 g7 9 gl 91a1 3t ara diad |
agmﬂaﬁ%mgaﬁ T & 91 3(eTS I a6 e § 3o 7 da! At 3% Uge-uss e ar¢ gr-far &
gof 3 et <t q 3 P raeur § i@l A 3ifg 7 b TP A1 -3} STaey ved RReM 98
%ﬁi}lWﬁ?ﬂﬁ@ﬁﬁﬁl@ﬁ%ﬁﬁ%ﬂ@gﬂ-mﬁaﬁaﬁaﬁ A 579 79 B GH
BT I T Foreran o F91 | Fou a9 81 91 &1 ST BT W AP SR S, IS Toal A SIehe @ 7
ﬁgﬁ?ﬂm Wi @7 A1- NP A, T AH & g +ft wgleraa aifte ok g:&ft 819 &1 it v sifteR
|

IW TR B UGHR A UD 7T Y FT IR TA159:
w1 gfSa o1 e e 82

1. 9dd

2. §TH

3.51

4, foifga

Correct Answer :-

4) WA WIS Ta1 1471 R A Y $5 -3 0 w61 39 faer w3 & =elt 751 ara 781 ve7 & &,
TSF Y Iod & Y A fRafyer @it et A 3% wH & e wRaw ¢ v Afs 9y ot dte ag @
To TR ¥ T4 DI avg TU ST Y71 3F 3¢ & fam giear &) gemi-aadt «f w19 Sy o giear -3
3R 1Y WEa-Tiod WEH & 92l §U Evgs sferan # Tieas aT9R @ iR geft-afi arr off & u1?
gfear TR 9 &1 WE" Hd oTs Ao, Wy RR W areR aue, RR &1 gedl w® Ree gu voe-
BEHHER I Tt At | F ORIBT IeT e 9371, 37 98 IR | Aler 994 Tell B, 7 ¥ weR-fow 39 g-
oA & g:@ o1 sigrem @ & e fUod ara o= USi & U7 ot 9 9 g:9! A71a1 S a1d 9rde @l
g WYid Afea T &t §og & q1g 3MeTs 0N a9 UehT § I8 7 ol A | 37 Usg-Use e g gr-fadvr &
Tt 3 STt At 3% gl 7 3 B rawar A SifE A S 7 P b A1 Gl-gl Siae? gieH RRgM 88
Ted U1 gveH RR T ath & Wt Y | 28X WX & ARl P A I [H-20 § Sfad 81 38 A1 e 7 Bl g
BT TR 181 forete o) 99 & FeH A9 61 9Id & 1 I gTed § e SR SO, I8 g A SIbY Qe
ggﬂ%ﬁm I @7 A1- XNF H3, T 7H & g +ft wglera wifte ok &l 31 &1 W v sifterR
I

IUYa TR Pt UgHR A U T UY 6T IR Ja1gd:
U= ERGET Tt A & S 82

1, G

2. Tt

3. ST Y BIE ol
4. IYTfeRT

Correct Answer :-
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5) WA TReIP g T9T1 TR A o o -7 oA 1) 39 faer s ® welt w1 9o 7 e At &,
TS YaE I6d ¢ Y@ W fyafaems @il ot 3 5% @M & 1Y WRew < AU afe= 9g &Y e Sz ag a1
939 TER T 93 B! A 99 8T U411 349 3¢ & {31 giear ot gorh-washt of w19 3ur dan giear da-31a
3R ST UIoa-Tivd WITHH & 9ei¥ §¢ WXgy Sfedn # THeHy IR ot 3R geit-3fi Trr o 7 u1?
gfear ERae 9 &1 ATew FXd o5 A, g RR W 7rey @ue, AR o1 ye-f wR fRwe gu vwe-
BHHHT I @1 At Fa rIeT de1 aa 997, 31 98 TR § Higr 9u =ell 8, 71 ¥ ueR-fa 39 ga-
faaifirit & g 1 sigren @ & e Red |1 so? ueh & U7 91 7 | g:-&ll |ra1 3t a1 | @l
T8 Yyia afear T3 9 g F 918 31T 019 7@ Ta § 3¢ 7 9ot & 3% use-use fre ag - @
BT 3T WA 2t 3R g1 7 3 BT R H AT A 3 7 TP THd A1 Sl-af STaex gYaH RIRGM 9
T8 ¥ gieH RR W ath & ot | 26w WX & @i & A I GE-30e | Sfad 81 3 &1 e 7 B g
T T TS] FAeraT a) F1 ¥ PeH A 81 9d 2| I gTad § A1 SHUR I, I Tead] A 31y @rar &
Egﬁ?ﬂﬂl Wi T8T AT- XM B34, 0 99 & fog o wghirra aifte ok g:@t 89 &1 Wi ue sifter
|

IR T[T B USSR A4 T TC U FT IWR Faq1g:
UH- Y A feafaam’ &1 3 Far 82

1. STIYD Y@ g
2. YE F T

3. 4TS
4, Yo ST

Correct Answer :-

o IS YJ BT

6) WA Rl 9T TT1 TR A O oo - 3@ 0t <t o 3& faer w3 & ool 71 919 7 81 @,
TSP Jag 3od o1 YW@ A fyafdam @t gl A 37 WM & e wraw ¢ R afss ag & ®r diz ag &
e TER | 93 P! a¥e 99 8T U411 34F 3¢ & {3 gfear ot gord-gadt o w19 3y dan gfear da-3a
3R 3ITE NA-1ITa YITaH & TeR gL TIgw sfordr § THeH? ok 3t 3R Ten-3i% Iry +ft «ar 4r?
gfear ERae 997 &1 AEY T 18 A, g AR W 71e @, RR 1 ge-f wR fewe gu vwe-
BHHHT 3 ! At Ta forIeT deT ga T4, 31 98 IR § Higr 99 Tel 8, 7 ¥ uRiR-few 39 gr-
faifirt & g o1 sigren oA & e Red ara som veiw & 1o 9t g @ g5 arar & ara Ies @l
g TYid Afeal U7 &1 Jog & 918 3/eTs U a9 el § 36 7 9! 4t 327 une-Use fBee a1¢ yF-R_ar &
7ot o ot At 3R got = I ot sawr A el @ iy 7 56 TPd A1 31-3) Siae? evad Rg™ 98
T8 1 g¥eH RR W ath &0 ot A1 2y R F @i F A I -3 @ Sfad 81 39 A1 e 79 B g
BT I TS] FAeraT df Fa-1 ¥ $eH A 81 9d 8 | S gTed § 711 SW ST, I Terd! A 31y @l &
iIETgT?ETﬂTI I ¥ET UT- P B, T 74H & g +ft wgleraa @ity 8k &t 811 &1 1 to it
B 1

IUYR TR B UgH 1 IR T WY BT IR Fargd:
XA~ 'qd B G AUAT BT 34 AT E ?

1. 3 7 g

2. 94 RS §ET

3. qd o e

4, T P ARG BT BT

Correct Answer :~-

. rafie TH B
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7) WA WRalS TaT T W B W 5o -7 A 19 3R fagr s A Tl w81 9y g gy &,
WSS gaE 954 & Y@ A fafeam ot ol 3 3¢ @M & R @ew ¢ Ru dfea sg s e 3z sg &1
T&1 TER 9 99 BT a8 a9 61 471 349 9¢ F fa1 giear & gerht-uadt Wt 19 SR Ian gfear Ta-a
IR 3T NBA-TIDd WA & TE §U TGS Siodl # THTHR IR & 3R Teil-aiT IR of Far 412
gfear TS 99 &7 AEY @ 375 ¢, Wy AR W 716w aue, RR &1 e+l = RPT v vwe-
Wﬁ?ﬁtﬂlﬁﬁﬂﬁﬂﬂﬂﬁﬂ,mwwﬁﬁmaﬂﬁaﬁ%m%wﬁwwga-
faaifiet & g o1 sigren @ & fore Red a1 sos veh & g7 9t U ¥ g:&l AieT 3t a1 Wik @l
wmnﬁmg TG F 1S 3MFTS U TF UeiTT § 3o 7 9@l A1 37 une-uss e 918 -l 3
ot o STt A 3% gt 7 3 @ et | SifE! ¥ 3iTY T ¥ THd A1 S)-3) STae gveH RREM &
Ed U1 FeeH R W b &t 9Tt | 2% WR F @ & A9 39 YF-Xie 9§ Sfad 8t 3% 41 e 59 & g
T TR 161 foreren &) 33 A Few A9 81 9 & 1 I g1 F AP FHWR IS, E TT A SiBY Qe F
aaaaTTngml@amm—%mﬁ,muﬁ%ﬁmaﬂmmﬁqaﬁ?gﬂﬁaﬁmﬂwm
|

ST TR P UGHT 1 IR T Y BT IR A5
W~ A@H M AT T F9H & fore off o S8t wren 82
1. GHEERT

PRIGE |

3. GTIHfd
4, Qgferad

Correct Answer :-

8) WM Wal® Ial 1Tl TR & ol F© TAI-=lt A O 37 fagr e o =eit 1)1 91w =€ To1 &t &,
ASH YaE Iod & YW | fefier @it g A 3% WM & Ry mRaw ¢ fAw Af ag ot 7 dt ag @
951 R A 94 I aXe a9 387 AT 39 9 & fam gfear 1 gorf-wasd W w17 Sur dan) giear da-3a
3R 3ITE UTd-Tidd WTEH & Tek gU TRH Sfadl # THeH ToiR $I 3R Teil-3iR TrT off 77 412
gfear ErRae 99 ST AR X o5 A, Wy RR W ey @i, AR &1 g ©R fewme gu vwe-
THEHHT I 35t At | T RrawT deT ae a9, 3191 98 IR | el 399 et g, 819 ¥ teR-fea 39 -
ﬁﬂ‘rﬁr-ﬁ%?g@aﬂWm%mﬁ%ﬁmmmﬂﬁaﬁwﬁgtﬁmaﬁmﬁﬂml
I§ Hyid Al T 9l 9o & a1e e 9T 9% e § I8 T "l R 3% Uge-Use e ag - g
qwfanmﬁ?ﬁaﬁ?@fa AT Y awAT A 3Tl | 1Y 7 ¥ Wb A -3} Slaex gvgd RRgA 33
e 1 g¥eH R T 9t & oIt | 28X WX & Al P A S0 [H-Xie § sfad 81 30 U1 S1E 7 B g
BT I T Foreren &) 9 & How A9 8 91 21 3! BT W AP SR I, T Toal A Srehe @ 7
E?W%l I ET A1- NP B, T AR & g +ft wglera aiiRe ok g:&ft 811 &1 1 v it
I

IUYa TR P UGS 9 IR T Y BT IR Iq139:
- TR e H TP SHRISR & a1 B 75 § 98 8-
1. FIeH BT SAfYHR

2. HIFA &1 YR

3. gU! g1 &1 3RBR

4, G 1M BT HRADR

Correct_ﬁgnswer -
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9) WM WRal® Tal 1T R & o $© FHt-y=it A 0t 3F fagr e o et 7)1 a19 =38 w51l &,
TSP Yag Iod 81 YW@ W faafaam @l gt A 3% WH & g wRee ¢ Ry afes ag st s S ag &1
T TR U 94 DI av¢ aU 38T Y11 349 93¢ & = giear &) gerh-aadt o w17 3y el gfear Ja-3a
3R T GEA-UIod WTEH & Iei §U ERgel Sfern # WHeHR IR & 3R Teit-3fR IRt off ar u1?
gfear TRae I &1 AEH T¥d o i, W RR W arer aue, RR &t ge+il w® et gu vwe-
BHHHT I ot AT Hel Fora®T deT aa T91, SIS 98 IR | Higl 991 Tet 5, 519 ¥ ToR-fea 39 ga-
e & g 1 sigren A & e e ara oo veie # g @) gy | g5l Jrar o1 ard " @l
IE HYid Al O3 9 4G F 918 QT 9 9% e § I5 T "l 2| % Use-use e ag g §
ot o et N 3k gt 7 3 Y et # i) | 3ifg 7 vP TPd A1 A)-3) STae? §veH RREM 88
ga U1 gYeH R IR Tt &t St < | 8% WR & @ & 94 39 [A-e 9§ 5fad 81 96 U1 59 79 B g
1 T e e & 91 F Hou a9 81 91 €1 3T BT W AP SR SO, T To6l F 3Ipe @ 7
E?mml e TET A1 XMep B, T 791 $ g off agfera oiffe ok gt 31 &1 1} uw sifter
|

ST TR P YD 9 IR T Y BT IR q133:
TH- gER 9§ i Gifgd ur

198

AR CIGH

3. SlaX

4. gfea

Correct Answer :-

10) WA TRald aal TT1 0 A o $© grl-43t <0t 9t 39 fagr o= & =t w51 9ru w1 a1 ot &,
TS Jas 9od ot YW & faafae= @t | gt 7 3% WM & e wRew ¢ Ru dfba sg sl wn dcdiz ag &1
o AR ¥ T3 DI avE TU 8T Y11 39 3¢ & 37 giear &) gerh-aas) o w17 Iur o giear -3
3R Y GIEa-Tod WTEH & 9 §¢ Evge Sfern § THeH a9R & iR Teil-3fR IRt off 7 u1?
gfear ERas 99 o1 qed 3@ TS A, Wy AR W =91er @i, AR 1 ge-f R st gu vwe-
BEHEHHT I ot ATl F R EHT deT Ta IH97, 3191 98 IR | Fial 999 Tt 3, 319 ¥ ToR-fea 39 ga-
et & g@ &1 g @ & e s aTa 3= usi # g @1 §g 9 gl J1a1 3t a1a giae @l
I WYid AfRE T3 Bt g7 & a1g 31eTE W a9 UehT § I8 7 ! A1 3% Ung-use e arg gr-faahr 3
gt 31 o1l At % gBi 7 31 B rawar | iG] F S 7 $P HPHd A1 gl-3! Siae¥ gveH RIRgH 88
Ted U1 g¥eH R T ath & oIt Y | 26X WX & ARl & A I9 [A-X0e § Sfad 81 36 U1 e 7 B g
T IR TE] Foree d) F9-1 A FoH A9 81 9Id & | S g1 § 16 SR IO, T Iad! I SIbS Qe |
;FIHTT?WHTI I @7 AT- NP HA, T F9H & forg +ft wgleraa aifde ik g:&ft 311 &1 Wt oo sifteR
|

ITYa TR P UgHR A IR T Y BT IR ad133:
TH-wEgd e ® g-faah 3t dist fea-fea o Ok
1. SWIad GHi &1

2. dg-gfeur <l &l

3. gfean 3R yic At &1

4, &1 Slae Bl
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Correct Answer :-

11) WEF WRelS g T R A o o5 get-3h 0t 1@ 3F fagr w3 & geit 71 919 = <1 ot @,
TSF Jag Iod 81 YW@ ¥ frafdam @t Il A 37 wH & e wraw ¢ R afss ag & ®r 3dfiz ag o
&1 §ER T T DI a¥g 99 QT UT1 39 a8 & o giear ot gerh-gadt o o9 Iur ¢an giear da-3a
3R 3ITE UFd-1iTa WITaTH & TR g BIgw sferar § FHeH? aToR $t 3R Ieh-3i% ary +ft «r 412
giear TR I BT AT FIP oS ff, Wy RR R 9eR aue, RR &) gei ® e gu vwe-
BHHHR 3 ! At Fa PrTeT e ae T4, 3 98 IR § Higr 991 Tl B, m%mﬁwwgﬁ-
it & g o1 sigren oM & e red ara s ueh & o7 9t 7 | g:&l! |t 3t 91 Hie @l
g WYid Afean 7 &1 §og & 918 3eTS U™ 9@ TeiT § I 7 9@t At I¢ Ung-uge e o @r-faaa &
@fmmﬁtﬁﬁ?@fqmﬁﬁmﬂﬂmﬁmqwmmﬁawwﬁmﬁ%
TEd 1 e¥eH RR W Tt 3= 1t | 2eX W & |l P W4 39 -3 @ Sfad 81 38 U1 99 79 B g
BT IRAT T3] Feran at 929 & FeH A9 8) 9 &1 I ETed & P SR IS, I Toid) & o1pe @rar
iﬁﬂgﬁmem?ﬂimm-wﬁaiaﬂ%,mmﬁ%ﬁmaﬁﬂgﬁimﬂﬂ%qeﬁ?g@aﬁaﬂﬁw&ﬁﬁw
gar gl

Iu T B UgHR I IR T 9Y BT IR IaIgd:
- QTS RIS | T e 82

1. I G BT AT 6| et XgT T

2. A ¢g-Tg &

3. I H PIS SR g1 AT

4, T TR 3T @M BT T

Correct Answer :-

. U Y HI I e] A @ At

12) HAH Wl Tt T R o oo -yt O 9 9 fagr s 7 9ol w1 9ra ) < o &,
TS YaE I54 & Y@ A Fwfae @it | ot 3 3¢ @M & R s ¢ Rudfpa g e iz ag &
o TR I 9 B a8 TU g1 UT1 39 3¢ & T giear &) gerh-aadt of w1 IR o gfear -3
3R TS NPd-Tiod HEM & 9ol §U Ty sfodl # TReH? aeR &t 3T Tei-3iT T ot @ar 41?
gfear TRaE a9 T e H3F Mg A, Wy AR W 91ew e, RR 91 ge+l W P g5u vore-
BHHHS 3 ol At T THST deT Td 997, 319 98 IR | HieT 99 Jet &, frrcr%wn e 39 G-
ot & g:@ o1 sigren o & e fod are o ueh & U3 91 Uy ¥ -5l |11 31 a1 Wie @l
g WYia ufear U &1 9o & 918 31eTs U 9% UaT 9§ I 7 9o A I Usg-uss e arg - &
i o STet Y SR gBT 7 3 B rawar H S | S 7 b T A1 Sl-g1 STae? giaH RRgM a3
5 31 g¥eH RR W 9t & ot | 2 WX & Gl & A 39 A-30e 9§ sfad g1 39 &1 O F 79 B g
BT IRAT A8) HerdT al Fa-1 A HeH ao 81 ofid 8 | AT gTed § AT HUR 31T, € TaAd| A 31bs @rdr A
ggﬂaﬁm W 3ET A1- NP F3, T I9H & g oft wglema aifte ok &t 81 &1 1 t st
|

ITYa TR P UGHY A4 IR T Y BT IR Iq153:
U ‘"B H-BHHHT I T &1 34 82

1. 35 B AT

2. G- PTHR AU

3. RS ikl &
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4, T7id YTd ¥ Y b1 Hebe

Correct Answer :~

. PPHTHRATST

13) WEAF WRal® 9l 17| R F O 8 g-43 o0t Ot 3@ fagr w3 & 9t w81 v = <7 o @,
TSF Jag Iod 81 YW@ ¥ rafear @t gl 4 3% WM & e wraw ¢ 3 afs ag & iz ag @
o R ¥ T3 B a8 99 6T UT1 39 3¢ & e giear &) gerh-aast o $19 Sur a1 glew da-a
3R TG TiEd-Tiod WHH & 9eik §¢ WRgy sfoan § THed aiR & 3R gefl-3fiX Rt off @ ur?
a1 YavgS! 99 BT AIeH FIb o8 o, Wy R W 9ey aue, R &) gedi W R gu voe-
TBHEHHR I 81 At | o FRIepT 2T Ie 99T, IS 98 IR ¥ TiaT 99 et 8, 319 ¥ URR-few 39 -
faafieh & g@ @1 sigrem v & e e a1a orm uei 8 g @) g § gt J1d1 @1 ard S i
a5 WYid uiedr U B Yog & §IG IeTS U 6P UG & 36 7 6e! A1 3¢ Use-Use e arg gI-faan &
ot o ot ft 3R gt 7 3 Bt srawr # sifEl @ aify 7 v gPd A1 31-3) STy eved RRe™ 8%
64 ¥ g¥eH RR W ath &0 et | 2% W & @i P A I [F-30e B sfad 8§ 39 A1 e 79 B g
BT IR 181 ferar at 3 & Fen 99 8 9 &1 I gTed # AP SR IS, I Tad! A SIpY @il 7
g;;gr%aTuTlGﬁaistn-aﬁaianeh1nnIFﬂﬁ€hfaq%ﬁiﬁﬂ%nﬁiaﬁﬁqaﬁrgﬂﬁiéﬁiaﬂQﬂuﬁﬁaﬁﬁaﬂ?
|

STIE TR BT UgHR I YD MY UY BT I qaA183:
A T 2reg @1 R e

1. G

2, S0 A PIS

3. BARNRT

4, T

Correct Answer :-

14) WEH GRele 9a T R Y o $8 -y 8 9 39 faer # # =it 751 9y 7Y ver | &,
TSP Yag 364 o Y@ A Rafar @it gt 3 3% @M & Rt svad ¢ Ru afpa sg st e sz sg &1
T TER 9 99 $I a¥g a9 ¥61 471 3d 3¢ F a1 giear & gerit-uadt WY 19 IUR Iar gfear Ta-a
3R TG WBA-Td W & IS 5T WRge Sferam # WHeH IR & 3R Teft-3iR IRt o 7ar u1?
giear ERaE 3T T AR HId 313 A, WY RR W R aue, RR &1 gel ) e g vwe-
BHHHT I 6t At | Fa TP deT e a1, 3T 98 IR | Hial 991 =ell 8, 819 ¥ ToR-fea 39 3@-
ﬁtl’rﬁr—ﬁﬂfg@'aﬂmwﬁ%ﬁmﬁ%ﬁma{qﬁ%ﬁﬁgﬂaﬂwﬁgtﬁmaﬁmﬁﬁW|
g8 WY ufean U7 &1 g & 918 31eTs U 99 Ue § 33 7 qa! 9t I Usg-uge fFe ag -l &
qﬁmaﬁaﬁaﬁ?qwfq AT P AT A 3iTE] | TG 7 ¥ b Y1 -3 STaex gved M 33
5 U1 gReH RR W ath & ot f| 2R WX S a S A 39 GE-30S § sfad 81 30 &1 e 79 Bt g
T IR 781 Freran ot 3 | Few A9 8 5 21 I g1 | AP HUR IS, I Terd! | B1pY @ral
;mmgmml e TET U1 XM B39, T g9[ & fog off aglerma aifte ok gl 81 &1 1t ue sifter
|

ST TR P YD 9 IR T Y BT IR a5
1. Hg
2.9Y
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3. R
4R

Correct Answer :~-

15) WEH uwfwwmmwﬁa}wwﬁ-wmﬁaﬁﬁmmﬁﬁaﬁﬁnﬁlmﬂﬁwﬁw,
mwmﬁwﬁﬁaﬁaﬁaﬂlmﬂﬁaﬁ%m@ﬁﬁ%mﬁﬁﬂ P FT SN2 I8
TER & Td B ave a9 g7 4Tl 3« o< & fomm gfean ot gorh aa'whmaﬁﬂamamlgﬂmﬁﬁ !’Iﬂ
Gmén@ﬁﬁﬁﬁﬁmﬁﬁ F TR U TR Siedn § THeH? AR B 3T Tei-3iT TRT of 7T 4T?
gfear TRTS I &7 AE" F@ 3T AN, Wy AR W Tew aue, RR o1 gedl ) Ree gu vwe-
BHHEHR I 61 At | T FIesT ST Te 997, 39 98 IR § TiaT 999 Tt §, 719 ¥ URR-ew 39 3I-
foafiel & g:@ o1 sigren @A & e Ao w1d o usi & g3 @) g § g4l J1d1 &1 97 S @l
I8 WYid AfgaT G B Yoy & 91g QTS U a Uei § 96 7 9! A 3% Ung-Use e a1g gI-fagir @
7ol 3 A 2 3R gt 7 3 B R H AT A 3 7 TP THa A1 €l-3f Siaex gveH RREM 38
gd ¥ geeH RR W ath &t St ot WY WR & @ & 99 39 [A-Xie 9 &fdd 81 8% ¢ 59 79 St gy
T I e Frerat df 92+ & Fen a6 8 9id &1 I gTed § A1 HUR Io1T, IS Iaid! A SIdy @rar #
Egnmem@awm—%mﬁ,mwﬁﬂ;mmmmﬁqeﬁ?g@ﬁﬁmﬂwm
|

ST T B UGB A T T WY BT IW Fa1gd:
- G BT T G -

1, 91 Iumm

2. SO IR

3. fa@rs & aren e

4. G G T

Correct Answer :-

. g U

16) ¥Ru+ Ul U@, o7 urht wa g1

I T | Say, T, T, T

IRHA 4R VH &1, Hd AR GBI |

T U R T R, R 711 o8 S|

IWE U BT UgHR A YD T WY FT IR FaIsa:
- I 1 rafar § -

1. OR

2. Ui

3. fAfd

4,9R
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Correct Answer :-

. AR

17) 3w Uit ufE, fam urit wa )

it T T SR, J, Ty, T

IRHA 4T W BT, WA AR TedT|

e U e AT o, SR 7T W S|

IUa TRl B UgHR < U T UY FT IR qa153:
- TP | ared 8-

1. IR g4t

2. 9%

3, 3TITST B TTY TCHID

4, 91l

Correct Answer :-

o STATS P 1Y TTHTHR

18) Ifew Ut ufdR, fa= urit wa )

T TR T S, Jiell, AT,

AT YT U T, Hd AR Fedr |

e U b AT o, SR 71T T S |

IWa Ui BT UgHR H1 IS T WY BT IR adrsd:
- S I BT HA 7?2

1. 3T Y FIS 7

2. U 1 Hegl

3. 718 &1 Agdl

4, YT &1 gl

Correct Answer :-

« TH S HET

19) ew= ur uf&d, fo urt e g
Ut T T Sa, T, Ty, T

IRH 4T U BT, A AR IEH|
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¢ O fir AT SR, SR Mo Ut | |

IR YRR B UgHR -1 IS T WY HT IR qarsd:
WS- G YT 4H BT | B F1 e 32

1. 4T 3R O

2. T A BIE e

3. U0 U YT B! IRE o

4. YT BT O

Correct Answer :-

- YN TP YT I RE ©

20) ¥ew Ut 0, fom urt wa g
I TR T e, A, 7Y, I

IRA UFT UH BT, WA AR b

g U fpT AT o, R Wi W S|
SR URII=T B UghR 19 U T UY HT IR Jarsd:
WRA- U RTeg fT & & T B-

1. g

2. TlfeHT

3. ST A PIS e

PR

Correct Answer :-

21) fw o wfed, e ol wa g

U TR T Sa, Jidl, AT, T

IRTT U U BT, WA AR FeDd |

e U BT A1 o, R 7T T S|

IR UL B UgdH 1 U T UY HT IR qarsd:
TH- U BT faei g 2

1, @

2. 3

3. 1Y

Page- 32



4.0

Correct Answer :~

22) ew a0, o et @a g

Ut T 7 SR, Ji, 7Y, T

IR 4TI 9 1, WA AR AP

e U e AT o, SR 7T W S|

Iuod U B UeHR < U T UY FT IR qd159:
- i’ &1 qurdf wreg 8 2

1.78

2. 91y

3. 918

4, 7fd

Correct Answer :-

. U

23) few o vfEd, famr arh wa g
Tt I T SHa, Jid, JY, g

A 4R U T, W AR s

€2 U fihR AT TR, SR e TRt Sa ||

IW TR B UgH - IS T WY HT IR qarsd:
TH- AT ¥ STy 872

1. {19

PRGN

3. S[[MdR

4. M&H

Correct Answer :-

24) fRwa o vfE, fam arht wa g
i TR T Sa, Jiell, A, T
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IR oI O 1, 79 AR TP

e U b AT o, SR TS W S|

IR UL B UgHR 1 IS T UY HT IR qarsd:
W=H- 'UTT BT UaTaarh § -

1, Gl

2. SRIAT SR

3. pUN
4, gaTd

. SRITTSR

25) W Ut v, fam urit wa )

it T T S, JiH, 7Y, T

T U 9 1, WA AR FeP|

e U e AT o, SR TS W S |

ST TS &) Ugx 1 IS T UY PT S9N TS
- A Wreg e A A g -

R

2. TAlfedTT

3. TR AP T

4, T4 e

Correct Answer :-

26) Ifew Uit uf@d, A urit wa =)

Tt T T SR, Jid, 7Y, T

IRT 4T A BT, W AR BT

e U e AT o, SR 7T v S|

Iuad TN B UeH 9 IR T UY $T IR qa153:
UH- UYT Eig B BIF-9T APR 32

1. %Y

2. qHDd
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3. SV
4, I

Correct Answer :~-

27) e U uf@d, faq urit wa =)

it T T SHa, die, 7Y, T

IR 4TI 9 1, W AR TP

e U e AT o, SR WIT W S |

Iuo U B UeHT -4 IS T UY $T I7R qa153:

T=H- TR Uit ®1 uyH e # wfa few aedia e & 59 qor ot ara s w1 e
1. RUBR

2. fomrgran

3. RI&dl

4. SAMCRY

Correct Answer :-

28) Ifew Uit uf@d, faq urht wa g1

T T T S, Jid, wIY, T

AT U4rTT U T, A AR Tehr|

g U e AT R, SR e W w1

ITYaR U B USHR 1 IS T WY 6T IR Ja1sd:
- UH T YT 3R geh? O: Sear W g at 2
1. YT HSTd & STl g

2. ITH 15 U S B

3. IUH HawT o STt B

4, 39T WG AT 311 S &

Correct Answer :-

. IH S US WA B

29) w1 urt ufEd, fom urdt wa g
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U= T 7 Say, A, A, Tl

T 4TI 9 B, WA AR Fep |

e U b AT o, SR 7T v S|

Iuad LRI B UeHR < IR T UY FT IR qa133:
UH- AR PIYE EUR 2

1, dRT

2. AR

3.dR

IS

Correct Answer :-

30) Ifew= ur fEy, fom urt wa =)

it T A S, Fi, 7Y,

ARHA YT W T, WA AR gedr|

e U e AT 9, SR TS Wt W |

ST TR B UgH 19 U T UY FT 37X a13d:
URH- 'ge T T AT IR, SR 7o Wil 9 ¥ 6 22
1. XY

2. qH®

3. SUHI
4. U

Correct Answer :-

Topic:- Social Science (SSC)

1) Who were contemporaries of Kanishka? / i B AP DI A?
1. Asvaghosha, Kamban, Nagarjuna / 3f oy , e, :I'I"TI_\gf:[

2. Asvaghosha, Nagarjuna, Vasumitra / 3%, 7‘|T‘T|5i=f, CISIEE

3. Asvaghosha, Kalidasa, Nagarjuna / G{%N-TG[, Cbli?idl*l, EIb II\ﬂ”"I

4, Kamban, Banabhatta, Asvaghosha / e, qHHg, \3{%‘21}5[
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Correct Answer :-

« Asvaghosha, Nagarjuna, Vasumitra / G{%’Ehﬂ, Wﬁq, EIE&H

2) Which neighboring country of India was referred to as ‘Serendib” by the Arabs? [/ HRd &

P TSRl 3 # eREl gRT W & wu A Tefila frar ur?
1. Nepal / 3urd@

2. Pakistan / OTfep¥dT

3, Myanmar / FITHR

4. Sri Lanka / 4icieT

Correct Answer :-
« Srilanka / #icier

3) Evaluation that is used to monitor the learning progress of students during the period of

instruction is called as: /angm,ﬂiﬁﬁmaﬁ m%aﬂqwaﬁmm
@1 PR w4 F forg gwauTa fvan sirar 8, e seaman &

1. Summative evaluation / GRTTH® Hdish

2. Diagnostic evaluation / EEIEECr i
3. Placement evaluation / TSI Hellh
4. Formative evaluation / FHTONE® Jedic

Correct Answer :-

« Formative evaluation / FTHTUTE® Heih

4) What do you mean by BOD (Biochemical Oxygen Demand)? / dl.3f.gl
(TS e sifrite feuis) @ smuwT o Sifimg 82

1. Oxygen demand by aquatic plants / et gret IXI STeR{TST P AT

2. Oxygen demand by aquatic animals / ERiE] tl'ﬂ&ﬁ SR SIS Pt AT
3. Industrial demand for oxygen / SffRiteH & ferg 3N qim
4. Water pollution by organic waste / SIfd@ 3(UTRIY gRT STd TgHUT

Correct Answer :-

« Water pollution by organic waste / SIfdd 3(UfRIY gRT STd TG0l
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defined, ‘Social Sciences as those bodies of learning and study which recognize the
simultaneous and mutual action of physical and no-physical stimuli which produce social

relation’. / A aRruiRe forar 16, gmarfore fagm, sfirme 3R sivaa & a9
Forl & T d § o INIRT iR sRmi® Sawsi &t yrwafke fvar ot wea
YA T SR ATHTOG AU FATT g 1’

1. James High K@F‘:lﬁfﬂé'

2. Macaulay / BCa|

3. John Major!ﬁﬁﬁw

4. Bining & Bining / faf= & fafm

Correct Answer :-

« James High K@IWET&F

6) The research that is based on observed and measured phenomena and derives knowledge
from actual experience rather than theory or belief is known as: /

Y S Sraare 3R A gemei wR snunfivd giar @ ok Rygia a1 yrRon & swi™
qRATIh SIHT GRT A UG $RATE, _____ Hgerdl gl

1. Empirical research / GHﬂﬂ-lﬁEﬁ 3O

2. Survey research / JJequr SIT0T

3. Deductive research / TR S{=80]

4. Quasi-experimental research / 3{&-TRINIEH 3f-AWUT

Correct Answer :-

. Empirical research / SfIHfde® YUl

7) According to Seligman, ‘Ethics and Education’ are included in: / AfermaT & SR

Aferepar oiv Rram sod =wfde 81d g

1. Semi social science / 34 HTATNTEP AT

2. Social studies / HTATTE T

3. Pure social science / %Wﬁﬁﬁ

4. Science with social implication / grTfoIh ﬁ%ﬁTﬁaﬁTﬁW

Correct Answer :-

« Semi social science / fo‘ifmmmﬁ
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Which one is not a Nataka (Play)? fﬁ'ﬂﬁﬁqu ('ﬁ) e

1. Pratigya Yaugandharayanam by Bhasa / YT &RRT PIRE] I?I"'IT'LR'I"’-'J'UTF[
2. Saptasati by Hala / 8¢ §RT 9@l

3. Uttara Ramacharita by Bhavabhuti / Ha¥fd gRT 3R IHaRd

4. Mricchakatika by Sudraka / Jgd gRI JBBICHI

Correct Answer :-

« Saptasati by Hala / 3Td gRT Gl

9) What is the standard sea level pressure in millibars? / HIFTd '\‘Iﬂ-sﬁ wR 3T g1 fafeer

AR e?

1. 1000 millibars /1000 fAfe/ER

2. 1100 millibars /1100 THfER

3. 1013.25 millibars /1013.25 fAfeaR
4.1025.00 millibars /1025.00 fATER

Correct Answer :-

« 1013.25 millibars /1013.25 fHfer@R

10) When was the National Human Rights Commission constituted? / ?T@‘TW
TN BT TS Hd BT 171 Y12

1..1992
21995
3. 1996

4, 1993

Correct Answer :-
« 1993

11) Why should social science be a part of a core curriculum? / mﬁaﬁaﬁw

BT UTaashH 1 fg~t il g a1fge?
1. Helps to develop critical thinking / T8 e ®! fdsRId &1 # Hag Hal g

2. It deals with human behavior / g HIHd BEIT:IBTQ'QEI Tefdra %I
3. To develop awareness of the world / ﬁ%raﬁwmaﬁ IGEARG W%ﬁml
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4. To develop the country / &=1 B1 A fid & & g

Correct Answer :-

« Helps to develop critical thinking / TTe- e P! fa g o1 § Heg Hrar gl

12) ‘General Ticket System’ is another name for .| SR fePe e Cdl
TERTAM B

1. Multi-Member Constituency / Ig-Ha¥ IBEICREE]
2. Triple-Member Constituency / -Tew falem wew
3. Double-Member Constituency / %—W fafea f:'H

4. Single-Member Constituency / Th@-9a fara- &

Correct Answer :-

« Multi-Member Constituency / dg-Ha & fafe &=

13) Discussion method is also known as: / TR==T tl?,qﬁf Gal g9 qH o WY @ SITen %:
1. Project method / RIS i

2. Holistic method / Q;UTFIWE,P[ LEAR]

3. Socratic method / ghTcl TG iel

4. Activity method / fhgTh g UGl

Correct Answer :-

« Socratic method / W?ﬁ U@ﬁ"f

14) Observation of one’s own behavior by looking within is . Tedtafea s
R4 & MR FTH D W4 S AR BT Saaid wearar gl

1. survey / Ga&foT

2. experimentation / TN

3. introspection / KIS NENICER]
4, rating / eI

Correct Answer :-

« introspection / 3R
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15) Who among the following is associated with the perspective of “Education as Social

'I:rz'lnsfor%mation”? / ﬁ'ﬂ'ﬁ'@ﬁ' =k | EbsFI «HTHTITS Wﬁﬂ?&l’ g *q E: | ﬁ]’&l’l’” EL3l Ef@ﬂ“ﬁ'ul' I

1. Mahatma Gandhi / 6T TTieft

2. Dr. Radhakrishnan / 8T. JTUTHWRH
3. Jacques Rousseau / SIFHTH =41

4. Paulo Freire / T3¢l ﬂﬁ_@'

Correct Answer :-

« Paulo Freire / UT3dl ﬂ%?f

16) Who among the following issued the founding charter of the English East India

Company? f%ﬁﬁﬁﬁﬁ?@ﬂﬁﬁ%ﬂﬁﬂh”
1. Elizabeth 1/ TSI I

2. James 11/ 57 11

3. JTames I/ SR T

4. Charles I/ TG

Correct Answer :~-

« Elizabeth T/ TleToTeY I

17) Who was the Sultan of Delhi at the time of establishment of Vijayanagra empire? /

ISR AU St RITYT & 0T el &1 gear i Ar
1. Balban / d¢fd

2. Qurtub ud din Aibak / W—R—?ﬂq aﬁfﬁ

3. Razia Sultan / IS/ el

4. Mohammad bin Tughlaq / Higme fom [WNED

Correct Answer :-

« Mohammad bin Tughlaq / FEWIG fo i

18) Who was the first President of the Indian National Congress? / YRda ?T@Tl PO P
WYH A& I A2

1. Womesh Chandra Bonnerjee / R T5 FToi
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2. Badruddin Tyabji / §G3g 1 qgseil
3. Bipin Chandra Pal / fSf0 =% ural
4. Lala Lajpat Rai / <ITeTl SlToIUd X

Correct Answer :~-

» Womesh Chandra Bonnerjee / R I Foll

19) Who remarked that ‘our secondary education remains the weakest link in our

educational machinery and needs urgent reform.’? / foru fewuft &t f TURT "rafie
e, gAY e AT F T AR Dl @ 3R THA dobTdd GUR P SATTIhdl

R
1. Dr. Rajendra Prasad / CIRSE-A3I
2. Dr. S. Radhakrishnan / ST, TY. YUTH WA

3. Dr. Ambedkar / €. Gfﬁ@?:fb_{

4. Maulana Abul Kalam Azad / FIQITT S HATH TSI

Correct Answer :-

« Dr. S. Radhakrishnan / €I. TH. JYTH U

20) Inquiry-based Learning is based on which philosophy of education? / Y-t

T, Ren & e axf= w snetia 82
1. Realism / 9U1IdTg

2. Idealism / 3fTGRfaTg

3. Existentialism / {f&TdaTg

4, Naturalism / Wﬁeﬁﬁ

Correct Answer :-

« Naturalism / Upfdarg

21) India signed a 20 — year ‘Treaty of Peace and Friendship’ in 1971 with L HRA A
19719 ¥ 1Y 20 gify <zrifar 3R R WP W gwmer

1, Sri Lanka / off TepT

2. Bangladesh / IR
3. Soviet Union / Tifadd I9
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4. US / 3ARS®T

Correct Answer :-

« Soviet Union / Tifdad TY

22) is a body of the United Nations composed of all member states. / '\“I'ﬂﬂﬂ

Y B YD 31S & Wit a9t e el @ Rt 2

1. Security Council / JX&T gRyq

2. Economic and Social Council / 3T @Wqﬁqﬁ
3. Trusteeship Council / gt uikeg

4. General Assembly / HETHHI

Correct Answer :-

« General Assembly / He[HHI

23) The benefits of Green Revolution in India were limited only to . Wﬁ'?ﬁﬁ

PAFAHSIA_ dP QA A1
1. Wheat and rice /ﬁf’f 3R Frad

2. Barley and jowar / S 3R SR

3. Barley and cereals / ST 3R 3FTS

4. Rice and barley / dId¢] 3R S

Correct Answer :-
« Wheat and rice / ﬂ‘é" 3R Frad

24) The head of a guild in ancient and early medieval India was called ./ WA 3R

RIS A URT A TE G S U@ B Bl STl AT
1. Adhikari / 3SR}

2. Adhipati / 3{fergfd

3. Gahapati /T8yl

4. Jethaka / SIddh

Correct Answer :-

« Jethaka / Sicidp
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25) The study of fossils as a way of getting information about the history of life on earth and

structure of rocks is known as: /qzﬁWGﬁaH%gﬁgmaﬁ?ﬂyﬁaﬁmw%ﬁwﬁ
SIS YTt B $1 G fafer & w0 A Siaredl o1 3iead 98 deard o:

1. Ecology / Eaﬂﬁﬁ

2. Geography / o

3. Paleontology / Aferderarol
4. Geology / fSrararsit

Correct Answer :-

« Paleontology / Afererarol

26) The thickness of the Troposphere is maximum at the Equator during which of the

following seasons? / 'J{Fﬁﬂw TR IHATSH @ﬁ'\‘cﬁ'ﬂ?} P Hiers e A A fog HH o
Taw Sferw gt 82

1. Winter / fdepTel=l
2. Spring / 9

3. Summer / YSH&HTAH
4. Autumn / RS Bg

Correct Answer :-

« Summer / STHTEAA

27) The value of final goods and services produced in an economy in a year is known as
/T Y § fplt erdfarawn ® Ianfea sifaw axgait ok Jarsii & gea &t
% U H SH1 14 51

1. Per Capital Income / ufd H\Gﬁ S

2. Gross Domestic Product / gobel ¢ 3G
3. Gross National Income / &bl BT 3T
4. Gross National Product / &b P I

Correct Answer :-

« Gross Domestic Product / §hd €% 3G

28) Objective-based teaching is suggested by: / G%W-GIT?-ITﬁT‘I Rreur 599 gRI LEURIRIT ]
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1. C. Norman /?ﬂ. :ﬁﬂq
2. D.W. Allen / SI. &Y, TaiH

3. Benjamin S. Bloom / SoTRE T, H
4. David Crowder / Sf38 PSR

Correct Answer :-

+ Benjamin S. Bloom / SoTfEe T, SiH

29) Which one of the following is a disadvantage of Inquiry-based Learning? / ﬁ?’%@ﬁﬁ
W DI SAYUT- TR TR BT TH Y &2

1. Promotes a deeper understanding of content / Tl &l TI’&RTS? 2} ﬂ'ﬂ%le[ ) ]Q(TE URT Har %I

2. Involves a lot of preparation and planning time / 9% dgd IR dgRY 3R AeE g9y i
AT B

3. Builds initiative and self-direction / Ug 31X TH-fG=IT T STYR IWAT B |
4. Warms up the brain for learning / T & foTu Aidss &1 IATed Bl %I

Correct Answer :-

« Involves a lot of preparation and planning time / u‘s'agaﬂm qaRY 3R G 9y e
EZGIN

30) Which Finance Minister of India initiated the New Economic Policy (NEP)? / HIRd &

forg fomr vt 9 3 enfdfes ifa (@) St Yoama a2
1. Morarji Desai / ARRSH éﬁré

2. Manmohan Singh /mﬁ:f ﬁl’a’

3. CD Deshmukh / ¥S] XYM

4. TT Krishnamachari / €Il W

Correct Answer :-

« Manmohan Singh / F-HTeH &g

31) Which plan discussed in detail the food security in India? / HIRd H WIEI &I & forQ

fra e R feaR @ T=i g2
1. Fifth plan / Gl Qo1
2. Eighth plan / 3641 1ot
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3. Sixth plan / ©al TSI
4. Ninth plan / T4} G

Correct Answer :-

« Ninth plan / CICIRASE]

32) Which Article of the Constitution of India empowers a citizen the right to move to the
Supreme Court to enforce Fundamental Rights? / HIRd & JAfau= ST S AT \?rlﬂ%_q’ TP
AR B Hifere USRI B yafda w3 & g dt= <amareag & 9 &7 SHfRER gar
®

3 3%
2,09
3,33

4,32

Correct Answer :-

. 32

33) Which Article of the Indian Constitution provides for an independent Election

Commission? / IR WA BT B TT SI55¢ Teb a0 AT START USTH HRal 82
1,323
2.327
3.324

4,325

Correct Answer :-

« 324

34) Which of the following is not applicable to Micro Teaching? / Fofafead a9 q&q

Rreror @rge Afin W A A 82
1. Immediate feedback is not gained. / dcpTcT Hﬁfﬁf@ 1] L¥5] T-I_E?f ﬁ?ﬂ %]

2. Duration of instruction is limited from five to ten minutes. / ﬁéﬁl P 3fafd i) Yy e
a% i gt 8|

3. The size of the learning group is small. / 3T GHE BT THR BT gl
4. Teaching is carried out under controlled conditions. / fQT&fUT, frfa uRiRufaat & foar Sran %I

Page- 46



Correct Answer :-

- Immediate feedback is not gained. / b Tal Uiy Tt =7a1 B Bl

35) Which of the following dynasties had the longest rule? !ﬁ"zﬁﬁ'@ﬁ T ¥ forg vrerawr
BT ARSI TG Gl UT?

1, The Pratiharas / FI'I%IE'R

2. The Palas / Ul

3. The Senas / I

4. The Rashtrakutas / X[¥p<C

Correct Answer :-

¢ The Palas /Ul

36) Which among the following Viceroys was associated with the Ilbert Bill Controversy? /

frafifEa § @ o9 91 IR soed o farg | 71 9
1. Lord Ripon/ drs Ro=

2. Lord Lytton/ TS fored

3. Lord Curzon /@S @oi-

4. Lord Hardinge / TS SIS

Correct Answer :-

» Lord Riponfﬁ‘f@cﬁqq

37) Which among the following is a major obstacle to economic development in India? /

Frafafa & @ a1 uRa # snffe e & e v v arar @2
1. Low productivity / ¥ SdTaHr

2. Low level unemployment / [BEESREIR CUSRIE]

3. High literacy rate / 3 HI&R T aX

4, Increased GDP rate / Jebdl UX¢] TG & H gl

Correct Answer :-

« Low productivity / % IdTcendr
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Which among the following is a commercial bank? / frafafea 4 9 o9 e aritificus d&
&2

1. State Bank of India / HRTT ¥T o

2. Regional Rural Bank / &=t ymior S
3. Reserve Bank of India / HRT Re1d b
4. Cooperative Bank / Wlﬁafﬁ

Correct Answer :-

« State Bank of India / YR ¥C o

39) Which among the following Mughal emperors prohibited the use of tobacco? /

Frafafaa & @ f5T gra Jg1e A T 91e & STanT ot ufadfia far ar
< Jahangirf’a_ﬂ"rﬂ?

2. Babur / §T6R

3. Shahjahan / RITESTG!

4, Akbar / 3{hdX

Correct Answer :-

« Jahangir / SgH R

40) An effective teacher tries to make the class room environment more WA

YHTY &P, H&IT & raravr & iR e CEIGI]
1. democratic / AHAAD

2. autocratic / ﬁ@QT

3. strict and rigid / ¥ 3R FER

4. anarchic / 3RS

Correct Answer :-

« democratic / ABANAD

41) The silver coin introduced by Sher Shah and continued by the Mughals was : / QTS §RI

vraferd far T SR gere gRT AR 34T T =il &1 RyawT o
1. Rupaya / U4l

2. Asharfi / 3[BT
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3, Muhar / 9I8%
4, Dinar / E.'HR

Correct Answer :-

+ Rupaya / 204l

42) Many of the social problems in modern India could be due to the neglect

of: / 3MYFIP URd A H3 ATHIIG AT BT HRUT (5T HT IULT & TPl &
1. Higher Education / &I Rr&f

2. English education / 3o fRrem

3. Value education / STGRI 27&fT

4. Technical education / Th1eh1 TRA&T

Correct Answer :-

+ Value education / \}I'F:!"Qf ﬁZT&ﬂ

43) Who has the power to recommend the dismissal of the State Government and suspension
or dissolution of State Assembly? / Y154 IRDBR 1 TG 3T IS fAU=aHT &
fAia a1 fdues ot Rroifv o= 3t wfd foad w82

1. Prime Minister / T&THAT
2. Parliament / §9G

3. Governor / o4l
4, Cabinet / %ﬁeﬁf

Correct Answer :-

« Governor / XISUUTT

44) Who is considered the father of Green Revolution at the world level? / fd%a TR WX gRa

Hifa & e s 71T SITat 82
1. Thomas Malthus / UTHE HTI™

2. Norman Borlaug / AT SRANT

3. Cecil Salmon / RIS TTHA

4, William S. Gaud / faferm 9. s

Correct Answer :-
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« Norman Borlaug / A4 IRANT

45) Which of the following reason is responsible for highest percentage female migration in

India? / HRd & AfEeT IR &1 S=ad Ylagadr & fog fFufefaa d§ @ o9 @ sror
STRGRI 87

1. Stability / FRR@T
2. Employment / SRR
3. Marriage / ﬁfﬂg

4. Education / TRT&T

Correct Answer :-

» Marriage / faare

46) The “Helmand Province” of Afghanistan is famous for cultivating which of the

following? / FFafifEa & A fewet Wit & T sremi=RaT &1 <gade wida” TRI= 82
1. Opium / 3BT
2. Wheat / ﬂ_é"

3. Cotton / UMY
4, Tobacco / AdTdH

Correct Answer :-

+ Opium/ 3B

47) Lal Bahadur Shastri's Samadhi is also known as: / el SgTgR XRAt &1 THIY DI g9
A ST o1 6

1. Shakti Sthal / Jfad YA
2. Shanti Van / Qidig

3. Chaitrabhoomi / ﬁlﬁﬂ{ﬂf:
4. Vijay Ghat / fasrg gre

Correct Answer :-

« Vijay Ghat / fasrg gre
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Every year the government announces the prices of agricultural goods as a backing for

farmers’ produce is known as ./ U® gY IRHR fHA B U & A & FU
AP IaR & Sad s ovmad e, R seremarel

1. Limit price / it Iy

2. Base price / 3{TUYR HeY

3. Exchange price / faFfma R
4. Support price / Eﬁiﬁﬂ,jﬂ

Correct Answer :-

« Support price /ST qg

49) How many countries of Southern Africa make the Southern African Customs Union

(SACU)? / &féroft it & faram 31 firaraw gféolt snpiest T 3o w9 (sacu) &1
i sa g

1.3
2,3
3.4

4.6

Correct Answer :-

50) One species of Coffee called Coffea charrieriana is free of Caffeine. In which of the
following countries Coffea charrieriana is grown? | BB BT Udh gt ford

PG RRINGTT 1 96T 3, O A gad gidl 81 75 o & forw & ¥ sreradifiarn
SYSITS et 82

1, Vietnam / fage=m
2. Yemen / 9H1
3, Cameroon / pHE

4, Liberia / TS

Correct Answer :-

« Cameroon / %mmr

51) CANCELLED
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SEBI stands for /AT SEBD) DI fdRga®u___ 3l

1. Securities Exchange Board of India / ﬁlﬁlﬂt‘lﬁ QEREI%W CIRRCIL sr%m

2. Securities and Safeties Exchange Board of India / W\_ﬂ Q@ @"Rﬁlﬁ QER‘I%IW a"]é 3
sfear

3. Securities and Stocks Exchange Board of India / ﬁﬂ*ﬂﬁ?ﬂ\_ﬂ U,TS' E@Qﬂﬂa\?{ 3-1_6c \}ﬁfb_ 3'%'5”

4. Stock Exchange Board of India / TP LR Q{'UI q-\lsr 3B Eﬁ'ﬂ?ﬂ

Correct Answer :-

« Securities Exchange Board of India / mﬁ?ﬂﬁ Qﬂ'\‘:l%l\_rf CIERCIL Q'RCRIIT

52) A variety of pedagogies that involve students in discovery or research and
employ approaches of learning is called / faftd voR & Rieom=me s
BT 1 it Tt a1 e & TR Bt 8, Sk 3R ST eI Bt P

PN G, dedaargl
1. Problem based learning / HIT TR S{fATH

2. Learning from observation / a@lid+ gRT JTUTH
3. Inquiry based learning / 3{-9UT 3f1eTRd HfTH
4. Pedagogy of learning / 3fTSRTH &1 fQT&I'UI'QTI'H

Correct Answer -

. Pedagogy of learning / 3{fORTH &I R1&0mme

53) Barak valley in Assam is famous for which among the following? / Frafafea & 9 s

o W urcl frwss forg uRis 32

1. Bamboo Industryfa'iﬂtﬁﬁﬂ

2. Petroleum Production / ﬂ@ﬁ"l’qq 3dlgd
3. Cottage Industries / @7_(.&? S

4, Tea Cultivation / T 1 Tt

Correct Answer :-
« Tea Cultivation / T Bt @T‘ﬁ

54) Which Unit/Scale is used to measure the ‘thicknesses of Stratospheric Ozone layer’? /

‘éa%ﬁmehvﬂqmaﬂﬁtﬁﬁ’aﬁqmﬁ%mﬁmw@aﬂﬁwwm
a1 e?
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1. Melson units / A9 Sp1sal

2. Beaufort Scale / ag;qﬁ'c“ BEIE)

3. Dobson units / SIa9T SHRAT
4. Sieverts / e

Correct Answer :-

« Dobson units / W?zﬁ?ﬁ

55) Quit India Movement was launched in the year ./ IR BISt 3figia au
o 3= fomar T ATl

1. 1945
2. 1942
3.1930
4. 1919

Correct Answer :-

- 1942

56) What is the approximate interval between spring tide and neap tides? / §gd SAIR-HTICT

3R AY SAR-HTET & S SIHTT SfeRTe T 82
1.30 days /30 f&

2. 1day/1 fat

3.7 days /7 f&

4.15 days /15 &=

Correct Answer :-
. 7Tdays/7fe

57) The Lion capital at Sarnath belonged to which one of the following kings? / TRTY B

Rig worurh FafaRaa # ¥ fow wer A wafta 9
1. Vikramaditya / [CELIER

2. Kanishka / b

3. Ashoka / 31

4. Ghatotkacha / i@ d
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Correct Answer :-

« Ashoka / 32l&

58) In which layer of the atmosphere is Ozone gas concentrated? f‘ﬂT{FiGﬁ @l fPawad

3o i Hfxa 22

1. Asthenosphere / Q@zﬁgf‘ﬂtﬂ
2. Stratosphere / THATUHSA

3. Ionosphere / TITHSA

4. Exosphere / CIBEES

Correct Answer :-

« Stratosphere / FHATUHSA

59) Chalcolithic Age is also known as: / ATABIITI® i ®1 59 =0 F oft S 16T B:
1. Neolithic Age / ﬁﬁlﬁiﬁﬂiﬂﬂ

2. Copper Age / dlH Tl

3. Stone Age / YTHTUT gTT

4, Tron Age!?‘ﬁ%’ﬂ‘T

Correct Answer :-

» Copper Age / dF JTT

60) During the reign of which of the following Mughal rulers, did Ahmad Shah Abdali
invade India for the first time? / FEfRIGT ¥ 9 frusd IR ¥ 97a I 360G
NTE SHeTell A Ugell IR WIRA UR SATHHUT fHaT Y12

1. Jahandar Shah / ST8IGR T8
2. Shah Alam II / RITg 3HTTH 11
3. Bahadur Shah / §81gxR Q6
4, Ahmad Shah / 3{gH< XTg

Correct Answer :-

« Shah Alam I/ RITg TTTH 11
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